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1.1.1� Problèmes généraux de collecte et livraison (GPDP)  
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� �� �� ��	� �	$���	� �	�
'�!!	'�	?��� ����	��	$���	��	�! &�� �����
�	��	$���	�	�������' �	�%������$$	�� ����"���=	�	��
'��'	��	���	�(���� ��� �	������ � ��
�	��	$���	��	�'�!!	'�	�	�������' �	�����!	�"���=	�%�
��	�(���� ������ � &	� ����� ��(����	��	$���	��	� ! &�� ����	��� ����' �	�%���	�(���� ���
��"�� &	 ��

0�� ��!�� ��� ��� $�!	� �@��� ����!#$	� �	� ������	� �	� &�= '�!	�� �&	'� '�!!	'�	�� 	�� ! &�� �����
IG6����2�����/�������-�����	��
��#

.K��	�'�$���	��@���	��	$�!	��	�������	���	!!	��(�	�
�

�� ����	��!	���	$���	���������� �C� �	��E�
�� !��'=��"	�$�< $�!	��	��&�= '�!	��	����	��	'��	�	��������� ����	�!��������	�E�
�� !����$$	��	��'�Q����	��������	��	���$ � $�!	��

�����!��! ��������	?�!	������!#$	���	�������	���	�&�= '�!	�������"�����!	$	���$���! �����������
"���=	� �� 	���� ?� �&	'� �!�	��	$�!	� �	�� ��$$	��� (� � $���! �	��� !	��
�	$���	���7�'	��	��	$�!	��	���$$	��� �	����,����������$$	�� �(� �'���	������������L���D�
	��� ��� � ����	� !�� C!���	� �	� &�= '�!	��� �	��� !�	��	$�!	� �	�� ��'�� � � !	�
����!#$	� 	��� ��-$��� (�	� ��� �	�� ���B�	�� �@ !� 	��� �-$��� (�	�� 7� ��� ��$$	�� �	��� ����' �� ���
	��	$�!	��	�&�!	���� �(� �'���	�����	���%�!���	$���	�	������� �� �����!	���$$	� ��7���	�
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���B�	� I�D������'K� �	��� ����' �	���	�&�!	��� �(� � '���	��������� '�Q��������!!	�� ���
��$$	�� ������$$	� ��0��C "��	����� !!����	���	���!�� ���'�$����	��	��	�<�������	����=�(�	�
&�= '�!	�	��� �CC	'��� %���	� ������	�	����	� ������	�	�����	��� �	� �������	��	�'! 	����%� ��� �	���
�!!	���$���	�������L�?�& � �	���	�! ��	��������	��	�'! 	���?��&�����	��	&	� ��������L���
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a)� La structure des demandes 
0�� ����'���	� '��'	��	� !�� � ���� � ��� �	�� ��$$	��� �	� '�!!	'�	� 	�� �	� ! &�� ����� �!!	� 	���
"�����!	$	���� & ��	�	����� ���-�	�?��	����	���������!��C "��	�����������'	��	�C "��	?�!	����'���	�
�	����	��	��� ���� �	�� ������	�� �	� &�= '�!	�?� $� �� !	�� ! 	��� �	� ���������� %� ���! �	�� 	���	� !	��
�� �����	�'�!!	'�	�	���	�! &�� �����	��$��'=��� �	���7�'=�(�	��-�	��@��'�'���	����������-�	��	�
$��'=��� �	 �� 0	�� ��'�� 	�� ��� �� �!	 �� '���	�����	��� ��<������ ��� 	�� !	�� ��'�� 	�� �� �� !!��
'���	�����	����������� �� ��
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6 Chapitre 1 

0�� ��	$ #�	� ����'���	� 	��� ��$$�	� .��-2��2.��-� I.2.K� 	�� $���! �	� �	�� ����!#$	�� �����
!	�(�	!�� !�	< ��	��!�� 	������$$	����	�'�!!	'�	�	���!�� 	������$$	����	�! &�� ���������'=�(�	�
�-�	��@��,	�� �IC "��	�����I�KK��0���	'���	�����'���	?���$$�	�4�
����5��.����4�
�I�2.2�K�
	�����	�����'���	�� �	�['	����! ��	[��
����$$	�����' C (�	?�!	��!������&	���!	����L�?�'��� 	���
!�	��	$�!	� �	�� ����� ��� ��'	��� �	�� ����� ���! �	�� !	�� ! &�� ����� ���� !	�� ��$$	���� 
�� ����	�
��$$	�� ���' C (�	?� ���&	��� !	� $B$	� ��$$	�?� ���'A	� !�	��	$�!	� �	�� ����� ��� (�	� !	��
&�= '�!	��'�!!	'�	���IC "��	�����I�KK��0����� � #$	�	���	�� #�	�����'���	?���$$�	�4�
����4�
�
I�2�K?� $���! �	� �	�� ����!#$	�� �D?� %� '=�(�	� �	$���	� �	� '�!!	'�	?� '���	������ ��	� �� (�	�
�	$���	��	�! &�� ����� ���	������������	���$$	�����"���=	�IC "��	�����I'KK��9���������'	�'���
�	�� �	(�B�	�� �	� ���������� 	�� !	�� &�= '�!	�� �� &	��� ����"�� �	�� ����� �'=	$ �	�� !	�� ����� ���
�	�� �� !	��� �� ��� ���� " �	� &	��� !	��� �� ��� �	� �	�� ��� ���� ��� "�����!?� ��� ������� �	� ���� !	�
'=��"	$	����	�&�= '�!	������'	��������������

b)� Les types de visite 
0	��	�< #$	�'� �#�	�'��'	��	�!�������	��	�!��& � �	�	CC	'���	�����!	�&�= '�!	�����!	����$$	���
���"���=	�������!	������!#$	���	��-�	�5���?������$$	���	����&� ��� CC��	��	�������	���
��
��$$	���	���B��	�����' ���&	'��� (�	$	����	���	(�B�	���	�'�!!	'�	�I�	�����	�! &�� ���K?������
'	� '��� !	� ��$$	�� 	��� � �� ��$$	�� �	� '�!!	'�	� I�	���� ��$$	�� �	� ! &�� ���K�� 
�� ��$$	�� �	���
���� �'�$����	��%�!��C� ���	���	(�B�	���	�'�!!	'�	�	���	�! &�� �����0	�����!#$	�	���������Z��� �
'=�(�	���$$	��	����� �������$$	���	�'�!!	'�	?��� �������$$	���	�! &�� ����E� !�	������������ �
���$� ��������$$	����� $�!����$	�����	��	(�B�	��	�! &�� ����	����	�����	��	�'�!!	'�	E� !�	���
	�C ��������2��� ����$� ��������$$	���	$���	��	����! �	��!	���	�<������� ����$� ��(�	�!	�
&�= '�!	��	����	����	���!�������������	CC	'��	��!���	�< #$	������� ����

�

1.1.2� Les contraintes supplémentaires 
�=�'����	������!#$	���	�!��C�$ !!	��	��5�����	���B��	�	��� �	�	�� '= ������'	��� ����$��	�
�	�'����� ��	����� � ���	!!	���0	��'����� ��	��!	���!����������	�������!��! ��������	������
�

�� !	������!#$	���&	'�C	�B��	���	��	$���E�
�� !	������!#$	���&	'�C!���	��	�&�= '�!	��=�����"#�	�E�
�� !	������!#$	��$�!� 2���L���E�
�� !	������!#$	���&	'��� �����	����������	$	���E�
�� !	������!#$	���&	'��	$����	����,	��$�< $�!������!	�&�= '�!	�E�
�� !	������!#$	���&	'��	$����	����,	��$�< $�!������!	��$��'=��� �	��E�
�� !	������!#$	���&	'�& � �	��$�!� �!	��	����� �	$	������� 	!��	���	$���	���

a)� Les fenêtres de temps 

�	�C	�B��	��	��	$���I1S�2����
�6��	�/K� $���	�(�@��	�����!�� 	�����	(�B�	���������!#$	�
�� �� ��� ��	� 	�� �	��	'����� ���  ��	�&�!!	� ����� !	� ������ �	� ��� �	$	��� ��� &�= '�!	� I! &�� ���?�
'�!!	'�	K�� �	��  ��	�&�!!	� 	��� ��C � � ���� ��	� ���	� ��� �!��� �L�� 	�� ��	� ���	� ��� �!��� ������ �	��	�
'����� ��	��	��������! (�	��%��	���	$���	���	�'�!!	'�	�����	�! &�� ����'�$$	�����	���������
I��$���	���!�?��WW�K���
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�	� �-�	� �	� '����� ��	�  $�! (�	� !	� �!��� ���&	��� �@����� �	�� !	� &�= '�!	� %� ��� &	�� 	�� �&��'	?�
��(�	!�'��?� !����	�������!	���$$	���C ���	���$���	���	�������� ��������������	�!��C	�B��	��	�
�	$��?�'�$$	� !!����������!��C "��	���*���	��	����	��	��	���B��	������ ��	����������!	����$$	���
��� "���=	� ��?� �� (�	$	��� ���� ��	� ���� 	� �	�� ��$$	���� ��� �	&��'=	?� !	� &�= '�!	� ��	��� ����
����� ���%���� &	�����#��!��C ���	�!��C	�B��	��	��	$����

����� !�� &	�� ��� '!��� (�	� �	� !�� '����� ��	?� � � ��	� �	�� C	�B��	�� �	� �	$��� �@	��� ���� �	��	'��	�
�!���� !�� ��!�� ��� �@	��� ���� &�! �	�� �!� 	< ��	� �	�� &�� ���	�� ����� !�� ! ��������	?� ���� 	<	$�!	� !��
C	�B��	��	� �	$�������!	� I�1S�2�$�'�����
�6��	�/K�  ������ �	������ !����	$ #�	� C� �� �������
����!#$	��	�1�������I�	<���������=� ?��WX�K?��� �������������!#$	��	�G6������I/ "! �88 ?�
�))XK?�(� ������ �	�!��& �!�� ����	�!��C	�B��	��	��	$���$� ������! �	�!��C��'� �����,	'� C���

b)� Les problèmes avec flotte hétérogène 
0	������!#$	���&	'� C!���	�=�����"#�	�������	������!#$	���D� !�� C!���	��	�&�= '�!	���@	�������
'�$����	��	�&�= '�!	�� �	�� (�	���0	��� CC��	�'	���	�� ��	���!	��!������&	������� &	����	�!��
'=��"	� $�< $�!	� (�@ !�� �	�&	��� ���������	��� �	��� ��� ����!#$	�� ��	��	��� �"�!	$	��� 	��
'�$��	��@����	��� CC��	�'	��'�$$	�����	<	$�!	�
��

�� !	��'�Q����	�����	�� ���(� ��	����	��	���!	�'�Q��C <	�! ��%�!@�� ! ��� ������&�= '�!	�E�
�� !	��'�Q���&�� ��!	��I'�Q���A !�$��� (�	�K?�(� ��� &	���B��	���-��������'=�(�	�A !�$#��	�

���'���������!	�&�= '�!	�E�
�� !	���-�	���	������ ��������������!	������!	�&�= '�!	���

�!� 	< ��	� ���'� �!�� 	���� �-�	�� �	� ����!#$	�?����� 	<	$�!	?� !	� G	= '!	� /!		�� . <� ����!	$�
IG/.�K� ������ ������I5�!�	��	���!�?��WX*K������!	(�	!��� (�	$	���!��'=��"	�$�< $�!	�&�� 	��
� ��	��'�Q����	�����	�� ���������,������%�'	�����!#$	?� !@	<�	�� ���	��� ���	!�	� !	� IG/.�2/K�
����� !�� ��	$ #�	� $���=	�� �� (�	� �� ���� �������	� ���� I��!= � ���� 9�$��?� �WW�K�� 0@	<�	�� ���
�&	'��� (�	$	����	��'�Q���&�� ��!	��	���!	�G/.�2G��������	�����I1� !!���?��WWWK��� �%�!��C� ��
�	��'�Q���C <	��	���	��'�Q���&�� ��!	�����������	����!	�����!#$	�	������G/.�2G/��������	�����
I�=� �����1'=�?��))�K����C ���������!#$	��	�G/.�2G/������!	(�	!�!	���$��	��	�&�= '�!	��
�	� '=�(�	� '���"�� 	� 	��� ! $ ��� 	��� ���	!�� !	� 4G6�?� ��� �	��� ' �	�� !	�� ���&��<� �	� I0 � 	�� �!�?�
�)�)K?�IF����\�?��)��K�	��I��=�$	!�	���!�?��)��K��

c)� Les problèmes avec une durée de trajet maximale pour le véhicule 
�	��	�'����� ��	� $���	�(�	�!	��������	���@��	���!�� ����	��	'�	�����	�����	�$�< $�!	�(� �	���
!��� CC��	�'	� 	���	� !�����	��	� ���� 	�������L�� 	�� !�����	��	� �	����� ������L����	��	� '����� ��	�
�	�$	�?� �	� $���! �	�� !	� �	$��� �	� ���&� !� ��� '=��CC	���� �!!	� �	� �	�'����	� ���&	��� 	��
'�$�!�$	����	��'����� ��	���	�C	�B��	���	��	$���	��! $ �	� �� �	'�	$	���!	��	$����@���	��	��	��
&�= '�!	������!	����$$	�����!!	��	�$	������ ?��������	�'	��� �	�$	���	?��	�$ 	�<������� ��!��
'=��"	� 	���	� !	�� � CC��	���� &�= '�!	��� �	�� '����� ��	�� �	�&	��� ���� � �	����	��	�� !@������$ 	�
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�	��&�= '�!	������	<	$�!	������!	�'����	�&�= '�!	���!	'�� (�	���	'=��"��������L��I/	! �	�	���!�?�
�)�*K��

d)� Les problèmes de durée de transport maximale pour les marchandises 
0	������� ��� ����������������!��C!���	��	�&�= '�!	���	�&	���B��	��	������ �-�	�?� -�'�$�� ���	��
����� ������ ����!	��(� ��� &	����	��	'�	���	������	��$�< $�!	���	�����������I'�	���!	�'�������
	<	$�!	������!	������� ���C�� �K��7��#���&� ��'�!!	'���!	������ �?�!	�&�= '�!	�����#�	����'����
��!� � $�< $�!� ����� ���	 ���	� !	� ��$$	�� �	� ! &�� ���� 	�� ! &�	��� ����� !�� ! ��������	?� '	��	�
'����� ��	�	������	!�	�!	���1������
��%������
���	��	�'����� ��	�	����"�!	$	�����#��C��(�	��	�
�����!	������������	��	�����	��	���	������� �%�$���! �	����	�(��! ����	��	�& '	������ ����	�&�	�
���'! 	�����@	���!	�'��������!	�����!#$	����� �!2�26 �	������!@��� '!	��	���C��	�'	�	���'	!� ��	�
I����	�������0�����	?��))��K��

e)� Les problèmes multi-dépôts 
����� ��� ����!#$	� $�!� 2���L��?� !	� "���=	� �'�$����	� �!�� 	���� ���L��� ���D� !	�� &�= '�!	��
�	�&	������� ���0	��!������&	���!	��&�= '�!	���� &	����	�����	��%�!	������L���@�� " �	�%�!��C ��
�	�!	���������	��0	���$��	��	�&�= '�!	��I���!	���-�	���	�&�= '�!	�K��	�&	���B��	�� CC��	��������
'=�(�	����L����

����� '	��� ��� ����!#$	�?� !�� $��=��	� �@��� $ ��� ��� �� �� ���� � �CC	'�	�� !	�� &�= '�!	�� ��<�
���L��� '��� !�� ������ � ��� �	�� &�= '�!	�� �@	��� ����  $����	� ���� !@ �����'	���	�� ����!#$	�� C����
���� 	��	�!������2C�$ !!	��	������!#$	���	�!�'�! ��� ���	���	�������	��I06��2������������������
�
���
�K������'	������!#$	��I����=��������� ��?��)�*K��������! �����������	�!@�����0��C "��	�
��+�	������	<	$�!	��	���!�� ���������������!#$	��&	'��	�<����L���	����� ��������	����
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f)� Les problèmes avec points de transbordement 
0	�� �� ���� �	� ���������	$	��� ����� �	�� ��$$	��� ��� "���=	� ���� !	�(�	!��  !� 	��� ���� �!	� �	�
�����C��	��!	������� ���	���	�&�= '�!	���7 �� ����&�= '�!	��	��������	����	����� 	��	������� ���
(�@ !����������	��C ���� ���	�!	���	��	���	��!�������?��� �������(�@�������	�&�= '�!	�!	����	��	���
	�� '=��"	?� '�$$	�  !!������ ���� !�� C "��	� ����� 0	�� ��$$	��� �	� ���������	$	��� ����� �!����
����	$�!�����������	��	$�!	���$$�� ���

�

�	�<��� �' ��!	�� &	�� ���� �	�&	��� B��	� 	�& ��"�	�� 
� ��	� ��	$ #�	� &	�� ��� ����� !�(�	!!	� !	��
����� ��� �	�&	��� ���	���	� �	�!�� ���� !	�� ��$$	��� �	� ���������	$	��� 	�� ��	� �	'���	� &	�� ���
�����!�(�	!!	�!	������� ����	��	�&	�������B��	�!� ���������!	���$$	���	����������	$	�����
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0	��	�< #$	�'���������T��	��	�� 	!!	$	���!���(�	�!��&�!	����	�'	������� ���	����!	&�	�I%�'���	�
��� � �(�	��	�&�!K���� !���(�	� !	� ����������'��'	��	����������	������� ��?�$� ���	��  �� & ����
(�@��� �	� �	��� ���� !� ��	�� �	�!�� ���� ��� �� ��� �	� �	��	82&������	��	� �	�� #�	� �	$��(�	� ��	���
����������	��������!	��'����	��������������! '��	��	�����	��$ �	��	�?�	������ '�! 	���	��	�C�����
�'�!�� ���?��	��	�����	��V"�	������	��	�����	��=��� '���	��I6	�?��)��K��

0	�� ����!#$	�� �&	'� �	�� �M���� �	� ���������	$	��� ��'	�� ����� !�� ����	�'	� �@��� &�= '�!	�
 $�! (�	��?� !���� �	� !�� ����!�� ��?� �	� �-�'=��� �	�� �!�� 	���� ������	�� $ � $ ����� !	�� �	$���
�@���	��	�����'	����$$	����
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1.1.3� Les problèmes les plus connus de la famille des GPDP 
0�� C "��	� ����  !!����	� !	�� ! 	��� 	���	� (�	!(�	�� ����!#$	�� �	� !�� C�$ !!	� �	�� ����!#$	�� �	�
'�!!	'�	� 	�� �	� ! &�� ���� I5���� 2�,
�

��� ���-��� ��	� �
��#

.� �
���
�K� (� � ����� !	�� �!���
���� ��������!��! ��������	���

����� '	��	� �	����	���� ���  ��� ��	� �	� IF	��	"! �� 	�� �!�?� �))�K?� !	�� ��� �� ����'=	�� �� �' ��!	��
������	����	���	���&	'�!	������!#$	��4�
����4�
�I�2�K?�5��.����5��.�I.2.K?�4�
�������.�
���4�
� I�2.2�K�� 0	�� ��'�� 	���	� !	�� ����!#$	�� �	����	��	��� !	�� '����� ��	�� %� �,���	�� ��� %�
����� $	�����������	���	�!@���%�!@����	�������!	��� CC��	��������!#$	�����������	!����	����� '!	��
�	� ��C��	�'	�� 0	�� '����� ��	�� � ���	�� ���� !	�� ��'�� ����� !	�� '����� ��	�� (� � ���� ���� ����	���	��
�����!������ 	���������

4��$ �� [=��-����%[� 	�� [ [� (� � ������ 	��	��� %� !�� ����'=	� �	�� 9�	2��2.��-2��29�	?�
'	�� '����� ��	�� '���	�����	��� ��� '����D� !	�����!#$	�	��� �	� �-�	 ?�  ������ ��  � � �!	$	���
���� I5�	��'=�!'A<� ���� 3�'���2F!	'=�?� �WXWK�� 0	�� ��$$	��� �	� ! &�� ���� 	�� �	� '�!!	'�	� �����
���'����������� �!	�����!#$	� $���	���<���!�� �����	���� �	���	����$$	����	�! &�� �����&����
!	����$$	����	�'�!!	'�	?��!����!	�����!#$	��� ���	��	'�	��!��'����� ��	�[=��-����%[�� ���� !�	���
���	!��[ [��
0	� ����!#$	���� ���������� %� !�� �	$���	� I�76�� 2����������	
��
���
�K� (� � 	��� ��� ��� �����
'	��	��=#�	������� 	���%�!��C�$ !!	��	�� 2 2 ���!�	������� !!�������!������ 	���*���

1.1.4� Les différentes versions du problème 
1���� !	�� ����!#$	�� �������� ���'��	$$	��� �	�&	��� B��	� ��� ���� ����� �!�� 	���� &	�� ����
� CC��	��	�?�!	���!���'����	�������
�

�� !	������!#$	������ (�	��E�
�� !	������!#$	���-��$ (�	��E�
�� !	������!#$	����� �� (�	���
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ne-to-O

ne
 (1-1)

O
ne-to-M

any-to-
O

ne 
(1-M

-1) 

M
any-to-M

any
 (M

-M
)

G
eneral pickup and delivery problem

(G
PDP) 

Sw
apping problem

(SP)

W
ang et al (2006)

Anily et Hassin (1992)

Anily et al. (2006)
Frederickson et

 Guan (1992)

Stacker Crane 
Problem

 
(SCP) Cordeau et al (2003)

Ropke et Cordeau (2007)

Dial-a-Ride Problem
(DARP)

Nagy and Salhi (2005)
M

in (1989)

Vehicle Routing Problem
 

w
ith Sim

ultaneous Pickups 
and Deliveries (VRPSPD) 

Bronm
o et al. (2007)

M
ontam

é et Galvao (2012)

Vehicle Routing Problem
 w

ith 
Pickups and Deliveries

(VRPPD)

Sexton et Bodin (1985)
Dum

as et al. (1990)

VRP and w
ith Tim

e 
W

indow
s

(VRPPDTW
)

Herm
andez-Pérez et

 Salazar-Gonzalez (2004)

O
ne-Com

m
odity Pickup 

and Delivery TSP
(1-PGTSP)

Chalasani et 
M

otw
ani (1999)

Q
-Delivery TSP
(Q

-PGTSP)

Christofides (1976)

TSP w
ith Backhauls
 (TSPB) 

Gendreau et al. (1999)

TSP w
ith Pickup 

and Delivery
 (TSPPD) 

Légende :
  m

 = nom
bre de véhicules

  Q
 = quantité m

axim
ale transportable par un véhicule

  q = quantité disponible sur les nœ
uds

  X = ensem
ble des types de produits 

  T = ensem
ble des som

m
ets de transbordem

ents

m
 =1, Q

 = 1

q = 1

T=Ø
,|X| = 2 (collecte, livraison), P-D 

Tem
ps de transit m

axim
al

P/D

P/D

Fenêtres de tem
ps

Stein (1978)
Lubbecke (2004)

Single vehicule routing 
problem

 w
ith PD 

(SVRPPD)

T≠ Ø
m

 = 1

1-M
-1 PDP

Sexton  (1985)
Psaraftis (1980)

Single vehicle 
Dial-a-ride Problem

(SVDARP)

m
 =1 Cortés et al. (2007)

M
itrovic-M

inic et 
Cordeau (2006)

VRP and w
ith 

Transshipm
ents 

(VRPPDT)

P-D 
P/D

M
ixtes

Backhauls

Brandao (2006)
Deif et Bodin (1984)

VRP w
ith Backhauls 
(VRPB) 

m
 = 1

W
ade et Salhi (2002)

Golden et al. (1988)

M
ixed VRP

1-M
-1 PDP w

ith single 
dem

ands

 

TSP w
ith sim

ultaneous 
Pickup and Delivery

 (TSPSPD) 

m
 = 1

équivalent

m
 = 1

m
=1, Q

=1,P-D 
m

=1, |X|=1, T=Ø
,P/D 
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a)� Les problèmes statiques  
������C���?�!	������!#$	�������'��� ���������� (�	��	��!������! ����	�� �C��$�� ����	����������	�
� ���� �!	� ���$�$	��� �	� !@��� $ ��� ����
�	� ��!�� ����������!#$	��� �� ��� �C� �	� ����	�� !	��
'����� ��	���

b)� Les problèmes dynamiques 
0	������!#$	���-��$ (�	��������!������'=	�����'������� (�	�������'	��	�&	�� ��?���	����� 	�
�	�� �C��$�� ����I�D�!������! ��K��@	���� ���� �!	�(�@���#��!	��������	�!��������	��0	��$��=��	��
�	�����!�� ���	$�!�-�	���� &	������'�B��	�'����!	���@��� ' �	��!	��'=��"	$	����	���	�$�� C 	��
��� �	$	���!����!�� ���'������	������C� �	�C�'	���<����&	!!	�� �C��$�� �����

�	��  �C��$�� ���� ����� !	� �!��� ���&	��� �	�� ���&	!!	�� �	$���	�� (� � �� &	��� B��	� �� �	�� 	��
'�$��	� ���� !@=�� 8����	� �!�� C '�� ��?�$� �� ���� ��	���	$���	�� (� � ����� ����� $�	������	��
�	$���	��������	��'����� ��	�������$�� C �	��I�	������%�!��C	�B��	��	��	$�������	<	$�!	K��

0	� �	�$	� [�-��$ (�	[� 	��� ���C� �� ���� � 	$�!�-�� ����� '���'��� �	�� ��	� �&�!�� ��� ����� !	�
���	������� 	��(� ��@	����������& � �!	�	��(� ��� ��B��	��� �	�	��'�$��	���	�C� ��(�	�!	��������	��
����'�$$	�'���9���	���  $�" �	���	����'��(� ����������� $������"���=	������$���! �	���	��
��	��  �� ���� �!	�� ����� ���&��<� ��� ����� '���	� �@�'' �	���� �	� !�� ' �'�!�� ���� 9�� �	��� ���� �
��	���	�	��'�$��	�!������ � ����	�'��"	�� �������!	����	������� 	���

c)� Les problèmes périodiques 
�	��	�&	�� ����������!#$	�'��� �#�	����	��	$�!	��	� ���� ��	���	��	$���I"�����!	$	����	��
=	��	�� ��� �	�� ,����K�� ������� '=�(�	� ��� ��	?� !	�� ��$$	��� �� &	��� B��	� & � ���� ��� '	��� ��
��$��	� �	� C� �� ���	�$ ��� ���� !@ �����'	�� �	' � '���	������ ��<� �-�	�� �	� C��'� ���	$	��� �	!�
(�@���!	��	����&	������!	���	�& '	�����! '���	�����������'�$$	�!	���������!	�����$R�-����	' �
	�"!��	� ���� � !	�� ����!#$	�� �	� ! &�� ���� ��� �� (�	� ����� !	�� 	���	�� �	�� IC�	!?� "�8?�
C���� ���	�K��

�� � ���!����	���	����

�����!��������
0	������!#$	���	�&	���B��	��	"�������	��� CC��	��	��'!���	���	!���!	���'�$�!	< �����	������!	��
���%%
%�	
������
1��+%��0��'�$�!	< ����@�������!#$	�	�����C � 	�������������%� !���!��� C� �!	�
'�$�!	< �������' �	���<�$��=��	��(� ��	�$	��	����	�!	��������	����C � ��'	��	�'�$�!	< ���	���
��! '��� �� �(�	� �!�� 	���� �!"�� �=$	�� �	�&	��� �	�$	���	� �	� �������	� ��� $B$	� ����!#$	� 	��
!	��� '�$�!	< ��� �	��� B��	� � CC ' !	$	��� '�$�����!	�� �	� �!��?� � 	�� �� ��	�� �?� ���C� ����!����
�=��� (�	?�!�	< ��	�'	����!"�� �=$	��CC�������	�$	 !!	��	�'�$�!	< ������	���!	�'�������	<	$�!	�
��� ����!#$	� �	� $�!� �! '�� ��� $��� ' 	!!	�
� !��!"�� �=$	� �� & �!� 	��� 	�� ?� ��	� ����	�
 �C�� 	��	� �� & �!	� 	��� 	�� �	�� ����	��$	 !!	���� �!"�� �=$	��'��	!�?� �Q�%�����	��$ �=� 	��
S ��"���?� 	��� 	�� �� ���$ � !	�� � CC��	��	�� '!���	�� �	� ����!#$	�� !	�� '!���	�� �	�� �
,��	�������L!	����� '�! 	�������!	������!#$	���	�������	���	�&�= '�!	���

�

1.2.1� La classe P 
0�� '!���	� �'��� 	��� !	�� ����!#$	�� ����� !	�(�	!�� ��� �	��� C���� �� !�� ������	� 	�� �	$���
��!-�L$ �!����� �������� ��<������	��	��	����	?� ������	�$�'= �	��	�1�� �"����	�$ � ��	�����
���� (�	?� ��� ����!#$	� ������ 	��� %� !�� '!���	� �� � ��� �	��� !	� �������	� ���� ��� �!"�� �=$	� �	�
'�$�!	< �����!-��$ �!	�	��C��'� ����	��	����	���0	�����!#$	��	�!@����	� �'��&������	��� ���
$ � $�!� I.�1� P� 5������� $�������� �


K� ����� ��� "���=	� '���	<	� �	��� ���
	<	$�!	��	�����!#$	��	�!��'!���	� ��0	�.�1�	����� ! ��������!	���!"�� �=$	���@�����< $�� ���
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����!	������!#$	���	�������	���	�&�= '�!	�?�����	����������!������ 	���������!�	< ��	��!�� 	����
�!"�� �=$	���	�����!�� �����!-��$ �!	����.�1?�����	���!���'������	���!��!"�� �=$	�"!������
�������������� $�	���W+���

1.2.2� La classe NP 
0��'!���	� �	��� C��$�	��	������!#$	������� !	�(�	!������	��� C���� ����	�������	�	�� �	$���
��!-�L$ �!�	��C��'� ����	�������	��	��	����	?�������	�$�'= �	��	�1�� �"����2���	�$ � ��	��
0�� � CC��	�'	� �&	'� !�� '!���	� ���� �	� ����� !�� ��'	�� ��� ����	� $�'= �	� �	� 1�� �"� ���2
���	�$ � ��	?�'�	��2%2� �	���	�$�'= �	�'����!	������� 	���!�� 	��������� � ����� $�!����$	����
�	�C� �?�!���� �	��	�������� ����'���	������%��������	��	������ � ����!%��D�	!!	�'���	������%���	�
��(�	�'	��	������ � �����������	�$�'= �	��	�1�� �"����	�$ � ��	��

0�� '!���	� �'��� 	��� !�� �!������ �	�� ����!#$	�� ����� $ ��� ��� '�$� ���� �	?� ����� !	��
����!#$	�� 2'�$�!	����0������2'!���	� 2'�$�!	����������C � 	�����I���A?��W��K���!!	�	���
C��$�	� �	�� ����!#$	�� ��	!�� (�	� ����� ����!#$	� ��	��� �	� ��$	�	�� %� 	�<� ���� ����'� ���
��!-�L$ �!	��7 �� ?�� �������&� ���������	��	�$�� #�	���!-�L$ �!	��������!#$	� 2'�$�!	�?�
�!���� ����� !	������!#$	�� ������� 	���B��	� ����!����	�$�� #�	���!-�L$ �!	�	�� !��'��,	'���	�

��	�� �� &�� C �	�� G�! �	�� I��� ��C��	�K� '	��	� '��,	'���	� 	��� ��� �	�� ����!#$	��
$��=�$�� (�	��'���	$���� ���!	���!��� $���������	����$��	��	����&��<�& �	���%� �	�� C 	�����
�!"�� �=$	� ��!-�L$ �!� ����� �������	� ��� ����!#$	� 2'�$�!	��� �& �	$$	��� �	���  �'!���
����� ��

��

�

��2'�$�!	� = Ø ?

�
(���

�)�3���@����%����	
%��
���*�
%�	
����%%
%����&���&�������
��

7� !�� ���	?� �	�� 2'�$�!	�� '��'	��	� !	�� ����!#$	�� �	� ��' � ���� 9�� -�  �'!��� ���� � !	��
����!#$	�� ����� $ ��� ��� ��� '��� ������� (����� �	��� ���,����� �����C��$	�� ��� ����!#$	� �	�
����� $ ��� ��� 	�� ����!#$	� �	� ��' � ���� �	� C� �?� ��$��	� �	� ����!#$	�� ����� $ ��� ���
'�$� ���� �	��^�'!��� (�	��_������ 2'�$�!	����0	�����&��<��	�:����I:���?��W��K�%����� �����
����!#$	� �71� I K� ���� �	�$ �� �	� ��	��	�� ��	� ��	$ #�	� ! ��	� �	� ��� ����!#$	��
��2'�$�!	�����������'� �����!-�L$ �!	�	���	�	�<?������!	�1����0	�G6��	�����2'�$�!	��'��� !�
"�����! �	�!	�1���I0	����������:��?��WX�K��

������� 	�C �� !�� '!���	� �	�� ����!#$	�� 2� CC ' !	�?� '���� ���	� �	�� ����!#$	�� �	!�� (�	� �����
����!#$	� ��	��� �	� ���� �	���!-�L$ �!	$	���%�	�<���	������!#$	���	���������� C��'�$	���

�	�� 2� CC ' !	�	������'��!���!��"	�(�	� ��
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	!!	���	�$	��	����@���	� ���	����!�� �����	�����	�(��! ���	���	���	$����	�'�!'�!���� ������!	���
0��C "��	���W��	����	��	����	��	$�!	�����	<=���� C��	��� CC��	��	��$��=��	���	�����!�� ���(� �
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1.3.1� Les méthodes exactes 
0	��$��=��	��	<�'�	��������	��$��=��	��	CC '�'	������!	���	� �	�� �����'	��	��!	���!"�� �=$	��
	<�'��� �	���	��� ���&	��� ���� �	�� C��$�!�� ���� $��=�$�� (�	�� �	�� ����!#$	���
.�!=	��	��	$	��?� ����� !	��  �����'	�� �	� �� !!	�� $�-	��	�� ��� "����	�?� '	�� $��=��	�� �	�
�	�$	��	��������@���	� ���	����!�� ����	���	$����� ������!	��

0	�� $��=��	�� �	� ����!�� ��� 	<�'�	�� �� ! ��	�� ����� !	�� ����!#$	�� �	� ������	�� �	� &�= '�!	��
�	�&	���B��	������� ��	���!�� 	����"����	��I0�����	?��WW�K��0	�"����	��	��$��=��	��� �	���	�
����'=	$	��� 	��� ����	����  ' �� �!� 	< ��	� 	���	� ����	�� �	�<� �-�	�� �	� $��=��	�� 
� !	�=
����� C�
=���	� 	�� !	� =
����� C� ����� �	�� �	�<� $��=��	�� �	���	��� ���� !	� �� �' �	� �	�
������� ��Z�&�!��� ����
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����!#$	����� ��	������	!�� �	��!���	!�<�� �������' �	�	������	!�	� ������	<	$�!	������!	�'���
�@�������!#$	�! ��� �	�	����$��	�	�� 	��?� ��	���'���	������	�%�!���	!�<�� ���'��� ��	���	��	�
����	�	������	!�	� !@�&�!��� ����� � !����!�� ������ $�!	����	��	������ ��@	���������	���!�� ���
��� ����!#$	� ���� � ?� �!���� ��	� �=��	� �	� ������� ��� 	��� �� ! ��	�� �	��	� �=��	� �	� ������� ���
'��� ��	� %� �,���	�� %� ��	�� '����� ��	�� ���� !	�� ����	�� �@��	� &�� ��!	� �C �� �	� ����� $	�� !��
���'��	��	���!�� ������ $�!	��	�!@	���'	��	����!�� �����7�'=�(�	�'����� ��	��,����	?��������2
����!#$	 �	��� ������ ����
���� 	<	$�!	� !�� C "��	����)�����	��	���	� �	����	���� ���"���= (�	��@�������!#$	� ! ��� �	� 	��
��$��	��	�� 	���%��	�<�&�� ��!	���0	� ����!�����	� !@�&�!��� ����	� �����	� !�� ��!�� �������� !��
&�� ��!	� �	��� C��'� ���� �	� I +�K���	�<����&	!!	�� '����� ��	�� ���� !�� ����	� �	� �����
�!����  ������ �	��� 0�� '����� ��	� �'������ �	�� !�� '����� ��	�
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7� '=�(�	�  ����� ��?� ��� ����2����!#$	� � ���� ���� ��	� C	� !!	� �	� !@����	� 	��� �&�!��?� 	�� � �
��'	��� �	���	����&	!!	�������� ���	���	CC	'���	���	����'����	����������,��(��%�'	�(�	�����	��
!	��C	� !!	��� 	��������&�!��	����!�	������� �!	��	�! $ �	��!@	<�!���� ����	�!@����	�	���	�! $ �����
��<�C	� !!	�����&����'���� �	�%��	����!�� ����[ ����	�����	�[���


�	� C	� !!	� ����� !�� ��!�� ��� 	��� ���� � ��	� ��!�� ��� ��� ����!#$	� �	��� ���	!�	� ��	� C	� !!	�
[���! ���!	[�� 0�� ��!�� ��� ��� $�!	� �	� �'���	������ %� !�� $	 !!	��	� ��!�� ��� ���	��	� ���� !	��
C	� !!	���	�!@����	���
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�	�����	�$��=��	��	�����!�� ���	<�'�	��� ! ��	������!	������!#$	���	�������	���	�&�= '�!	��
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�����C�������!��	��	���!	��$B$	������	���	�������� ���	���@�&�!��� ���(�	�!	�=
�����
C�=���	�$� �� ��#"�	�	���!�����	�$��=��	��	��!�����	�'���	�I������������
K��0���	'=	�'=	�
�	��!�����	�'���	������! (�	�!���(�	�!����!�� ����@�������!#$	��	!�<���@	���������	���!�� ���
�	� ���!!	�'��� ��	�%�����&	����	�['���	[�I���K?�'�	��2%2� �	���	�'����� ��	?��	!!	�(�	�
�

�� ����	��!	����!�� �������! ���!	����������! ���!	�������!��'���	�E�
�� !����!�� ���C��'� ���� �	�'������	���	����������! ���!	������!��'���	��

7,���	�� '	��	� '���	� �$�! ��	� ���'� !	� ����2����!#$	� '������� ����� 	����T�	�� �	� ������� ���
�� �(�	� ����	� ��!�� ��� ���! ���!	� �	��	� ���! ���!	�� 
�	� ���&	!!	� C	� !!	� 	��� �!����  ������ �	?�
'�$$	� !!�����������!��C "��	�������

�

 �
�

 �

...

...

�
(���

�)�) ����D����	E��
�����
����
�	
�����
�

7��#��!@�&�!��� ����@��	�C	� !!	����2���! ���!	?�!%��D�!	�=
�����C�=���	�	CC	'��	���	��=��	��	�
������� ��?� !	� =
����� C� ���� '=	�'=	� %� ����&	�� ��	� '���	� (� � !� � �	�$	�� �@�$�! ��	�� !��
�	!�<�� ���� � � ��	� '���	� 	��� ����&�	?�  !� �	'�$$	�'	� !@�&�!��� ���� � � ��'��	� '���	� �@	���
����&�	��!����!@�!"�� �=$	�	CC	'��	���	�������� ���'�$$	������!	�=
�����C�=���	��

�����!	�=
�����C������ !����!�� ������ $�!	��	� �'���	������%�!��$	 !!	��	���!�� ������	��	�
����!	��C	� !!	�����! ���!	���	�!@����	���

1.3.2� Les méthodes approchées 
0	��$��=��	�� �����'=�	�� �	�$	��	��� �	� ��� �	�� ��� �	$	��� �	��  �����'	�� �	� "����	�� �� !!	���
0	����!�� �������	��	�������"�����!	$	����	�����	�(��! ���$� �� !	������ $�! ����	��	���B��	�
����&�	�
1����������	��$��=��	�������'=�	���	�&	���B��	��	��	�<������	��
�

�� !	��$��=��	���@�����< $�� ���E�

�� !	��$��=��	��=	�� �� (�	���

a)� Les méthodes d'approximation 
0	�� $��=��	�� �@�����< $�� ��� �	�$	��	��� �@���	� �� �	�� ��!�� ���� (� � �	� ����� ���� ����&�	��
��� $�!	����	�	������!��&�!	����	�!��C��'� �����,	'� C�����' �	�%�'=�(�	���!�� ���	��� �C�� 	��	�
I�����!	�'����@��	�$ � $ ��� ��K�%� ��&	'� ���	�'�������	�'����	��	!!	�(�	� �	�� �!	�
'�Q������' ��%�!����!�� ������ $�!	��
�	��	!!	�$��=��	�	����!�������	!�	���	� 2�����< $�� ����
��$$	� !!�����������!��C "��	�����?�!	�'�Q���	�!����!�� ����	������	�����!@�!"�� �=$	�	������'�
� ���� 	���	� 	�� �����'��!��� !�� &�!	��� �	�a� 	��� ���'=	� �	� �� 	��� �!��� !@�����< $�� ��� 	���
 ����	�����	��
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����� ���	� �� !�� ��	�&	� �	� !@�����< $�� ��?� !	� �!��� ���&	��?� ��	� ����	�  �C�� 	��	� �	���
�� ! ��	� �� �(�	� � � ��!���� �� 0	� '�Q�� ��	� !�� ��!�� ��� �	������	� ����
!@�!"�� �=$	�	���'�����$� ��'�$$	� !!�����������!��C "��	����*?� !�	���� CC ' !	��	���&� ���D�	!!	�
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����� !	�����!#$	����&�-�"	������'�$$	�'	�I1��K?� !@�����< $�� ����	� I�=� ���C �	�?��W��K�
������	� ��	� �Z�2�����< $�� ���� 
�	� '��� � ��� ��'	��� �	� %� !�� $ �	� 	�� �!�'	� �	� '	��	� a2
�����< $�� ���	���!	��	��	'���	�!� ��"�! ����� ��"�!� �	������!	�"���=	� '��� ����?�
���'�
�

� �
0@�!"�� �=$	��	��=� ���C �	���	���	�����!��!"�� �=$	���!-��$ �!��	��� $�(� �'�!'�!	��������	�
'��&����� �	��� ���$ � $�!�	����	�&	�� ���� $�! C �	�	���  !!�����	������ !�� C "��	����+�������
��	� �����'	����1���IC "��	����+�I�KK�!@����	� �	���'�!'�!��IC "��	����+I�KK��0	�'�Q������' ��%�
'	�� ����	� 	��� �� ! ��� '�$$	� ��	� ����	�  �C�� 	��	� ����� ����&	�� !�� �Z�2�����< $�� ��� �	� !��
��!�� �����=�(�	����B�	��	� �	��� �!���� �	$�!�'�	������	�<���'���� 	���������� !	� �	����������
!@��� %� !@����	� IC "��	� ���+I'KK���	��	� ������	� ���� 	!!	� ����� !�(�	!!	� !	�� ��$$	��� ����� & � ����
�!�� 	���� C� �� 	��� �!���� � $�! C �	� 	�� �� ! ����� !@ ��"�! ��� �� ��"�!� �	� IC "��	� ���+I�KK� �C ��
�@���	� ����	���!�� ������1���IC "��	����+I	KK���
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0���	�< #$	������< $�� ���'��'	��	�!	�$��-
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��I���K�(� �	����������!#$	��	�
�-�	�4�
����4�
������!	(�	!�!	�&�= '�!	�����	�'���' ����� �� �	��0	�����!#$	��	�'�$����	�����
�	� ��$$	�� �	� ���������	$	��� 	��  !� ��	��� ���'� ��� '! 	��� ���� ���� ��$$	�� �@�� " �	� ����� !	�
�����	�� � �	'�	$	��� %� ���� ��$$	�� �	� �	�� ��� ��?� %� !�� $�� #�	� �	�� ��< ��� 0@�!"�� �=$	�
�@�����< $�� ��� '��'	��	� �� (�	$	��� !	� ����!#$	� ����� C	�B��	� �	� �	$���� 0@�!"�� �=$	� 	���
��	� WZ+2�����< $�� ��� (� � �� ���� �������	� ���� I/�	�	� 'A���� 	�� �!�?� �W�XK� 
� '	�� �!"�� �=$	�
�� ! �	����� ��������	�'��&���� �	��� ���$ � $�!���������	� ��!����!�� ����
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One-to-One
 (1-1)

General pickup and delivery problem
(GPDP) 

Cordeau et Laporte (2003)
Ropke et Cordeau (2009)

Dial-a-Ride Problem
(DARP)

Bronmo et al. (2007)
Montané et Galvao (2012)

Vehicle Routing Problem with 
Pickups and Deliveries

(VRPPD)

Sexton et Bodin (1985)
Dumas et al. (1991)

VRP and with Time 
Windows

(VRPPDTW)

temps de transite maximal

P/D

fenêtres de temps

Stein (1978)
Lubbecke (2004)

Single vehicule routing 
problem with PD 

(SVRPPD)

T≠ Ø m = 1

Cortés et al. (2007)
Mitrovic-Minic et 
Cordeau (2006)

VRP and with 
Transshipments 

(VRPPDT)

+ « qualité du service »
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1.4.2� Les premières démarches de résolutions 
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1.4.3� Les articles récents sur le DARP 
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li

Axe temporel

sj

ei

ej lj

si

Ai  arrivée du véhicule sur le sommet si 

Bi  début du service 
Di  départ du véhicule du sommet si vers sj   

Aj  arrivée du véhicule 
sur le sommet sj 

Bj début du service 

Dj  départ du véhicule
 du sommet sj 

di durée du service 

Wi  temps d’attente du     
véhicule sur le sommet si 

Li   temps de trajet si sj 

Fenêtre de temps
du sommet sj

Fenêtre de temps
du sommet si

Début de la tournée
du véhicule

Milieu de la tournée du 
véhicule

Fin de la tournée 
du véhicule
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2.3.1.� Schéma général d’évaluation d'un élément β 

a.� Evaluation d'un élément β 
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Algorithme 1�   

Input parameters 
  : Set of trips 

Output parameters 
    : value of the solution  
  : boolean with � valid solution and � non-valid solution 

Begin 
1� :=0 
2�  := false 
3� for  := 1 to card( ) do 
4� | { , } = call  ( ) 
5� |  :=  +  
6� | if (  = true) then 
7� | |  = true 
8� | end if 
9� end for 
10� return { , } 
End 

b.� Evaluation d'un élément  
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�@�� " �	��� ���	�� ��	���&����!	���$$	���	��	�� ��� ���E


�� !�����	��	�����������	�& '	�����'=�(�	���$$	��	���� ���	���������C	�B��	��	��	$���E�
�� !	��	$����	����,	�����&�= '�!	��	�������	�����!������	�$�< $�!	� �����' �	����&�= '�!	�

�E�
�� !	��	$����	������������	��'! 	����	��� �C�� 	���%�!��&�!	���$�< $�!	 ���

0@�!"�� �=$	� [ [� ����	���� ����� !@�!"�� �=$	� �� ���'#�	� 	�� �	�<� ���� 	��� 0��
��	$ #�	?�	�� ?����'�����!	��'! 	�����	� �	��'�!'�!	�!	�'�Q��� �� �(�	�!	��	��	'���	�!��'=��"	��
�	��	����� 	� �	� � ��	� 	���	� !�� ! "�	�*� 	�� !�� ! "�	�����	� !��!"�� �=$	���� �?� ���������	�< #$	�
�	$��� 	�� � � !�� '����� ��	� �	� '=��"	� 	��� &�� C �	?� !�� �	'���	� ���� 	� &�� C 	� !�� ���! ��� ! ��� �	�
!@�!�$	�� ��	�!��! "�	����,��(��%�!��! "�	��+��
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�	��	� �	'���	� ���� 	� 	��� �	�������!	� �	� !�� &�� C '�� ��� �	� !�� ���! ��� ! ��� �@��� �!�$	��� �
'��'	������!	������	��'����� ��	������&�� C �	��(� ������
�

�� !	��C	�B��	���	��	$�������!	����$$	���E�
�� !������	��	����,	�����&�= '�!	�E�
�� !	��	$����	������������	��'! 	�����

�

Algorithme 2� evaluation_T 

Input parameters 
  : a trip which contains all the trip variables like : , s[], B[], A[], D[] 

Global parameters 
  : capacity of a vehicle 
   :  distance between node  and  
   :  demand on node   
Output parameters 
 cout    : value of the trip  
   : boolean with  associated with a non-valid trip 
         associated with a valid trip 

Begin 
1� := 0 
2�  := 0 
3�  := false 
4� for  := 2 to  do 
5� | :=  
6� | :=  
7� |  :=  +  
8� |  :=  +  
9� | if load >  then 
10� | |  := true 
11� | end if 
12� end for 
13� if (  = false) then 
14� | { } := call is_feasible_tour( ) 
15� end if 
16� return { , } 
End 

�

�����&�� C 	��(�	�'	��'����� ��	�������&�! �	�?�!��$��=��	�'��� ��	�%�����&	�����	��	$�!	��	�
&�!	����%��CC	'�	����< ��	!�(�	�����	��!	��'����� ��	���� 	���&�� C �	���
�

c.� Impact de la fonction d'évaluation d'un élément  
����� $	���	� 	�� �& �	�'	� !	�� � CC��	�'	�� (� � 	< ��	��� 	���	� !	�� � CC��	��	�� C��'� ����
�@�&�!��� ����	� ?����	<	$�!	�������$ ��	���!�'	��0	�������	���	�'	��	<	$�!	������ !!�����	��
����!��C "��	������0	�&	'�	��� �	���'�$������	�*���$$	���
�!	����L�� � � �!?�!	���$$	���@�� " �	�
��� '! 	��� 7?� !	� ��$$	�� �	� �	�� ��� ��� �	�7?� �� �� !	� ���L�� C ��!�� ����� '=�(�	� ��$$	�?� �	��
C	�B��	���	��	$����������C � 	������!��C "��	��
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�!� 	< ��	����'����'	��� ���	"����	� ! �	��������� !	�'=� <��	�����	���	��������	��	�& '	���@	���
�����'	!��(�	��!�� 	����C��'� �����@�&�!��� ������' C (�	������76������������&	!����	���C ��
�@���	� ����	�������	�&�! �	�(� �����#�	�	���!������'	��� ����$��	��	������ ����� ����	�����	���

�	� �	� '	�� C��'� ���� 	��� �������	� ���� I����	��� ���� 0�����	?� �))�K� 	�� 	!!	� 	���  !!�����	� 	��
C "��	������0	�� '���'��� �� (�	���	� '	��	� ������	� ����� � ��	�����	� ����!	��	�+� 	�� ��� �	$����	�
���,	�� ����� !	� '! 	��� ��	� ��� �	��	� �&�!��� ��� & �	� %� ��C � �� �	�� ���	�� �	!!	�� (�	� !�� ������	�
C � ��	� ��� �!��� �L�� ����� 	��$ � $ ����� ��� ����	� ����!	�� �!!	� �	�$	�� ���� ?� ����� ��	� '	��� �	�
$	���	?��	����� �	�!	���	$����	����,	���	��'! 	����� �� �(�	�!	�����	$����@���	��	���
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0����$$	��	��� ����'	��	����"�!	�%�+����	��� !	�'�Q���	�'	��	� ������	?�(�	!!	��(�	��� 	��� !	��
���	�� ���C � 	�� ����� '=�(�	� '! 	��� �� ����� ��� $B$	� ?�  !� �	��� ���'� 	< ��	�� �!�� 	���� �
���� �!	��(� �'���� �	���%��	��	'�	��!	��'����� ��	����@	�������(�� ��!�� 	����C��'� ������������
�������	�������!��! ��������	�������	��	��!�����! ��� ! ����	� ���	��C��'� ��������	����	��&�!	����
� CC��	��	�� ��< ������ ��� $B$	� �	�� ���'?� ����	� '	��� �	�$�� #�	?� �	�� ������	�� 	CC	'� &	��
� CC��	��	����

d.� Etude sur les fonctions d'évaluation pour DARP 
�����!��! ��������	?� !�	< ��	�� CC��	��	��C��'� �����@�&�!��� ����	� ���!!	��������	"�����	�������
!	����!	������?��D�' �(�'�!���	�����������	���	��
�

�� !	���$��	�!��$��=��	�E�
�� !��'�$�!	< ����	�!��$��=��	�E�
�� � �!��$��=��	��	�����	�!��������	��&	'�!	�����	������!����L���������!��������E�
�� � �!��$��=��	��	�����	���	�������	��	�����	�����!	�$ � $�!	�I$ ���1��
�. � $�$�1���!�

����� ��K�E�
�� � �!��$��=��	��	�����	���	�������	��&	'��	���	$����	����,	��$ � $��<������!	��'! 	����

I$ ���161�
�. � $�$�1���!�6 � �"�1 $	K��
����
��� �)��
�
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0�� ��	$ #�	� 	��� ��	� C��'� ���  ���	� �	�� ����!#$	�� �@��������'	$	���� �!!	� �� ! �	� !��
$���! ��� ��������!��C��$	��	�"���=	�'��,��'� C��C ���@�&�!�	��!�����! ��� ! ����	� �	���� ! �����
�	���!"�� �=$	���	��!���'�����I����!���!��"K�'=	$ ����	��	�C��'� ����CC	'�	��� ���	�����	�����
�!����L���� ���	�����	������!�����������������!	����$$	����	�!��������	���	��	�$���! ��� ��������
!�� C��$	��	� "���=	� 	��� ����	� ���� �	�� '����� ��	�� � �	�� ['����� ��	�� �	� ���'��	�'	[� (� � �����
��C � 	���������	�����2���� 	��

0���	�< #$	� C��'� ���	��� '	!!	��������	����� I����	�������0�����	?��))�K�(� �	��� 	!!	2���� �
����	��������"���=	�'��,��'� C���!!	�� �	����� ��	��'���'��� �� (�	�����' C (�	������76�������
�$�! ��	�� !	���	�C��$��'	���	� !@�!"�� �=$	�	�� �	�$	���	��@���	� ���	�����	��(� �����	����	��
'���'��� �� (�	�� ����	�����	��%�!��������	?�����$$	���'	!!	��	�$ � $ �	��!������	�����!	���	��
���	�� ���� �	��� ���� � !	� �	$��� �	� ���,	�� �	�� '! 	���� ����� '	��� ��� �� ����� C � �� '	��	� C��'� ���
C���� ������ �!	��	�����$�< $�!�����!	����$$	��?����'�!	�����	������!����������

0����� � #$	�C��'� ���	����������	�����I/ ��������S�	" �"	�?��)��K�������� �	$	�����<��	�<�
���'��	��	��C��'� ���?�	!!	��	�$	���	�&�� C 	��!�����! ��� ! ����	 �	��'�$�!	< ���! ��� �	�������
!�� &	�� ��� �������	� ���� !	�� ���	���?� �	�!	�� !	�� ���	�� ��� �!��� ����� ����� �	������	��� 7&	'�
(�	!(�	�� �����C��$�� ���?�  !� 	��� ���� �!	� �@���	� �� !	�� ���	�� ��� �!��� �L�� 	�� ���'� ���	� �� �	��
������	����<�'���'��� �� (�	�����'=	���	�'	!!	���������	������I����	�������0�����	?��))�K��

�	' ��	�$	���	�'�$��	���	�!	��� CC��	�'	��	��!	���&����"	���	�!��C��'� �������	�����I/ ��������
S�	" �"	�?��)��K��0	�����	���������	�����������	!�  $��'������ !��(��! �������	�& '	���������
��<�'! 	���?�'�$$	�'	!�������� !!����������!	��	<	$�!	������'?�$B$	�� �!	�'�Q���@��	�������	�
�����!	��76��	���'���� ������ (�	$	����	�!��� ����'	����'����	�����!	��&�= '�!	�?� !�-������
��	!� ����B��%��@ ����	��	����<�����	��'� �#�	�����&�!��� ����

�����!��$��=��	��	�����!�� ����������	?�!��C��'� ����@�&�!��� ���	�������	�����'	!!	��������	�
���� I/ ���� ����S�	" �"	�?��)��K�(� � ����	� '�$�!	< ��� ! ��� �	���	��	� C��'� ��� 	���$�� C �	�
�C �������	� �� !	��$B$	��&�!	���������!	� �(�	�'	!!	��C���� 	������!��C��'� ����	�I����	���
����0�����	?��))�K��7&�����	��@ ����	��	��%�'	���	�<�C��'� ���?�!������ 	��� &���	�����	��	�!	��
'����� ��	���	����'��	�'	�� �� �(�	� !��'������'� ������"���=	�'��,��'� C���	������ !	����,	���
����!	�(�	!���	���	�!��CC	'��� ����	��&�!	�����	� ��
�

2.3.2.� Modélisation des éléments   
0	�� "���=	�� � �,��'� C�� ����� !	�� $���! ��� ���� !	�� �!��� �� ! ��	�� ����� !�� ! ��������	� ����� !	��
����!#$	�� ����������'	$	���� �!�� ���� ����  ������ ��� ���� I6�-� ���� ����$���?� �W�*K� 	�� �	�
'�$���	��� �@��'�� '��,��'� C�� (� � �	����	��	��� !	�� '����� ��	�� �	� ���'��	�'	� 	���	� !	��
������ ����	���@��'��� �,��'� C��(� ��	����	��	���!	���(�	�'	$	�������!	��$�'= �	���0���(�@���
��(�	�Y�"	� ���� !	�� $�'= �	�� 	��� ���	�$ ��?� !	� "���=	� �	� '�$���	� �� (�	$	��� �@��'��
'��,��'� C��	��	������	!��"���=	�'��,��'� C���	��"���=	���	�&	���B��	��������������!@�&�!��� ���
���&	'�	��� �����' ��%��������!#$	��	��76��������������'	$	��?�!@�� ! ��� ����	�'	��"���=	��
�	�$	���@�CC	'�	���	��&�!	����$ � $�!	��	��$�< $�!	����<����	���	��������	�������� ����(� �
'�$���	���!	�����!#$	���	�����	��������CC	'��	���	��	!!	�����	�(�	�!@	��	$�!	��	��'����� ��	��
�	����	���	�� ����� !	� "���=	� ����� !�� C��$	� �@��'�� ����� ��� �C� �	��� �	�� ��'�� $���! �	��� �	��
'����� ��	�� �	� ���'��	�'	� �	� � CC��	���� �-�	�� ���$ � !	�(�	!!	�� C "��	��� !	�� ���
����%?� (� �
��C � ��	��� !	� �	����� $�< $�!� 	�� $ � $�!� 	���	� �	�<� ������ ����� �	�� '����� ��	�� �����
'!� �	$	�����C � 	�������!�� 	�������	��������$$	���I���$����	���!�?��))XK���D�IF� �A$����
�����	�$���?��WW�K���!!	���	�&	������	���	��� CC '�!����'���	!!	��	�"	���	����	��'-'!	�������
!	� "���=	� '��,��'� C�� ����� !	�� ����!#$	�� �@��������'	$	��?� !�� ����	�'	� �	� '-'!	�� �	� '�Q��
��� � C������ !	�"���=	� !�����	� !@�&�!��� ���	$�B'=	� !@���	�� ����@����!��� �"� ���! ���!	���	��
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'����� ��	�� ����� ���� � ����	��	�� ����� !	�� ������	�� ����' �	�� ��� �76�� ����$$	��� �&	'� !	��
'����� ��	���	�C	�B��	���	��	$����

�����!���� �	��	�'	��	����� 	?� !�	���$ ��	���& �	�'	�!	�! 	��	���	�!	��'����� ��	������' �	����<�
������	�� ��� �76�� 	�� !	�� '����� ��	�� �	� ���
����� 	���	� ������ ���� ����� !	�� ����!#$	��
�@��������'	$	���� 7 �� � !	�� � CC��	��	�� C��'� ���� 	CC '�'	�� �@�&�!��� ��� ��&	!����	�� %�
!@�� " �	������!	������!#$	���@��������'	$	������������B��	�������	���

a.� Les contraintes de précédence 
0	��'����� ��	���	����'��	�'	��������C � 	�������	�� ��"�! �����	�!��C��$	��� &���	�
�

�

7&	'� �	�� ��	�<� &�� ��!	�� ��� ����!#$	� 	�� ���	� '�������	�� �	�� '����� ��	�� ����� �� ! ��	��
����� !	�� ����!#$	�� �	� �	'=	�'=	� ������ ���	!!	?� ����$$	��� ����� !	�� ����!#$	��
�@��������'	$	���� �!!	�� ����� ���	!�	�� '����� ��	�� �	� ���'��	�'	� '��?� 	�� '��� ������� �	�� �
�	�����	���	��������@������ ��?�	!!	���-$��! �	���!	�C� ��(�	�!�����	��	��������	�!������� ��� �
�� �� B��	� ����� 	��	� ��� �"�!	� %� !�� ���	� �	� ������ �	� !������� ��� �!��� ��	� '�������	�� �	��	�
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2.3.3.� Test de réalisabilité d’un vecteur  par calcul des dates au plus tôt / au plus tard 
7� ���� �� ��� "���=	� ���C � � ���'��	$$	��?� ��	� ��	$ #�	� C��'� ��� �@�&�!��� ��� �	� !��
���! ��� ! ����@��� �	�������	���	��7�����	�'���� ����'	?�'	��	�C��'� �������,�$� ���������! �	�	��
	!!	��	�$	������������ ������ �	� !	�� C��'� �����@�&�!��� ����� &���	��'���	!!	�� �	���	��� ����	��
����!	��$B$	���� �' �	��
5��'	���<����&��<��	�I6�-���������$���?��W�*K������	������!#$	��
�@��������'	$	���	��%�!��$���! ��� ������'��	��	������C��$	��	�"���=	?� !�	��������	�!	$	���
���� �!	� �	� ��&� �� �� !� 	< ��	� ��� ���� ��	� ��!�� ��� &�! �	� $� ��  !� 	��� �"�!	$	��� ���� �!	�
�@�CC	'�	���	��&�!	����$ � $�!	��	��$�< $�!	����<�!��	!���	!��(�	�����	��!	��'����� ��	���� 	���
��� �C� �	��� 0	�� �	�<� ���� 	�� �� &���	��  !!����	��� !�� C��'� ��� �� ! ��	� ����� !	�� ����!#$	��
�@��������'	$	�����	��	�C��'� ����	���B��	����! (��	�� �	'�	$	���������&�!�	��!�����! ��� ! ���
�����&	'�	��� ��

a.� Calcul des dates au plus tôt 
��� ��������'	$	��?� !	�� ��!�� ���� �	'=	�'=�	�� ����� �	�� ��!�� ���� � �	�� �	$ 2�'� &	�� �����
!	�(�	!!	��!	�����	���	��������	�������� ������������ � ����	������!����L�����!'�!	��!	�����	�����
�!����L���	�������� �����	& 	���%�'�$$	�'	��!@������ ���'������	�%�!@ ��������D�!	�������� ����
(� �!�����'#�	������������	���	�$ ��	�������� �'	!���	& 	���%�����&	��!	��!��	!�� ��	!�(�	�



�

�D� �	���!@	��	$�!	���	����'��	������������ �	�� �	���!��&�!	����	�!@��'��	� �%� ��

����� ?� !	� !��	!� ��� ��$$	�� C '� C� )� 	���  � � �! ��� %� )� �C �� �	� $���! �	�� !	�� '����� ��	�� �	�
C	�B��	��	��	$���I��K�	��I��K�'�$$	�	<�! (������'��	$$	�����!��	����	��� ����	�������������
�����"	�� !�� C��$�!	� ' 2�	����� ����� �� ��� �=��� 	� �	�� "���=	�?� '	��	� C��$�!	� �	�$	�� �	�
'�!'�!	��!	��!���!��"�'=	$ ����!!	�	������'��(� &�!	��	�%�'�!'�!	��!��&�!	����!���!��"�'=	$ ��
�	�� ��!	���$$	��)�&	��������!	����$$	������"���=	��
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�� �!��� !��"� '=	$ �� 	< ��	� �� (�	$	��� � � !	� "���=	� �	� '��� 	��� ���� �	� '-'!	� ��� � C��
0@�!"�� �=$	�F	!!$��2/�����	���B��	��� ! �����!�����	�'�$�!	< ����	� ��&	' �!	���$��	�
�	���$$	�������� �	�� �!	���$��	��@��'������ ����$$	�!	���$��	��	�&� � ����������$$	��
	�������!��� ���������"���=	�� $�!	?�'	��	�'�$�!	< ����	����	����'� �	�'�$$	 ��

�!������' ��$	��?������!	�"���=	?�!	���$��	��@��'�����	��������$��	��	���$$	�������� ������
�	�������$��	��	�'����� ��	��������!	�"���=	�5?�!	���$��	��	���$$	��� �	����"�!�%� �

%�'���	������$$	��C '� C��

�0	���$��	�����'��	������'��"�!�%�
�

� � ��� '-'!	� 	��� ���	'��� ����� !	� "���=	� �!����  !� �@	< ��	� ���� �	� ���	�� �	� ������ �	� �	�& '	� �
C � 	���	!!	��(�	�����	��!	��'����� ��	���� 	���� $�!����$	����	��	'��	������'� �	��� ����! ���!	��
� ���'���'-'!	��@	������	'����!���� !�	< ��	���	�������	�����' �	�%� �	�� !�	< ��	��	��!��	!�� �(� �
'���	�����	�����<����	������!����L��������	�& ��!	��'! 	���������	����� �C� �����!	��'����� ��	���

Exemple :  
�� �� ��� �76�� �&	'� �	�<� '! 	���?� ��� '! 	��� �	&���� �!!	�� �	� �� %� �� �&	'� ��� �	$��� �	� ���,	��
$�< $�!��	�+�	�����'! 	����	&�����!!	���	���%�*��&	'�����	$����	����,	��$�< $�!��	����0������	�
����!	��	�!��������	�	���! $ ��	�%�����0	��C	�B��	���	��	$��������c�?��Wd������!	���$$	���?�c�+?�
�)d������!	���$$	���?�c��?���d������!	���$$	����	��c��?�+)d������!	���$$	��*��0	���	$����	�
���,	������� !	�&�= '�!	�	���	� !	�� ��$$	��� ���� �
0	���	$����	�'=��"	$	���	���	���'=��"	$	��������'��� ������'�$$	���!�������'	��	<	$�!	?�
 !!������C "��	����*��

0@�&�!��� ��� �	�� ���	�� ��� �!��� �L�� �� ���� ���! ��	� �	� ���	'�	� ��'��� '-'!	� ��� � C�� 0	�� !��	!��
C ���<�&�!	����!�����	��	'� &	$	���l�+�E��X�E��)�E����E����E���m�	��'���	�����	�����<����	�����
�!����L���
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b.� Calcul des dates au plus tard 

���� ����	$	���� $ !� �	��	���B��	����! (���������	'=	�'=	��!	�����	������!���������	�������
�	��	�& '	��������	�������	�������������'	$	��?�'�!'�!	��!�����	�����!���������@��	������� ���
�	& 	���%�C� �	�'�n�' �	��!��C ���	�!@������ ���'������	��&	'�!	��������	�!@������ ����� &���	�(� �
'�$$	�'	�!	��!����L�������� �'	!���	& 	���%�����&	��!	��!��	!�� ��	!��(�	�
�

�

�D� 	���!@	��	$�!	��	����'��	���������	 �	�� �	���!��&�!	����	�!@��'���	� �%� ��
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������ $�! C 	��!��C��$�!	����'��	��	?����"���=	� �	��� ������ ����!�	���'������ ���	�!��$�� #�	�
�� &���	�
�

�� %�'=�(�	���$$	���	� �	�������' �������$$	������ E�
�� %� '=�(�	� ��'� �� 	���� ��	� �� ��� ������ �	��� ����' �� ��� ��'� ��	� �� ��� ��

����� �

0��C "��	����+��	����	��	�!	�"���=	� ��	�!@	<	$�!	����'#�	���	��!	�"���=	� �����' �������� �
����&	��!	��!��	!�� �����!���������	& 	���%����! (�	��!��C��$�!	��� &���	�
�

�

�D� 	���!@	��	$�!	��	����'�����������	 ����$$	������!	�'�!'�!��	�����	������!����L�?�!	�!��	!�
��� ��$$	�� �	���  � � �!	$	��� C <�� %� )�� ��� �=��� 	� �	�� "���=	�?� '	��	� C��$�!	� �	�$	�� �	�
'�!'�!	�� !�� &�!	��� ��� �!��� '����� '=	$ ��� 0@�!"�� �=$	� 	��� �!���� ��� �!"�� �=$	��	� �!��� '�����
'=	$ ����	�)�&	���!	������	����$$	����	 ��

�� � �

�

� � ��

�
�

� � �

�

 

�
�

�
� �

�

� �

�

�

�� � �� � ��

�
�

2 � 2 � 2 � 2 � 2 �

�

 

2 �
�

2 �

�
�

�

�

2� �
� 2 �

�
(���

� �)9��01
���
�	
��
���
%�,�������
?�
��,;��	
���
?��

0@�!"�� �=$	��	�F	!!$��2/���� '�!'�!	� !	���!��� '������ '=	$ ��� 	�� �	�� �	�$	���@���	� ��
!	�� &�!	���� �	�� !��	!�� ����' ��� ��<� ��$$	��� ��� �	� ���	'�	�� !�� ����	�'	� �	� '-'!	�� �	� '�Q��
��"�� C��� ���'���'-'!	��@	������	'��?�'	��!��	!���	����	��	���!	�����	���	��������	��	�& '	����
�!��� ����� ���� !	�� � CC��	���� ��$$	��� �	� !�� ������	�� � � ��� '-'!	� 	��� ���	'��� �!���� �	���
 ����! ���!	�����!	�&�= '�!	��

�������(�	�� ����'-'!	�	������	'����	������!@�CC	'��� ����	�����	����<��!����L��I�	������<��!���
����K��!����!	�$B$	�'-'!	�	������� ����	'���!�����	�!@�CC	'��� ����	�����	����<��!��������I�	�������
�!�������K��

�

Exemple  
0	�'�!'�!��	�����	���@��� &�	������!��������	������! �������!@	<	$�!	����'��	��?�C "��	�������0��
! ��	��	�����	������!�������?���
��!	��!��	!������' �����<���$$	���I E���E���E���E�*�E� K?�	������'�
I���E��X�E��)�E����E����E��WK����

�

7 �� ?������'=�(�	� ?�����	������	� ����	�&�!	���$ � $�!	�	����	�&�!	���$�< $�!	��1���	��
!	����!�� ����&�! �	������' �	��%� ��������'���	�&�!	����	� �'�$�� �	�	���	�!	���	�<�����	�?�
'�	��2%2� �	������!@	<	$�!	�
�
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�����'	��	<	$�!	�� $�!	?�'	��� �	�����	��$ � $�!	���	�������������"�!	����<����	��$�< $�!	��
�	���������@	���!	�'�������� ? ? ? ���

0	�� ���	�� �	� ������ �	�� ��!�� ���� �	������	�� ���� !	�� C��'� ���� �@�&�!��� ��� �	� I����	��� ����
0�����	?��))�K�	���	�I/ ��������S�	" �"	�?��)��K���� �C������'	��� �	$	���'	�� ��	�&�!!	����	��
C��'� �������������	���	�������!	������ 	���� &���	���

�

2.3.4.� Test de réalisabilité d’un  par la méthode de (Cordeau and Laporte, 2003) 
0@�!"�� �=$	��@�&�!��� ��������������� I����	�������0�����	?� �))�K��	��� B��	���C � � %� !@� �	�
�	�� "���=	�� �	�� ����'��	���?� $B$	� �� !� �@�� ���� ���� ��'� �� � �� � ����� !@��� '!	� �� " ��!��
0@�!"�� �=$	���!��$B$	�'�$�!	< ���(�	�!@�!"�� �=$	��	�F	!!$��2/���������!	�� �	�'�����!�� �	�
'	�	���������� ��	�!������'���	����"���=	?�'	�(� ��	�$	��
�

�� ��	����	'� ����	��'-'!	���!������ �	�(�	�!@�!"�� �=$	��	�F	!!$��2/����E�
�� 	��'����	�'-'!	?�!	�'�!'�!��	�&�!	��������� �(� �$ � $ �	���!��& �!�� ����	��'����� ��	��E�
�� � ���?�!	�'�!'�!��	�&�!	�����	� �(� �$ � $ �	���!������	�����!	��	�!��������	��

7��#�� �&� �� '������ �� !	� "���=	� � �'!����� �� (�	$	��� !	�� '����� ��	�� �	� C	�B��	�� �	� �	$���
$ � $�!	�?�!@�!"�� �=$	����'#�	�	���!�� 	����"����	������	�
�

�� ����	� �� 
� '�!'�!	�� !	�� ���	�� ��� �!��� �L�� 	�� ��	����� '�$��	� �� (�	$	��� !	�� C	�B��	�� �	�
�	$���$ � $�!	��	��!	���	$����	����,	��	���	�!	����$$	���E�

�� ����	���
�'�!'�!	��!	�����	������!��������(� ��	�$ �	���!��������	�����!����L��	����	�����	��
'�$��	�!	��'����� ��	�����'��	��	��� �� �(�	�!	��C	�B��	���	��	$���$�< $�!	��E�

�� ����	� �� 
� &�� C 	�� !�� '����� ��	� �	� ����	� ����!	� �� �� '�!'�!	�� �	�� ���	�� ��� �!��� �L�� 	��
 $�������!�����	��	��������������L������!��������E�

�� ����	�*�
������'=�(�	�'! 	���I�� " �	?�	�� ��� ��K������ ?��	����	�����$�< $�$�!	�����	��
�	��������	��	�& '	�����!@�� " �	?��� ��$	���	�%�,����!	������	����$$	���	��	�C ��&�� C 	��
!��'����� ��	��	��	$����	����,	������' �����'! 	����

0	�� ����	���	� !@�&�!��� ��� ����� �	�� �	������� !@�!"�� �=$	���� �!� ��	��� 	�� ����$#��	��@	����	2
���� 	� ��� ��,	�� �(� � '��� 	��� �!�� 	���� ���� ������ �	��� ��� �	� '	�� ���� ����� �� &	��� B��	�
 � � �! ���?�'�$$	�!	���$��	��	���$$	��� � �� �(�	�!��! ��	��	����$$	����cd�������!	������	�?�



Résolution du problème de transport à la demande 47 

!	��&�!	����������CC	'��	���0��C��'� ����	�����	�������!�	���	�& �!�� ���(� �&����C��<�� � �	���
&�! �	�	��&�� �� �����


�� 	��	$�!	� �	� &�� ��!	�� ����� ��'	��� �	�� ����� !@	<�'�� ��� �	� !@�!"�� �=$	�� �!!	�� �	�&	���
����$$	��� %� ���'A	�� !	� "���=	?� !	�� &�!	���� ��� �!��� ����� �	� �	�� ��� &	'�	��� '���	����� !��
��� � ��� �	�� ��$$	��� �	� �	�� ��� ��� �	� '=�(�	� '! 	��� I�� " �	?�	�� ��� ��K� ����� �� �	��
� CC��	��	������	����������� !!�	�������!	������ 	���� &���	���

Algorithme 3� is_feasible_tour (Cordeau and Laporte, 2003) 

Input/Output parameters 
  : a structure containing all the trip attributes: , s[], B[], A[], D[] 

Variable parameters  
  : graph with  nodes 
  : array of latest departure date of service on each node  
  : array of integer : P[i] is the position of the associated delivery node if i is a pickup node 

Output parameters  
  : boolean,  if the trip is valid,  otherwise  

Begin 
1�  build_Cordeau_graph(t) //with only minimal time windows and distance constraints 
2�  // STEP 1 : earliest starting time with only minimal time windows constraints 
3� // STEP 2 : latest starting time which end the trip at the earliest date 
4� // STEP 3 : check the total duration constraint 
5� // STEP 4 : check the riding time for each client 
6� return { } 
End 

Etape 1 : affecter les dates au plus tôt avec uniquement les fenêtres de temps minimales 
�	��	�����	�'��� ��	�%�C <	��!	�����	���	��������	��	�& '	�����!����L��	��'�$��	��� (�	$	���!	��
'����� ��	���	�C	�B��	��	��	$���$ � $�!	��� �� �(�	�!	���	$����	����,	����	�"���=	��	�'�$���	�
�� (�	$	����	����'���	����	������!	��'����� ��	��I��K�	��I+�K������!��C "��	��������!������������
�� 	����� �	� "��'=	� %� ��� �	� 	�� ���� ����� �	�� &�!	���� ��� � &	��� �!� 	< ��	� ���'� ��� ����	�
����!�" (�	� (� � �	�$	�� �	� '�!'�!	�� !	� �!��� '����� '=	$ �� 	�� ?� �&	'� !	� ��$��	� �	�
��$$	�������� ��0��C��$�!	��� &���	�'�!'�!	�!	�� �	���	��	'�����!�����	�����!�" (�	�
�

�

�D� �	���!	�'�Q���	�!���'� ��
�	�C� ��!	��&�!	���� ��CC	'��	�?�!��!"�� �=$	�&�� C 	�!��
& �!�� ����	��'����� ��	���	�C	�B��	��	��	$���$�< $�!	�������'	!�?�����,���	�!	����'��I��K������
!��C "��	�������� ������&�!�	� �&	'�!��C��$�!	�
�

�

�	�<�'����	�����	��	���
��� ��!��&�!	����	� ���	�������$�� C �	�	��!��!"�� �=$	��	���'��� ��	�?�
�� �� !�� &�!	��� �	� �	��� $�� C �	� 	�� ���'� ��� $� ��� ��	� '����� ��	� �	� C	�B��	� �	� �	$���
$�< $�!	��	���& �!�	�������'	��	'����'��?��	�<������'=	����������� �!	���9���	��������	��	��
 �� (����� !�� ���2���! ��� ! ��� �	� ?� �� �� ���	�� !�� & �!�� ��� 	�� ������ &�	� !@�&�!��� ��� �����
'=	�'=	�� � � �@����	�� '����� ��	�� ����� & �!�	��� ����� !������'=	� �������	� ���� I����	��� ����
0�����	?� �))�K?� !	�� ���	���� �� ! �	��� ��� �!"�� �=$	� �	� �	'=	�'=	� ������ I����� %
�
��K� �����
!	(�	!� ��	� ���� 	� �	� !@	���'	� �	�� ������	�� ����&�! �	�� 	��� 	<�!���	��7� '	�� �����&�! �	�� 	���
�CC	'��� ��� '�Q�� ��	����� 	�� '�$��	� !	�� � CC��	���� �-�	�� �	� '����� ��	�� & �!�	�� $�-	������
�������� ������������&� ��'��� ��	��!��&�!��� ����	� �	�����	'�	���@����	��& �!�� ���?�!��&�!	���
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�	�!��C	�B��	��	��	$���$�< $�!	������$$	������' ��%�!��& �!�� ���	���$�� C �	��C ���@����� �	��
!��&�!	���'������	��7�!��C ���	�'	��	�����	?�!��&�!	������	��	�����!	���$$	��C ��!�	���!�����	����
�!����L�� ������C � ��!��������	��
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�����!��!"�� �=$	�*?�'	��	�����	�	���'�$�� �	�	���	�!	��! "�	����	���)���!!	��������	�� �	�������
!��C "��	����X��0	��!��	!����������'A�����������&	'�	����	��� !!	 ��0��! "�	���I��������	��	K�
	�����	� � � �! ��� ����&	'�!��'������'� ������"���=	��0��! "�	���C <	�!��&�!	�������!	���$$	��)�
� �� �(�	�����!	���$$	��'���	���������������L�� � � �!���

0��&�!	����	�� �	���'�!'�!�	������!	��! "�	����%��)����$$	�!@����	�����!�" (�	�"����� ��(�	�
!	���$$	��'��������@	����!���& � �������!���� �	?�!��$B$	����'!	�[C��[�	����� ! ��	������&�� C 	��
� �	'�	$	���!	��'����� ��	���	�C	�B��	���	��	$���$�< $�!	�?�! "�	��+�%�W��0	����'����'	��� �	��
����� �,������ ! "�	� X�� 0���(����	� & �!�� ��� 	��� ���	'��	� I! "�	� +K?� '	!!	2' � 	��� ����	� �� ��
!@�!"�� �=$	�'��� ��	�%�&�� C 	�� !	��'����� ��	��%� !��$�� #�	��	� I����	�������0�����	?��))�K�
I! "�	��K��!��L��(�	��	������B�	���7�!��C �?� �	���!��&�!	������!��	!�����	�� 	����$$	���
�

��    
3 for  to  do       
4 |  
5 | if (  ) then  
6 | |  true; call add_Arc  
7 | else 
8 | | call add_Arc  
9 | end if 
10 end for 
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����������(�	�!��������	�&�! �	�(� �C � ��	�!	��!����L���� ���	!!	�(�	� ����$$	�!��
������	�	���&�! �	�	��(�	� �	���!�����	�����!����L������ ��!���� !�	< ��	�����!���!��"�'=	$ ���	�
&�!	��� ������ �	���	� )� 	�� �� �!� 	< ��	� ���'� ��� �!��� !��"� '=	$ �� �	!� (�	� !	� ��$��	� �	�
��$$	���(� �!	�'�$���	����� ��$ � $�!�I�@ �'!����������	�'-'!	��	�'�Q����!K���

��$$	�!��������	�	���&�! �	?�!	��!���'�����'=	$ ���	��	�������	$�����	���@��'�'���	���������
%� �	�� C	�B��	�� �	� �	$��� $�< $�!	�?� � ���� !	� ��$$	�� )� ���� �� ����$�� C ����	� �!��� '�$$	�

�!����!	��!���!��"�'=	$ ��	���	�)�	�� �	$�����	����$� ��������'�'���	���������%���	�
'����� ��	��	��	$����	����,	��$�< $�!��@���'! 	������'	!� �����' ������	$�������!��	�!��������	�
� ���� !	� ����!���� 	��� '	!� � ���	��� %� !�����	� �?� '�	��2%2� �	 �� ��C � ������ ���'� �!@��'�
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����' ��%�'	��	�'����� ��	�����!	��	$����	����,	�����'! 	���I�@ !�-�	�����!�� 	���?�!	��	�� 	��(� �
C� ������ 	����'=	$ ��	���'��� ����K���

��$$	� �	��� &�! �	� �!���� !	� ��$$	�� �@�� " �	� 	��� � ���� �&���� !�� �	�� ��� ��� ���' ��
��$$	�!@��'�'��� �����	���!	��	�� 	������!���!��"�'=	$ �?��!����!	������'=	$ ���	! ���� �%� �
�	� '�$���	� �� (�	$	��� �@��'�� � �	'��� �� ��$$	� ��!���� !	� '=	$ �� ����	�
�	�<�C� ������!	���$$	��,��0	��!���'�����'=	$ ��	���	�)�	�� �'��� 	������'����'-'!	� ��1�� ��
� CC��	���� '��� ����� ���� �!	�� ���	������ ��� '�Q�� �	� �� �� !� 	��� ��!?� �!���� !	�� =-���=#�	�� �����
'����	� �	����� !�	�����"�� C?��!���� !�	< ��	�����!���!��"�'=	$ ��	���	�)�	�� �(� �'��� ��	�%��	�
����	$�����	�� ���� !�	������ � C?��!���� !��@	< ��	������	��!���!��"�'=	$ �?�'	�(� �'����	� ��!	��
=-���=#�	������'� !��@	< ��	������	��!���!��"�'=	$ ��	���	�)�	� ?��	�&�!	��� �����'�!��
������	�&�! �	�(� �C � ��!	��!����L��	����	!!	�(�	 ��

�	��	���$������� ���	��� $�������	�'���!@�!"�� �=$	�������������I����	�������0�����	?��))�K�
�@ ����	��	��� (�	$	�����<�������	��(� �C � ��	���%�!�����	� ��
��

Etape 2 : affecter les dates au plus tard qui finissent la tournée au plus tôt 
0@����	������	�$ ���@���	� �� ��0�����	���'��� ��	�%�'=	�'=	��!�����	� ��	������������!��������
������L�� � � �!� �C ��(�	�!��������	�C � ��	�%�!�����	� ����!	� ��$$	� �������'	!�?�!��
���	�����!	���$$	��C ��!�	���C <�	�%� ��� ��!	��!���'�����'=	$ ��	���'�!'�!���	�� ��'	��	�� 	��
��$$	��&	���!	������	������� ?�'������ ��'�$$	�	<�! (��������!������ 	�����!	�'�!'�!��	�����	��
����!���������������& �	��!��'������'� ���	<�! ' �	��	�'	�"���=	���< ! � �	?�!@�!"�� �=$	����&� !!	�
����!	�"���=	� �	���� ! �����!��C��$�!	��� &���	�
��

�

�D� �	��� !	� '�Q�� �	� !���'� �� ����� '	��	� C��$�!	?� !	�� ��'�� ����� ���'������ 	�� �	���
 �&	��	�	�����'��� �#�	�!���������	�!	����� ���� �'���	�������!�������$ � $�$��	��&�!	����
���	��	�� 	�� �������-���� ��� !��	!� �@��� ��''	��	��?� !	� '�Q�� �	� !@��'� 	���	� !	� ��$$	�� �	�� '	�
��''	��	�����

�(� ���	������'�$��	��� (�	$	���!	��'����� ��	���	�C	�B��	��	��	$���	��!	���	$����	����,	���
	���	�!	����$$	����
�	���!�� ���	< ��	������ ?�	!!	�������'�!'�!�	�%�!�����	�������'� !�	< ��	�
���� ���	���!�� ���&�! �	��&	'� !	�����	�� ����!��� �����������(�	� !�� ��!�� ����� ��&�! �	?� �
�� ���	��	����!��0������! ����	����'���	�C	�B��	���	��	$���$ � $�!	���	���������'������� ! �����
���'?������'	�"���=	?��	�!�� !	����'���	� C	�B��	���	� �	$���$�< $�!	��	�� !	�� �	$����	� ���,	���
	���	�!	����$$	��������'��� ��������!�	< ��	����'��������	�����!�" (�	?�'	������	�'���	������%�
!@����	� �&	��	��	���� �	$	����	����$$	�������!	�&�= '�!	���

0��&�!	������	��	�����!	���$$	��  � � �!��	� �	��� !�����	� ��	������������!��� ����������C � �� !��
������	�����!����L��������!��C "��	������(� ��	����	��	�!@����	��������!@	<	$�!	?� �������
!@�!"�� �=$	�*?�'	������	��'���	�����	�����<� ! "�	�����%��*?�(� ������ �	�� �	������� !�� C "��	�
���W��0��C��$�!	�	������! (��	�%�!��! "�	�����

�
���    
12 for  to  do 
13 | 
14 end for 
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Etape 3 : vérifier la contrainte sur la durée totale du trajet 
0�� � CC��	�'	� 	���	� !	�� ���	�� �	�� �	��� !	� �	$��� �	� ���,	�� ����!� $ � $�!� ��� &�= '�!	��
0@�!"�� �=$	� '�$$	�'	� ���� &�� C 	�� (�	� '	� �	$��� �	� ���,	�� ��	<'#�	� ���� !�� '����� ��	�
 $����	��� �'	��@	�������!	�'��?�!����!�� ����@	�������&�! �	�	��!��!"�� �=$	��	����� ���@���B�	�?�
�� ��'��� ��	��%�$ � $ �	��!	��& �!�� ����%�!��$�� #�	��	�I����	�������0�����	?��))�K�������
'	��	'����'��?�!��& �!�� ���	����� �	�	��'�$��	������!	�'�Q���� ��!	�'�Q���	�!@��'�	����	$�!�'��
���� ��C ���	��	�������"$	��	��!��& �!�� ��������!���� �	��	�!@�!"�� �=$	��

0	��&�!	��������!	����$$	��������	��� �	�$ �	��%�,�����	�$�� #�	�%����	� ��!	��!��	!������!���
�L�� ����' ��� %� �(� � ����� ��� ���L��  � � �!� %� !�� ���	 �	�� (� � C � �� %� !�� ���	 �� 0	�� �!��� !��"��
'=	$ ��������%����&	���'�!'�!���	��C <����%� �!�����	��	��������������L�� � � �!?�!��C��$�!	�	��
!@����	� ����!�" (�	� �����  �	�� (�	�� %� '	�<� �	� !@����	� ��� 0�� C "��	� ����� $����	� !	�� ����!�����
���	��������!@	<	$�!	��0��� CC��	�'	�'��'	��	�!	���$$	���������!	�!��	!�����	��	��*�%�����
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0��C "��	������ !!����	�!	��� CC��	��	��&�!	�������	��	��������������	�	<	$�!	��	�������	��&	'�
�@����	��C	�B��	���	��	$�������!	���M�����0	�����	����	�$	���	�	���& �	�'	�!	��� CC��	�'	��(� �
	< ��	��� 	���	� !	�� ����	��� 0	�� ��� ��� =�� 8�����<� �	� �	����	��	��� !	� �	$���� 0	�� �	'���"!	��
�	����	��	���!	��C	�B��	���	��	$���	��!	��'������%�!@ ���� 	��������!	�����	���	��������	��	�& '	�
���� '=�'��� �	�� ��$$	��� �	� !�� ������	�� �!��� !	� '����� 	��� � ���� %� ��� �	� 	�� �!��� !	� ������ ���
�	�& '	�	������� C��0	��C!#'=	���� �	���	����	��	���!	������!	$	����	�!@�!"�� �=$	��
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������!"�� �=$	�*?��	�� �������!��C "��	�����?�'	������	��'���	�����	�����<�! "�	���+�%�����0��
&�� C '�� ����	�!��'����� ��	��	��	$����	����,	�� ��	�& 	���%�!��! "�	��+��0��! "�	��X��,���	�!���'�
�����!	�'����D�!��'����� ��	�	���&�! �	�	��!��! "�	�����,���	�!���'������!	�'����D�!��'����� ��	�	���
& �!�	����C ��!��$ �	�%�,�����	��&�!	����	������ ��	��	�!��! "�	����%�!��! "�	�����

�
15 if (  ) then  
16 | true call add_Arc  
17 else 
18 | call add_Arc(  ) 
19 end if 
20 
21 for  := 2 to  do 
22 |  
23 end for 
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Etape 4 : vérifier les contraintes sur les temps de trajet des clients 
�	��	��	�� #�	�����	��	�$	���	���� �	��!	��'����� ��	���	��	$����	����,	��$�< $�!������'=�(�	�
'! 	���� 0@�!"�� �=$	� �������� ���� I����	��� ���� 0�����	?� �))�K�  ��#"�	� '	�� '����� ��	��
��(�	�� 	!!	$	���	���� &����!@����	��	������"	����&�= '�!	�����!	����$$	����@�� " �	�������!	�
&	'�	�� ��
�����&�! �	����	�'����� ��	�����!	��	$����	����,	�?� !������	�$ � $�!	��	����,	���@���'! 	���	���
'�!'�!�	�������'	!��!	�����������	�& '	�����!	���$$	���@�� " �	�����' �����'! 	���	����	���������
$�< $�$������$�� C 	�� !�����	��	�C ���	�!�� ������	�	�������(�	�!	��'����� ��	�����'��	��	�?�
��,%�&�! �	�?��	��� 	���& �!�	���� �!������	��	�'	����,	��$ � $�!��	��	'�	�!��'����� ��	��!����!��
'����� ��	�	����,����	?��� ��!	�����	����<��!����L������������!	����$$	���� ��������#��!	���$$	��
�@�� " �	������$ �	��%�,������

�@	���'	��	�����	��	�!@�!"�� �=$	�(� � ��� ����	�'�$�!	< ���	�� ����������	� ��!�����	��	�
������� ��� �!��� ����� ���� '=�(�	� ��$$	�� �@�� " �	?�  !� C���� �� ! �	�� !�� C��$�!	� ����� '�!'�!	�� !��
���	�����!������������	���	������!������ 	����'��	��	�
��

�

�	��	�C��$�!	�	������! (��	�	��������������	�� 	����$$	���	� �	�������B�	�!���(�	�!	���$$	��
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� � !�� '����� ��	� �	� �	$��� �	� ���,	�� ��� '! 	��� '��� ����� 	��� &�! �	?� �!���� !@��'� 	��� �,����� ���
"���=	��� ����!��& �!�� ���	����� �	�	��'�$��	������!	�'�Q������' ��%� ?��� �������'��"�!�%�!��
&�!	�������	$����	����,	��$ � $�!����	��	�	����,�����������	������	�$	���	�!���"$	���� ����	�
'	��	�& �!�� ���!�����	�!@ ���"��� ����	��'����� ��	���� &���	����� �����'��� ��	��

0��C "��	����*�$����	�!��$�� C '�� ����	�!��������	�%�!@����	�*������!	�'! 	������0	�'! 	�������
������� " �	�!	���$$	����	��������	�� ��� ���!	���$$	��*���

����	�*�
����	�����!�����������'! 	���� ����	�*�
�$ �	�%�,�����	��&�!	����o������	�*�
��&������� �	$	������'! 	����
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����� �!"�� �=$	�*?� '	��	� ����	� '���	��������<� ! "�	���*�%��W���	�!�� !	�� ��$$	������� " �	�
�����'��� ������! "�	��+�������'	�<2' ?������!	(�	!�!�����	�����!��������	���'�!'�!�	�! "�	����%�
�X���� ��!�����	��	���� �	$	����	�'	���$$	��	����CC	'��	�%�'	��	�&�!	�������!��������! "�	��W��
0	��&�!	�����	����$$	����� &����������$ �	��%�,�����! "�	��)�%���?��&	'�!��&�� C '�� ����	�!��
'����� ��	��	��	$����	����,	������' �����'! 	���! "�	������� ��!��,����! "�	��+��	�!���'������!	�
'��� �D� !�� '����� ��	� 	��� &�! �	� 	�� ! "�	� ��� !��,���� �	� !���'� !	� '��� �D� !�� '����� ��	� �@	��� ����
�	��	'��	����C �� !��$ �	�%� ,�����	��&�!	����	��� ��� ��	� ! "�	�����%������	��	�����	�	��� �	�� �	�
�����!��C "��	����+��

�
24 for to  do   
25 | if (  is a pickup node)then 
26 | | for to do  
27 | | | 
28 | | end for 
29 | | //latest starting time 
30 | | for  to do  
31 | | | 
32 | | | if ( ) then  
33 | | | |  true; call add_Arc( ) 
34 | | | else // add the clients riding time 
35 | | | | call add_Arc(
36 | | | end if   
37 | | end for 
38 | end if 
39 end for 
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0@�!"�� �=$	� *?� ' 2�	�����?� �	����	��	� !@�!"�� �=$	� "�����!	� (� � �	��	� !�� C� ��� ! ��� �@��	�
������	��������	�����I����	�������0�����	?��))�K�	�������'=�(�	����� 	�����������	���	������
!	������"���=	�����'��	�����

Algorithme 4� is_feasible_tour (Cordeau and Laporte, 2003) 

Input/Output parameters 
  : a structure containing all the trip attributes: , s[], B[], A[], D[] 

Variable parameters  
  : graph with  nodes 
  : array of latest departure date of service on each node  
  : array of integer : P[i] is the position of the associated delivery node if i is a pickup node 

Output parameters  
  : boolean,  if the trip is valid,  otherwise  
Begin 
1�  build_Cordeau_graph(t) //with only minimal time windows and distance constraints 
2�   // STEP 1 
3� for  to  do       
4� |   
5� | if (  ) then  
6� | |  true; call add_Arc  
7� | else 
8� | | call add_Arc  
9�  | end if 
10� end for 
11�      // STEP 2 
12� for  to  do 
13�  | 
14� end for 
15� if (  ) then   // STEP 3  
16� | true call add_Arc  
17� else 
18�  | call add_Arc(  ) 
19�  end if 
20�
21� for  := 2 to  do 
22� |  
23� end for 
24�  for to  do   // STEP 4 
25� | if (  is a pickup node)then 
26� | | for to do  
27�  | | | 
28�  | | end for 
29�  | | //latest starting time 
30�  | | for  to do  
31�  | | | 
32�  | | | if ( ) then  
33�  | | | |  true; call add_Arc( ) 
34�  | | | else // add the clients riding time 
35�  | | | | call add_Arc(
36�  | | | end if   
37�  | | end for 
38�  | end if 
39�  end for 
40� return { } 
End 

�
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2.3.5.� Test de réalisabilité d’un vecteur  proposé par (Firat and Woeginger, 2011) 
0@�!"�� �=$	� �������� ���� I/ ���� ���� S�	" �"	�?� �)��K� 	��� %� !@�� " �	� ��� � $�!	� �	��� �	�
���! ��� ! ����@���&	'�	��� ��.� �� !��	���B��	��������������	�����	��!	��&�!	��������' �	����< �
����!	��� CC��	������$$	�����	�� ��	�&	���B��	�!	��&�!	��������!����L�?�����!�����������$B$	�
!	��&�!	�����	������	������I����	�������0�����	?��))�K��

������ �	$	�����<�����	���!"�� �=$	������	����?�'	���!"�� �=$	�����	�'�$�!	< ��� ! ��� �	�	��
��0��� CC��	�'	��	�'�$�!	< ������& 	����	� !��'���' ����	� !@�!"�� �=$	�%� ! 	��	���	�	!!	��

'	��� �	��&�!	�����	��������	��	�& '	���

7 �� ?� !�� C "��	������ �	����	��	��	�<� ������	������� !	�(�	!!	������ ����'�!'�!�	�� !	�����	�����
�!����L�������	�!������ 	�"��'=	�	��!������ 	���� �	?��	�!	�!��C	�B��	��	��	$���$ � $�!	� $����	�
�����!	��������	��	�& '	����� �	��������	��	���%�����	��	�$�� C '�� ���	���� �	�����	������	��
���	������!����L������!�	��	$�!	��	����$$	����	�!��������	�������!	���!"�� �=$	��'!��� (�	�?�!��
$ �	� %� ,���� ��� "���=	� �	� !�� "��'=	� &	��� !�� ��� �	� �	$���	� ������� ����� 9�?� ���� ����� !	��
��$$	��?� !�� $�� C '�� ��� '��� ��	� %� �,���	�� +� �� ���� �	� �	$��� (� � �	����	��	� !����	��	�
����!�$	��� �	� ������ �	�����!	���	$ 	����$$	��	��(� ���	��������"�	���

0� ��	� �	� !��!"�� �=$	� �������� ���� I/ ���� ���� S�	" �"	�?� �)��K� '��� ��	?� ����� '	��� �	��
'��� � ���?�%�! 	����������$B$	�"����	�!	����$$	������"���=	��� ��%�����' 	���	��&�!	������<�
"����	��	�������!�����<���$$	���'�$$	����'��	$$	����7 �� � !��$ �	�%� ,�����	����$$	���
�����$B$	�"����	�	���	CC	'���	�	�� ��
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0@�!"�� �=$	����'#�	�	���!�� 	��������	��
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�� ����	��� 
� '=��"	���	�&�� ��!	?��C ���	����&� �� ����	$�!	�� !	�� ��$$	�����������$B$	�
"����	�� 0@�!"�� �=$	� �	� '�!'�!	� �!��� !	�� ���	�� �	� ������ $� �� �@ ����	��	� ��� �	$���
�����	��	����&�= '�!	�E�

�� ����	���
�'������ �	�!	�"���=	�����' ��E�
�� ����	���
�'�!'�!	��!	�����	���	�������%��	��	��	$�!	��E�
�� ����	�*�
��&�!�	��!	�"���=	�E�
�� ����	�+�
��	&	� ��%�!����!�� �����

��$$	������ !@�&�!��� ��� �	� I����	��� ���� 0�����	?� �))�K?� !@�!"�� �=$	� +?� ��	��� 	�� 	����	2
���� 	������,	�� �'������ ��%�!@� �	��@���&	'�	��� ���!�	���'�$������	��!�� 	�������� ����?�'	��� ���
 � � �! ��	��%�!@� �	��	� �'�$$	�!	���$��	��	���$$	��� �� �� �(�	�!��! ��	��	����$$	����cd��
0	������	������ �����������CC	'����� � �	���&�! �	��0��C��'� ����	�����	�������!�	��(� �	����"�!�%�
&�� ������'	�'���	��C��<�� �����
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��	��	$�!	��	�&�� ��!	��	�����'	��� �	�������!@	<�'�� ����	�!@�!"�� �=$	�
���	�� !	��@	�� 	��?�
��� "���=	� � �� � (�	� �	�� �!�$	���� (� � ����� ��'� ��� ����� !�� �� �	� �	� '	� ����"���=	�� �	��
� CC��	��	������	����������� !!�	�������!	������ 	���� &���	���

Algorithme 5�  is_feasible_tour (Firat and Woeginger, 2011) 

Input/Output parameters 
  : a structure containing all the trip attributes: , s[], B[], A[], D[] 

Variable parameters 
  : stack of integers 
   : graph with  nodes 
  : vector for sets representation 
  : value associated with each set 
Output parameters 
  : boolean,  if the trip is valid,  otherwise  

Begin 
1� STEP 1 : compute new variables
2� STEP 2 : build the graph
3� STEP 3 : initialize the sets and variables
4�  STEP 4 : compute the lowest  on nodes
5�  STEP 5 : check violation and compute  
6� return { } 
End 

Etape 1 : changer de variable 
�����'�$��	���	�'	��	�����	� !�C�������	��(�	?�!������	�	���	�!	��������������L��	��!	����������
�	�& '	� ���� ��� ��$$	�� �	� '�$���	� �	� �	�<� ����	�� � �� �'�	��
� ��	� ���� 	� ��� �	$��� �������
!�(�	!!	� !	� &�= '�!	� �	� ���!�'	� 	�� !�����	� ���� 	� �D�  !� ���	���� 0	� �	$��� �	� ���!�'	$	���
'���	������%�!����$$	��	���	$����	����,	��	���	�!	����$$	����	�!��������	�������L��,��(�@���
��$$	�� '��� ����� E� !	� �	$��� �@���	��	� '���	������ %� !�� ��$$	� �	�� ���	��	�� ���� !	� ��$$	��
'��� ������ �� �(�	�'	�<�(� �!	����'#�	�������� �����'?��������� ������?�!	��������	���	�&	���
�&� �� �	�� ���	�� �	� ������ �	� �	�& '	� � CC��	��	�� ����� ��� $B$	� ��$$	�� 	�� C��'� ��� �	� !��
��! � (�	��	����'����������	&��'=	?�!	��	$����	����!�'	$	������&�= '�!	�	��� �&�� ��!	����	���
���'�!	��	$����@���	��	�(� ���C � ��!����! � (�	��	����'�������

0	� �	$��� �	� �	�& '	?� (� � '���	������ ��� �	$��� ����� ��	���	� 	�� '=��"	� !	�� '! 	���� ����� !	�
&�= '�!	?� 	��� '�������� ���� '=�(�	� ��$$	��� �!� �	��� ���'� B��	�  �'!��� ����� !	� �	$��� �	�
���!�'	$	���������	��	��	�"�����! ����

0����	$ #�	�  ��	��	� !@�!"�� �=$	��	�I/ ��������S�	" �"	�?��)��K�	����	������ $	�� !	� �	$���
��'	��� �	�������	����!�'	���	���$$	��	����$$	��������'	!�?��	�<����&	!!	��&�� ��!	�������
�@ ������ �	�������'=�(�	���$$	�� �
�

�� �
� !	� �	$����@���	��	����&�= '�!	�	���	� !	��������������L��	�� !	�����������	�& '	 ?�
'	��	�&�� ��!	�&����
�

�� �
�!����$$	��	���	$����	����,	��	���	��	�& '	�	���	�!	��������������L��	��!	���$$	�� ���
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�!� 	���  $�������� �	� ���	�� (�	� ��	��� B��	� '�!'�!�	� ����� ����� !	�� ��$$	��� 	�� �� �����
�!"�� �=$	�X?�!��&�!��� ���'	��	�����	�'���	��������<�! "�	���!!�����	���%�*?�(� �������	�� �	��
�����!��C "��	�������

1�  
2� for to do   
3� |  
4� end for
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��$$	��� �	� !�� ������	� 	��� �"�!� %� !�� ��$$	� �	�� ���	��	�� 	�� ��<� �	$��� �	� ���!�'	$	��� ���
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?� � �
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Etape 2 : construire le graphe 
0@����	� �� '��� ��	� %� '������ �	� !	� "���=	� �'���	��������� %� ������ ���! (�	�� !��&�!��� ����
���������������"���=	� ����'#�	��?��	�!	��!	��&�!	�����	����'��'=��"	����������!"�� �=$	�X?�!��
'������'� �����	����������� !!�	�$� ��'���	������%�!��! "�	�+?��	�� �	������!��C "��	����X��

�
5� 
 build_Firat_graph( ) 
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�?� �@���#��I��K� �

I�@�K�

��@���#��I��K� �

I�@�K�

0�� C "��	� ���W� ����	� ��	� �	����	���� ��� ��� "���=	� '���	��������� %� ��� ����!#$	�
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�	$�������' �	��%�'=�(�	������� ����� ��������	���'�������� ������ � C��!���� �	����� & �!	$	���
���� &�! �	� '���  !� 	< ��	� ��� '-'!	� ��� � C� '�$����� �	� '	�� ��'� 	�� �	�� ��'��  ����� �	� !��
'����� ��	 ������!	��'�Q����������!���0�����	�!��'������'� ������"���=	?���	�����	�'��� ��	�
���'�%�&�� C 	��!��&�!	����	����'���� ������'��	��	��	'�	�����'	��	������ �����!����!	�&	'�	��� �
�	��� B��	� $��(��� '�$$	� ���� &�! �	� E� ����� ���	� �� �	�� ���	�� �	� ������ (� � $ � $ �	��� !��
& �!�� ���'�$$	������!@�!"�� �=$	��	�I����	�������0�����	?��))�K�!��&�!	����	�!@��'��	�'�Q��
��� � C�	���C <�	�%�)��

Exemple :  
0�� C "��	� ���)� I�K� �	��	��� !	� "���=	 ��	� !�� C "��	� ���*� 	�� !�� C "��	� ���)� I�K� �	����	��	� !	�
"���=	 ��� ! ��������!@�&�!��� ����	�I/ ��������S�	" �"	�?��)��K��0	����'������	��(�	�'	�<�
�	����	������ !	�� C	�B��	�� �	� �	$��� $ � $�!	�� ����� ����� ��"�� C�� ��� ��!��� ���'?� ����� '	��
	<	$�!	� !�	������� �!	��	�'��� ��	��!@�&�!��� ����
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��$$	�!	���	�!����'����� '�	$	������ � C���	� ������ ����������$$	��C '� C�)?�� ����'-'!	��	�
'�Q�� ��� � C� 	< ��	� �!����  !� '�$����	� !	� ��$$	� ��0	� '-'!	� 	��� ���'� '���� ���� ���$ � $�$�
�@�����'�	�����������)�(� �'���	������%���	�'����� ��	��	�C	�B��	��	��	$���$ � $�!	�	�������'�
���������	�)�(� �'���	������%���	�'����� ��	��	�C	�B��	��	��	$���$�< $�!	��

Etape 3 : associer les dates de début  
0	�"���=	� ���	���%�!@����	����'��	��	��	���B��	��&�!����	�!��$B$	�$�� #�	�(�	�!	�"���=	�

?� �&	'� !@�!"�� �=$	� �	� �!��� '����� '=	$ �� ��� 	�'��	� �&	'� !@�!"�� �=$	� �	� I����	��� ����
0�����	?��))�K�	��!��'�$�!	< ����	��	�	�� ��������&�!�	��'	�"���=	��&	'���	�'�$�!	< ���
! ��� �	?���	����&	!!	�����'���	��	��-�	�������'��	�	��� ������ �	���!!	�������	��	�������� ����
	CC '�'	���	��	'=	�'=	�	���	�C�� ����	�����2	��	$�!	���
��	��	$�!	��	���$$	���	��?�'�$$	�
������$�!@ �� (�	?�!	��	"����	$	����	��!�� 	������$$	����	�!��������	��1����!	����$$	���(� �
������ 	��	������$B$	�	��	$�!	��������!��$B$	�&�!	��� ��

�� � �!	$	��?� ����� !@�!"�� �=$	?� %� '=�(�	� ��$$	� ��	� �	��� ����' �� ��� 	��	$�!	� (� � �	�
'�$���	��� (�	$	��������$$	� ���@	�������(�� � !	��	��	$�!	����������������� !���� �	� ?�
�&	'� �!@	��	$�!	� ����� !	(�	!� � !	� ���$$	�� ��	� �	���  � � �!	$	��� �CC	'���� ���� 	<	$�!	?�
�������	�������	��&	'���'! 	����I'�$$	������!	��	<	$�!	�����'��	���K?�!	��	��	$�!	�� � � ��<�
�����
�
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�� �?����'������	�!@�!"�� �=$	?�'	��� ���	��	$�!	�������C�� �������7��C ��!?�!	��	��	$�!	�������
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E E �

�����$�� ��!	��'	��	��	$�!	�?��	�<������� �����������'	��� �	��
� �(� ��	�$	���	�����&	��
%� (�	!� 	��	$�!	� ������ 	��� ��� ��$$	�� 	�� �(� � �	�$	�� �	� C� �	� !@�� ��� �	� �	�<�
	��	$�!	���7&�����	�����	��	��'	���	�<�C��'� ���?� !�C���� ������ �	�!���	����	���� ���(� �	���
�� ! ��	������$�� ��!	��'	��	��	$�!	���

0	�� 	��	$�!	�� ����� ���'A��� ����� ��� &	'�	��� �	� �� !!	 ?� '�$$	� !	� $����	� !�� C "��	� ������
�=�(�	� '��	� �	� '	� &	'�	��� ����� �'���	������ %� ��� ��$$	�� �	� �� 0�� &�!	��� �	� '=�(�	� '��	�
'���	������ �� �� %� !@ �� '	� �@��� ����	� ��$$	��  �'!��� ����� !@	��	$�!	� �� �� %� !@ �� '	� �	�
!@	��	$�!	�!� 2$B$	��0@ �� '	��	�!@	��	$�!	�	������	 ���!���(�	�!��&�!	����	�!��'��	�	����"�!	�%�
!@ �� '	����&	'�	����
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0@�!"�� �=$	� ����! (�������!	�&	'�	��� ��	�$	���	��	����&	��!@ �� '	��	�!@	��	$�!	���(�	!�
������ 	��������$$	���	� �� �!� 	�����C � �������!"�� �=$	���� �!���	���	�� ��"�$	��� !	�&	'�	���

�	��	��	$�!	��	�� !����� � ��������$$	������� ���	��	� C��'� ���	�����'� �	� �������	�C��$	�
��'��� &	� 
� � � 	!!	� �@	��� ���� ���� !@ �� '	� �	� !@	��	$�!	?� !�� C��'� ��� �	'=	�'=	� ! "�	� �� %� (�	!�
	��	$�!	� ������ 	��� !	� ���&	��� �M���� 9�� ���#�	� !@������ ��� ,��(��%� ���	� �� !@ �� '	� �	�
!@	��	$�!	?�'�	��2%2� �	�!���(�	 ���

Algorithme 6� find 

Input/Output parameter 
 []  : vector of sets  

Input parameter 
   : position of the node in the trip 

Output parameters 
 [ ] : indices of sets which contain node   

Begin 
1� if ( [ ] !=  ) then 
2�    [ ] := call find ( , ) 
3� endif 
4� return [ ] 
End 

�����'	��	�&	�� ����	�!@�!"�� �=$	?�!��! "�	����	�$	�?���	�C� ��!	�����!�������	��?��	�$	���	�%�
,����!	��&�!	��������� ��C ���	�� $�! C 	��!	�����	!���� &���	��%� ��0��C "��	����������	����
	<	$�!	����&	'�	��� ����	������#���&� �� �	'=	�'=�� !@	��	$�!	�����' ����� ���$$	���	� �
�����!	�&	'�	��� ��	�!��C "��	�����?��������(�	��!�� 	����&	'�	���� �� CC��	�����	�&	������'�
'���	������	����$B$	�	��	$�!	��
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0���	�< #$	������� ���	���!@�� ����	��	�<�	��	$�!	��� ���	���	����"�$	���� �� �� �(�	�
�	�<� �� '	��'���	���������%��	�<���$$	���� CC��	�����	� ��0	�C��'� ���	$	����	� 
	���
��C � ������!@�!"�� �=$	��������!	��! "�	����	���?�����	'=	�'=	�!	��	��	$�!	��'���	���������%�
'	�� �	�<� ��$$	���� ����� !	�� C�� ���	�?� ��� $�� C 	� 	��� �	� ��	� �� (�	� &�!	��� ���� �� �	��	�
&�!	���	���'	!!	�(� �'���	������%�!@ �� '	��	�!@	��	$�!	������!	(�	!�	��� �'!���!	� ��$$	����

0	���!"�� �=$	���	� ��� ! �	���!	��!������&	���!	���$��	��@�!�$	����'���	���������
'=�'��� �	�� 	��	$�!	�� ����� '=� � �� (�	!�  ��	�&�!!	� �� �� B��	�  �'!��� ����� !@����	�� �	��
�!"�� �=$	�� ���C��	��� ����� $	�� !@	��	$�!	� !	� �!��� �	� �� ����� C�' ! �	�� !	�� C����	��
������ ��� �� ����� !@�!"�� �=$	� �	� I/ ���� ���� S�	" �"	�?� �)��K� '@	��� �� (�	$	���
!@	��	$�!	��&	'� !	��!����	� ��  �� '	�(� �	��� '���	�&���0	�� �� ������	�'	� '=� <������������	��
�����!@����	�*��

Algorithme 7� union 

Procedure name: evaluation 

Input/output parameters 
   : List of sets 

Input parameters 
  : position of a node in the first set 
   : position of a node in the second set 
Begin 
1�  := call find ( ,  ) 
2�  := call find ( ,  ) 
3�  
End 

0�� C "��	����*?� �	����	��	� ����#�� !�� C�� ����	� !@	��	$�!	�����' �������$$	��*� I��$$	��	��
���� � ��K� 	�� �� I��$$	�� 	�� ��� � ��K��9�� '������	� (�	� !	� ���$$	�� 	��� ����� !	�

$B$	�	��	$�!	�(�	�!	� �	��(�� !��@����������$ ��%� ,�����0	��	��	$�!	������!������	�'	��	�
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� E E�

�
�

�

�
�

�

�
(���

� �"7���
��
�
� ���
*%��;I�����	
����
��H �
��D�H�9��

����� !@����	� �� &���	?� %� '=�(�	� 	��	$�!	� 	��� ����' �	� ��	� &�!	��� (� � �	����	��	� !@���	��	�
$ � $�!	�(�	��� ���	��	'�	��!	�&�= '�!	��&�����	���� �	��!	����$$	���'���	���������!@	��	$�!	��
7 �� � ����� !�� �� �	� ��� '=�� ��	?� ��� ���!	��� �	� �	�<� ! "�	�� 	��� �� ! ���� �=�(�	� '�!���	�
�	����	��	� ��� ��$$	�� �	� ?� !�� ��	$ #�	� ! "�	� �	����	��	� !	�� 	��	$�!	�?� '�$$	� 	<�! (���
���'��	$$	��?� 	�� !�� �	'���	� ! "�	� '���	������ ��<� &�!	���� �����' �	�� ��<� 	��	$�!	���
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�=�(�	� 	��	$�!	� %� ��	� �� (�	� &�!	��� (� � 	��� ���'A�	� ����� !�� '�!���	� '���	��������� ���
��$$	�� � � �!��	�!@	��	$�!	�
����	<	$�!	�	��������������!��C "��	����+��
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�����!@�!"�� �=$	�X?�!� � � �! ��� ����	��	��	$�!	��	���	CC	'���	��	�!��! "�	���%�!��! "�	�X?�(� �
������	�� �	�������!��C "��	��������

�
6� for to  do
7 | ;  0 ; 
8 end for 

(���

� �"<������
����
�	
��(�
�����	�6�
����

�� !))?�+���
�"�

��$$	� 	<�! (��� ���'��	$$	��?� !	�� 	��	$�!	�� ����� ���'A��� ����� �	�� !	���� &�!	���� �����
���'A�	�� ���� �� �!�� �����  � � �! ���� �&	'� ��� ��$$	�� ���� 	��	$�!	� 	�� !�� &�!	��� ����' �	� %�
'=�'���	����"�!	�)��0��C "��	�����?��	����	��	�!	��� CC��	�����!�$	�������#��!@ � � �! ��� ��������
!@	<	$�!	�����76��'�$����	��� (�	$	����	���'! 	������
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0	��C��'� ���� �	�� �������� ! ��	��%��!�� 	�����	�� �	�������!	������	��*�	��+��

Etape 4 : évaluer le graphe  
����� !��!"�� �=$	� X?�  !� �� ���� C� �� !	� '=� <� ��	<�! (�	�� !	� C��'� ���	$	��� �	� !�� C��'� ���
�������	�����I/ ��������S�	" �"	�?��)��K������!	�'�!'�!��	�����	������!����L����	��	�����	��	�
�����!	��	�!��! "�	����%�!��! "�	���?���!!	���� &	����#��!� � � �! ��� ����	��	��	$�!	��	���	�!	����
&�!	��������' �	��	��'�$$	�'	�������	� � � �! ��� ��?�! "�	��W�	���)��0��!�$	��� � � � �! ���
I! "�	� �)K� 	��� ��	� ����'���	� '!��� (�	� (� � �	�$	�� %� !��!"�� �=$	� �	� ���'A	�� !	�� � CC��	����
 �� '	��(� �'���	�����	�����<�	��	$�!	����!!	�	��� � � �!	$	���& �	���

0@�&�!��� ��� '��� ��	� %� '�!'�!	�� !	� �!��� !��"� '=	$ �� 	���	� !	� ��$$	�� �	�� ����� !	�� ����	��
��$$	������"���=	����$$	������ !@�!"�� �=$	������������� I����	�������0�����	?��))�K?� !	�
"���=	�	����&�!����!�� 	����C� ��	����	�����	��'�$��	��	����'��� CC��	����������!@����	�*?�!	��
��'�� '���	���������� ��<� C	�B��	�� �	� �	$��� $�< $�!	�� ����� �$ ��� 0	� "���=	� ����!����� 	���
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0@�!"�� �=$	�'�!'�!	�!	���!���!��"��'=	$ ���	���	�!	����L��I)K�	��!	����$$	���	� ��0���(�����
�!��� !��"� '=	$ �� ����	� ���� ��� �	�� ��'�� =�� 8�����<� �	� '�Q�� ��!?� �!���� !	�� ��$$	��� ��<�
	<���$ ���� �	� !���'� ���� !��$B$	�&�!	��� 	��  !�� ����� ! ���� 0	�� ��$$	��� ����� �!���� ����' ��� ���
$B$	�	��	$�!	��

��������	� ����	�'�$�!	< ���! ��� �	?� !�����	��	���� �	$	����	����$$	���	���  $��������������
?�� �!	����'��=�� 8�����<��	�'�Q����!����������� $��?��!���� !�	< ��	��������	�����!�" (�	�(� �

'��� ��	� %� ��� �	�� !	� ��$$	�� C '� C�)��� �� %����'��� �� !	�� ��$$	�������� !�����	�  �&	��	��	� ��
1����!	����'��	���	�!	����$$	����������� 	����������!	��	��� �&	��	?�!	���� �	$	���!	����$$	���
�	� C� �� ���'� 	�� �� &���� !@����	� ����!�" (�	?� '�$$	�  !!������ ���� !�� C "��	� ���W�� ���� '=�(�	�
��$$	�?��	�<�����	��� �� �'�	����������! ��	���0����	$ #�	�'��� ��	�%����	� ��!��&�!	�������!���
'�����'=	$ ��	���	�)�	�� !	� ��$$	��'������� �������	���	�	�� '�$��	� !	����'���	�&�!	���)��0��
�	�< #$	������"	�!��&�!	�������&�	�&	���!	����$$	�����,%���� ������
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0	� ��$��	� �@��'�� 	�������� ���� !	� ��$$	�� ����	��� ��� �-�	� �	� �M��� 	��  !� 	��� ���
$�< $�$��	��������!	�'����	����$$	�������' ���%�!@�� " �	��@���'! 	�����

0�� � CC��	�'	� ���� �������� %� !�� C��$�!	� �	� �!��� !��"� '=	$ �� '!��� (�	� 	��� !��� ! ��� ��� �	� !��
C��'� ��� ���������	� ��!��&�!	���'���	���������%�!@	��	$�!	�����' �������$$	���@�� " �	�
�	�!@��'���

0���	'���	����� 	�'��� ��	�%�C�� ���	��!	��	��	$�!	��(� �������,%����� ��� �����&	'�!@	��	$�!	�
'������� � � !�� &�!	��� ���	��	� 	��� �!��� �!	&�	� (�	� !�� &�!	��� '�!'�!�	� ���� !	�� 	��	$�!	��
���'��	���������'������'� ��?�'	��	��	$�!	��������� �����������	�'�� �����
����!	��&�!	�����	� ?�
���'� !	� ���'����� �	� C� �� ��� ��$$	�� '������� &	��� !�� C �� �	� !�� ������	� '�$$	�  !!������ ���� !��
C "��	� ��*)�� � � !�� &�!	��� �	�'�����	� ���� !@��� �	�� 	��	$�!	�� ���'��	���� 	��� ����� 	��	� %� !��
&�!	��� �	� !@	��	$�!	� '������� �!���� !�� �	�< #$	� ����	� 	��� �	�$ ��	� 	�� !@�!"�� �=$	� ����	� ���
��$$	���� &�����
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	CC	'���	�%�!@� �	��	�!��C��'� ���'��	����! (��	�%������!	����$$	�����,%���� ������@	�������(�� �
��	�� !	��@	�� 	��?�'������ �	�%�'=�(�	�����	��	�!@�!"�� �=$	?�	����� ! ��	���������'A	�?���������	�
'�� �������	�� ?�!	�� �� '	���	��	��	$�!	��'���	�������	����$$	�����

0	�C��'� ���	$	���	���!	��� &����
����������	�(�	�!��� !	�'��� 	��	�!	�� �� '	���	��	��	$�!	��
���'��	���� ���� & �	�� �� ��� ���� ����	� '�� ������ �	�� �� 0	�� 	��	$�!	�� ����� �!���� ��� !��� 	��
C�� ������ ,��(��%� ���	� �� ��� 	��	$�!	� ����� !�� &�!	��� 	��� ����� 	��	� %� !�� &�!	��� ��	�
!@	��	$�!	�'��������7�!��C �?�� ���'���	��	$�!	��	�&�!	�������� 	��	�% ��@��� ������	��?��!����
!�� � !	� 	��� & �	� 	�� !@	��	$�!	� '������� 	��� �,������ � � ��� �	!� 	��	$�!	� 	��� ���	��?� �!����
!@�!"�� �=$	�	$� !	����� �� '	��&�����@	$� !	��'	!� �'���	���������������&	!�	��	$�!	�������
!	�� �	�<� '��?� � � !�� � !	� ���� �� �	�  � � �!	$	��?� �!���� 	!!	� �	��	� �� �	� ���� ����	� '�� ������ �	��
&�!	���� �	���	�!�!	�� �� '	���	��	��	$�!	������& �	�����������	�����
�����!@�!"�� �=$	�X�'	��	�����	�'���	��������<�! "�	�����%���?��	�� �	�������!��C "��	���*X��

�
W�  :=     
10  
11 for to  do      
12 | find cst  

13 | do 
14 | | all pop(stack) 
15 | | if ( ) then  
16 | | | union( , ) 
17 | | else  
18 | | | push(  
19 | | | stop  
20 | | end if 
21 | while (stack pnull)&& (stop = ) 
22 | call push( , )  
23 end for 
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'���	��	�!@�� (�	���'�	��������	�&�!	����X��0@ �� '	���	������ !�?�'�$$	�)?�&�!	�������' �	�%�
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0	� ��$$	�� ��� ��� %� !@ ����� ��� �� &���	
 	��� !	� ��$$	�� �� ����' �� %� !@	��	$�!	� *�� 0@	��	$�!	�
��	���!��&�!	����)��Q�%�!@�� (�	���'�	��������	�&�!	����)��0@ �� '	�+�	������ !��	��'�$$	��X?�
&�!	�������' �	�%�!@	��	$�!	�+?�	�������� 	��	�%��)?�&�!	�������' �	�%�!@	��	$�!	�*?� !��@-�������
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'����'�� C���0@�!"�� �=$	��	��	������� C�� ���	�� !@	��	$�!	�  �� '�����&	'����	��	$�!	�����	�
(�	� '	!� �  �� '�� ��� ����� '	��	� � ���� ��� '�$$	�  !� �� ���� ��$������ ���� I5���R� ���� 1��,��?�
�WX+K� ��	� ��(�	�'	� �	� ������� ���� �@ Z ����� ��!�$	���� �	��� B��	� 	<�'���	� 	��

�������!������ 	��?�'=�(�	���$$	��	������ �����	��	�!	�C� ��������'	��	����� 	���'��	�
��@	������! ��	?�	�������$��	��	� � �C�� 	���%� �	�����'	��� �	�����'=�(�	���$$	����!�

'���	������ ��� ��$��	� $�< $�!� �@��'�� 	�������� ����� !@����	� �?� !�� C��'� �� ��@	��� ����
�� ! ��	� 	�� ��� ����!?� (����� ����� !	�� ��$$	��� ���� ���� ��� ���?� !	� ��$��	� �@���	!�� %� �	���
�"�!?������!	�� �	��	��'��?������$��	��@�!�$	����'@	���%�� �	 ��0	���$��	��@������ ���� �	���
���'��"�!������!	�� �	�'���%� �	�����'�!��'�$�!	< �������!	�	���	� �

Etape 5 : revenir à la solution 
7� !�� C �� �	� !@����	� *� �	� !@�!"�� �=$	?� !	�� &�!	���� ���	��	�� �	����	��	��� !	�� &�!	���� �	�� �
$ � $�!	������������ !	����$$	��� ��	� ���	��&�!	���������������	��	��������	� ��'�$��	��	��
'����� ��	���	�C	�B��	��	��	$���$�< $�!	�'�$$	�	<�! (������'��	$$	���������!@�!"�� �=$	�
X?�'	��	��	�� #�	�����	�'���	��������<�! "�	���*�%��)�(� ����������	�� �	�������!��C "��	���*W���

�
24 for to  do  // STEP 5 : check violation and compute  
25 | find  
26 | if ( ) then  
27 | |  
28 | end if   
29 |  
30 end for 
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0@����	� +� '��� ��	� ��	$ #�	$	��� %� &�� C 	�� (�	� �	��� &�! �	� ����� !	�� &�!	���� �	� ����	��	��
�� �� ����� ��� �	'���� �	$��� %� '�!'�!	�� !	�� ���	�� �	� ������ �	� �	�& '	� ���� '=�(�	� ��$$	� �
'���	������������$$	� 	<�! (��� ���'��	$$	��?� �	��� &�! �	� �� (�	$	��� �@ !� �@	< ��	� ���� �	�
'-'!	��	�'�Q����� � C�	�?������!��'������'� ������"���=	� !�������$ ��	���& �	�'	�(�	�� ����'-'!	�
	< ��	� �!����  !� ����	� ���� !	� ��$$	�� )�� 0�� �	�� #�	� ����	� '��� ��	� %� �� ! �	�� !	�� �!��� !��"��
'=	$ ����	�)�%� �(� ���������'�!'�!���%�!�����	�*�	��%��,���	��%�'	��	�&�!	���!	�'�Q���	�!@��'�	���	�

	�� �� � � ����� ��� $� ��� ��� ��$$	�� �!	� ����!���� 	��� ��� � C� �!����  !� 	< ��	� ��� '-'!	� �	� '�Q��
��� � C?�� ���� �	���&�! �	�	��!	��&�!	�����	�� ��	�&	���B��	�'�!'�!�	���7&	'�!	��&�!	�����	�� ?�
!	�����	���	��������	��	�& '	� ������'=�(�	���$$	������� C�' !	$	���'�!'�!��!	��%� !@� �	��	�
!@�(��� ���I��K�	���	��&�!	���� �(� ���������'�!'�!�	��%�!�����	����	�!��!"�� �=$	�+��

��������	� ��!	��&�!	�����	�� ?�!��C��'� ��� �	������	!�	�%�!��! "�	��+��	�!@�!"�� �=$	�X�����
'=�(�	���$$	���	� ��0��C "��	���+)� !!����	�!@����	�+��	�!@�!"�� �=$	?�!	��&�!	�����	����$$	���
����� ����&�	�� %� !@� �	��	� !�� C��'� ��� �	�� �	��&	'�	���� 	�� ������� '	�� 	<	$�!	� �	���
&�! �	?� !	�� ����!����� ���	���� ����� ���'A��� ����� !	� ���!	�� �� �!�� '���	�����	��� ��<� &�!	����
���	��	��%�!@� �	�����!���!��"�'=	$ �������!	�"���=	 ��
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0@�!"�� �=$	� X?� ' 2�	�����?� ����	��	� !@�!"�� �=$	� "�����!	� ��� �	��� �	� !�� C� ��� ! ��� �@��	�
������	��������	�����I/ ��������S�	" �"	�?��)��K�	�������'=�(�	����� 	�����������	���	������
!	������"���=	�����'��	������

Algorithme 8� is_faisable_tour (Firat and Woeginger, 2011) 

Input/Output parameters 
  : a structure containing all the trip attributes: , s[], B[], A[], D[] 

Global parameters 
   :  distance of the arc  

Variable parameters 
  : stack of integers 
   : graph with  nodes 
  : vector for sets representation 
  : value associated with each set 
Output parameters 
  : boolean,  if the trip is valid,  otherwise  

Begin 
1�        // STEP 1 : compute new variables
2�  for to do   
3�  |  
4�  end for
5� build_Firat_graph( ) // STEP 2 : build the graph
6� for to  do    // STEP 3 : initialize the sets and variables
7�  | ;  0 ;  
8�  end for 
9�  :=     // STEP 4 : compute the lowest  on nodes
10�  
11�  for to  do      
12�  | find cst  

13� | do 
14�  | | all pop(stack) 
15�  | | if ( ) then  
16�  | | | union( , ) 
17�  | | else  
18�  | | | push(  
19�  | | | stop  
20�  | | end if 
21�  | while (stackpnull)&& (stop = ) 
22� | call push( , )  
23�  end for 
24�  for to  do    // STEP 5 : check violation and compute  
25� | find  
26�  | if ( ) then  
27�  | |  
28�  | end if   
29�  |  
30�  end for 
31� return { } 

End 

�	��	�C��'� ����	�'�$�!	< ���! ��� �	������!	�'�!'�!��	�����	���	��������	��	�& '	�����!����L��
�	���B��	�������	������'�!'�!	��!	�����	������!��������������'	!��!@�!"�� �=$	�	���� $ !� �	�$� ��
 !� C���� ���&� !!	�� ����� !	� "���=	� ?� &	�� ��� $�� C �	� �	� ��	!��� !	� $B$	� �� �' �	�  !!������
����� !���	'� ��������?�	�����'��� �� !	����$$	����	���&	��� �	��'�!'�!���� !��&�!	���$ � $�!	�
���&	������	����'��	��������
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�!�	������� �!	��@���	� ���	������!��������'=	���	�'	�<�C���� ������!@�!"�� �=$	��	�I����	�������
0�����	?��))�K?��&	'��	��������	�������!	���	$����	����,	��	�� !�����	��	��������������L�������
 �	�� (�	�?��$� ���D�!	�����	���	��������	��	�& '	�����!	��'! 	�����	�&	���B��	�� CC��	��	��������
'	!�� !�C����*�����	��
�!����	$ #�	�'��� ��	�%��&�!�	�� ��&	'�!	�����	����<��!����L����������	� ��

�!�� ���	� �	� C �� ��� �!��� �L�� E� !�� �	�< #$	� ����	� '��� ��	� %� �,���	�� ��	� C	�B��	� �	� �	$���
$�< $�!	� �"�!	� %� ����� !	� ���L�� C ��!� �� �� %� �&�!�	�� ��&	'� �	�� ���	�� ��� �!��� ����� E� !��
��� � #$	�����	�'��� ��	�%�$�� C 	��!��C	�B��	��	��	$���$ � $�!	�����!	����L�� � � �!������(�@ !�
�� ���"�!�% ��0���	�� #�	�����	�'��� ��	�%����&�!�	�� ��&	'�!	�����	����<��!����L����=�(�	�����	�
��	CC	'������	� ��

2.3.6.� Comparaisons des différentes fonctions d'évaluation 
0��$��=��	��	�I����	�������0�����	?��))�K�� �� �(�	�'	!!	��	�I/ ��������S�	" �"	�?��)��K�
������	� ����� ���	� �� !	�� $B$	�� &�!	���� (�	� I����	��� ���� 0�����	?� �))�K� ���� ����
 $�!�$	���	���0��'�$�!	< ���! ��� �	�����' �	�%�!@�!"�� �=$	��	�I/ ��������S�	" �"	�?��)��K�
!	� �	����!���  ����	������(�	� !@�!"�� �=$	��������� ���� I����	��� ���� 0�����	?� �))�K� ����� !	��
"����	�� �����'	�?��D��	��'�����	�'! 	������������ �����������$B$	�&�= '�!	��

����� !	�� ��	� �	� �	� �� !!	?� !	�� "� ��� 	�� �	$��� "������� ���� !@�!"�� �=$	� �	� I/ ���� ����
S�	" �"	�?� �)��K� ���� �������� %� !@�!"�� �=$	� �	� I����	��� ���� 0�����	?� �))�K� ����� $� ���
� "� C '�� C���� �(�	�'=�(�	� ����� ����	�!@�!"�� �=$	��	� I/ ��������S�	" �"	�?��)��K��@�&#�	�
�!���'�Q�	��	�(�@��	� ����� ����	�!@�!"�� �=$	��	�I����	�������0�����	?��))�K��

�

�����'�$���	��'	���	�<�C��'� ���?��	�� �'�$�������	���%����'! 	����I�� " �	?�	�� ��� ��K�����
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Algorithme 9� initialization 

Local variable  
  : graph 
 P  : partition  
   : pickup nodes order 

Output parameters 
 sol   : solution  

Begin 
1�  // STEP 1  
2�  for (i :=1 to n) do 
3�   for (j := i+1 to n) do 
4�    res := call check_precedence (  ) 
5�    if (res = 1) 
6�     call add_arc ( ) 
7�    endif 
8�    if (res = 2)  
9�     call add_arc ( ) 
10�    endif 
11�   endo 
12�  endo 
13�  // STEP 2 
14�  P := call compute_partition (G) 
15� // STEP 3 
16�   := call compute_order (P) 
17�  sol := call generate_solution ( ) 
18� return sol 
end 
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Algorithme 10� check_precedence 

Input parameters  
  : client 
  : client  
Local variables  
  : trip corresponding to the permutation lists with k {1…6} 

Output parameters 
 Res  : 1 ->  before  
    2 ->  before ,  
   3 -> otherwise 

Begin 
1�  k :=1  
2�  test1:= false 
3�  while (test1 = false) and (k <= 3) do 
4�  | { test1} := call is_feasible_tour( ) 
5�  | k := k+1 
6�  End while 
7�  test2:= false 
8�  while (test2 = false) and (k <= 6) do 
9�  | {test2 } := call is_ feasible_tour( )  
10�  | k := k+1 
11�  End while 
12�  if (test1= true) and (test2 = false) then 
13�  | return 1 
14�  End if  
15�  if (test1= false) and (test2 = true) then 
16�  | return 2 
17�  End if 
18�  return 3 
End 
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'-'!	�	�������� $�	����"���=	��

2.4.2.� Construction d’une partition 
0@��,	'� C�	����	������C��$	��!	�"���=	� �	����	����� � ��� ���	��	�����	�'���	������%�!��! "�	�
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Algorithme 11� compute_partition 

Input parameters  
  : graph 

Output parameters 
  : partition with   

Begin 
1� k :=0 
2� while (   ) do 
3� | :=  
4� | for all  in  do 
5� | |  
6� | | if ( ) then 
7� | | |  
8� | | |  
9� | | |  
10� | | end if  
11� | | if ( ) then 
12� | | |  
13� | | else 
14� | | | ( ) 
15� | | | 
16� | | end if 
17� | end for 
18� end while 
19� return P 
End 
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0���(�@��	� ����'	� 	��� ����&�	� I! "�	�� �� %� �)K?� 	!!	� 	��� ����� $�	� �	� �	�� �,����	� ��� �
� &	����	 ��
�	�C� �������!	����$$	����	� ���'�����?�!	�"���=	��	'�$$	�'	������!	�� &	���
�� &����� ����$� ��������'��������,�����! "�	������ ����!	�"���=	� �'��� 	������$� ������'-'!	�
	��(�	�!��'������'� ����@��	����� � ���	��� $���� �!	?�! "�	���)�%����������'	�'��?�!������! ����	��
��'��(� �'���� ��	��� !	�'-'!	�	�������� $�	��	� �	�� !@�!"�� �=$	��	'�$$	�'	�!���	'=	�'=	��	�
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2.4.3.� Construction d’un ordre sur les clients 
0@	���'	� �	� '���"	� 	��� ��� 	���'	� �@��,	��� (� � �	��� B��	� ����' �� %� !@	���'	� �	�� ��!�� ���� ���
����!#$	���!��L��(�	��	�'������ �	�� �	'�	$	�����	���!�� ���  � � �!	?� !@�!"�� �=$	�'�$$	�'	�
����"����	������!�$	����	�!@	���'	��	�'���"	�(�@ !� !@�� ! �	�	��� �	������"����	����	���!�� ���
 � � �!	��

�������	��
�
	��� �������	����
�
��
��

�
	�������
��

�
	�������
��

�
	�������
��

�
(���

� �9A���0%���
%�	
���	��
%�

�!� 	< ��	� ��� �� '���"	�� ��C � �� ����� I�=	�"� 	�� �!�?� �WW�K���	�� '���"	�� �����  !!������� ����� !��
C "��	���+W�
��

�� !	�'���"	��2��2�?��D�����!�$	����	�'���"	�	�������' ��%��!�� 	������!�� ����E�
�� !	�'���"	��2��2�?��D��!�� 	�����!�$	�����	�'���"	����������' ���%���	���!�� ���E�
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0@	���'	� �	� '���"	� �� ! ��� ����� '	�� �!"�� �=$	� 	��� ��� &	'�	��� �@	�� 	��� �	� �� !!	 ?� ���� ��
�=�(�	��!�$	����	�'	�&	'�	����	����	��	����'! 	���I�� " �	?��	�� ��� ��K��0@����	��	��	'�	�!	��
� &	��<����	����!�����	�!������ � ������"���=	�5?�'���	��	��������������������	��!	����$$	���
 ��������$B$	�� &	��?��������	��!���� �	�	���'=� � ?�'�$$	�	<�! (���������!"�� �=$	�����
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2.4.4.� Construction de la solution 
0��'������'� ����	�!����!�� ���'��� ��	�%� ����	����''	�� &	$	���!	��'! 	����	���� &����!@����	�
���&	'�	��� �0	�'! 	����	��	���B��	� ������(�����#��!	��	�� 	����$$	���@�� " �	��	�!��������	�
'��� ����	���	�(� �! $ �	�!	���$��	��	����� � ! ���?�	��'�$$	�!@����	� ��	��	'�	�!	��� &	��<��	�
!������ � ��?�!	�� ��	�� �����	��	'�	���!	��'����� ��	���	����'��	�'	�	���	�!	��'! 	�����
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Algorithme 12� compute_order 

Input parameters  
  : partition with  

Output parameters 
   :  order of clients 
Begin 
1�
2� for  to  do 
3� | while (   ) do 
4� | | 
5� | | call randomly_selected_client(  
6� | |  
7� | |  
8� | end while 
9� end for 
10� return  
End 

0@�!"�� �=$	������	���	��	����	����&	'�	��� �	��'�$$	�'	��&	'���	��=��	��@ � � �! ��� ���(� �
&���	�!��! "�	���%�!��! "�	�*�������'	��	��=��	��!�� 	�����!�$	��������� � � �! ���������
�!��! ��	�

�%�!��! "�	���(� ��	���%��	�	� ��!��! ��	��	����� � ������,%���� ��	����������'! 	���E�!����!�� ���
���� 	!!	� �%�!��! "�	��������!�(�	!!	�'=�(�	�������	�	���'���� ���	��� (�	$	����	�����L���E�	��
	�C ����	�� !	�(� ��	�$	��%�!@�!"�� �=$	��	����&	"���	��!	������	�� ��	�$�� � �	��%�!��! "�	�*��
�=�(�	��!�$	����	�!��� !	�	���'���� �����	�����,	���
�!����!�� ������� 	!!	?�!@����	�%�!�(�	!!	��	�
� ��	�'	��	���!�� ���	��!��! ��	� ��

�����'=�(�	�'! 	����	� ?�!��!"�� �=$	��	'=	�'=	�!	��� CC��	��	����� � �����@ ��	�� ������� �!	��
�����!����!�� ������� 	!!	?�! "�	����%�����0���(�@��	�������	�&�! �	�	���"�����	��!����!	���$����
�	�!��������	� ?� !����� � ����@ ��	�� ��������$$	���@�� " �	� �	�������$$	���	��	�� ��� ��� �
� �� �(�	�!��������	�'���	��������	�	������'�Q����������'A�����������	��	$�!	� � � � �!	$	���
& �	�I! "�	�XK��0@	��	$�!	�������	��� !!	�! $ ��	�	���	�'��� 	���(�	�!	���)�$	 !!	��	�� ��	�� ����
	��'��� �������!	�'�Q����	�!	��!	�� ��	�� ����(� ��	�������������	���� �	�������!��! ��	 ������
	<�!���	�� %� !�� ! "�	� ���� ��C �� !�� C��'� ��� ���	!�	� %� !�� ! "�	� ���  ��#�	� !	� ��$$	�� �@�� " �	�

�	�� !	� ��$$	�� �	� �	�� ��� ��� �	�� ��� ���� �	��	'� &	� �	�� ������ !�� ������	�
'������	?��&�����	�!@�&�!�	��%�!��! "�	��*��� �!��������	�	���&�! �	��!����!	��'=�$���� ��	�� ���
	����,�����%�!@	��	$�!	 ��
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��� �� !@	��	$�!	� �'��� 	������
$� �����	���� � ����@ ��	�� ���&�! �	�! "�	�����%��X?��� �� !��@	��'��� 	������?�! "�	�����%������

�����!	���	$ 	��'��?���	��	����� � �����	� �	���'=� � 	��0����� � ���(� �"��#�	�!��������	��	�
'�Q��!	��!���C� �!	�	���'=� � 	��&	'���	������� ! ����	�X)q�� ����!���� &���	�	���'=� � 	��&	'�
!%2���� ���	������� ! ����	�X)q�	��� �� ��	��� �	���

����� !	� �	'���� '��?� !@	��	$�!	� �	��� & �	� 	��  !� �@	< ��	� ���'� ���� �@ ��	�� ��� &�! �	� ��� �
'! 	��������!����!�� ������� 	!!	��0@�!"�� �=$	��	& 	����!����%���	���!�� ������� 	!!	����'��	��	�
�C �� �@	<�!��	�� ��� ����	� '=� <� �@ ��	�� ���� ����� '	!�?� !�� � !	� (� � ���&	"���	� !	�� ����	��
 ��	�$�� � �	��	������ !�	�%�!��! "�	�����	�!@�!"�� �=$	������!��	���B��	� ����	�������	��	$���	��
�!���!� �������!	����!�� �������� 	!!	�����'��	��	���C ���	����!�(�	����	�� ���� ���������	���	�
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Algorithme 13� generate_solution 

Input parameters  
  : order of clients 

Global parameters 
  : number of clients in the instance  
  : maximal number of iterations for initialization 

Output parameters 
  : set of trips  
  : boolean result of the initialization with  
    success and  failed 

Begin 
1�  
2�  ;  
3�
4�  
5� while (  do 
6� |  
7� |  
8� |   
9� | for  to  do 
10� | | for  to  do 
11� | | | for  to  do 
12� | | | | if then 
13� | | | | | call ) 
14� | | | | |  := call  
15� | | | | | if ( ) then 
16� | | | | | |  
17� | | | | | end if  
18� | | | | end if 
19� | | | end for 
20� | | end for 
21� | end for 
22� | if ( ) then 
23� | | := selection one element of  
24� | |  
25� | |  
26� | |  
27� | |  
28� | |  
29� | else 
30� | |  
31� | | if ( ) and ( ) then 
32� | | |  
33� | | else 
34� | | |  
35� | | | return  
36� | | end if 
37� | end if 
38� end while 
39�  
40� return  
End 

0	�'� �#�	������'=� � ���@ ����	��!	��'! 	����	����� (�	$	���!	�'�Q����@	���!	��!���	CC '�'	����$ �
!	��'� �#�	�� �	������0@�&����"	��	�'	�'� �#�	�& 	������ C� ��(�@	�� '=� � ������ !	�� ������	�� �	!���
'�Q���!	���!���C� �!	�?�!��!"�� �=$	�"#�	�	���� �� ���!	��������	��!	��$� ����	$�! 	������$ �!	��
����	��'� �#�	��(� ���������	<��� $	������������&	� ��%��	������!��������� � ����	������?� !�-���!	�
�	$����	����,	���	��'! 	����	��!	��	$����	����,	������!��
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��$$	� �	�<� &	'�	���� ��	�&	��� $	�	�� %� !�� '������'� ��� �	� !�� $B$	� ��!�� ��� !@	���'	� �	�
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2.4.5.� Résultats obtenus lors de la génération de solutions initiales 
����� $����	�� !@	CC '�' ��� �	� !�� $��=��	� �@ � � �! ��� ��?� !	� ���!	��� ���� '��� 	��� !	�� ����!�����
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0@����	� (� � �� �� !@ � � �! ��� ��� 	��� ��	� �=��	� �	� �	'=	�'=	� !�'�!	���!!	� 	��� 	<�! (��	� ����� !��
���� 	��� &���	��

 �%�� ���������������������
0���	'=	�'=	�!�'�!	��������	�	���'�$� ��	��&	'���	�$��=��	��@����	�� ���"	��7��'������	�!��
����!�� ��?� '	��	� $��=��	� �@����	�� ���"	� �� ! �	� !	�� ����!����� ���	���� !���� �	�� ���'��	��	��
�=��	�� �	� �	'=	�'=	� !�'�!	� ����� �����	�� �	�� ����$#��	��� 5��'	� %� '	��	� $��=��	�
�@����	�� ���"	?� !��$��=��	�'��&	�"	��!��� ��� �	$	����0�� �	'=	�'=	� !�'�!	�	���'�$����	��	�
�!�� 	���� ����'���	�� �	� &� � ��"	�� �=�'��	� �� ��	� ������ ! ��� ��@B��	� ���	!�	� !���� �	�
!@	<�'�� ��� �@��	�  ����� ��� �	� �	'=	�'=	� !�'�!	�� 0	� ��	���'��	� '���	��������� 	��� �'� �� �����
!@�!"�� �=$	� �*�� �	�� � CC��	���� �!�'�� ���� ��� �� (�	� ����$#��	� �@	����	Z���� 	� (� � 	��� ��	�
��!�� ��� ���

�=�'��	��	��������'���	���	�&� � ��"	��I�!�'�K��	�$	����	<�!��	�����&� � ��"	�� CC��	����	�!��
��!�� ��� '������	�� ��$$	� �	�!�� !	�� $��&	$	���� �$�! ������� ����� �''	����?� !�� ��!�� ���
�	������	�������	�����'���	��	��	�������B��	��	�'�Q������� 	���%�!����!�� ��� � � �!	���

0	��� CC��	��	�������� ! ��������������	��	������$#��	��	�!��C��'� ��?������!	����!	�� ��7��#��
(�	�!	���!�'��� 	�������	<�'����?� ! "�	���*�%���?�!	�����!	��<� �	�� ������$ ��%� ,����	��
C��'� ����	�!@�$�! ���� ������! ��	��0	����!	��� �	��� � � �! ����&	'��	��&�!	����)�%�!��! "�	�+���!�
�	�$	�� �	� ��&� �� (�	!�� �!�'�� ���� ���� ���	!��� %� '=�(�	�  ����� ��� �	� !�� �	'=	�'=	� !�'�!	�� 0��
&�� ��!	� �	���  � � �! ��	� %� !�� ! "�	� ��� �!!	� 	��� $ �	� %� ,���� !���� �	� '=�(�	�
�$�! ���� ��?� ! "�	� ��?� ����� ��&� �� � � !�� ��!�� ��� �� ���� �$�! ���	� ������� '	��	� 	<�'�� ���� � �
!@�$�! ���� ��� �@	��� ���� '��� ����	� '�$$	� ��CC ����	?� ! "�	� �+?� �!���� !�� &�� ��!	 �	���
��"$	���	��� � ����	 �����	�&�!	�������� 	��	�% ?��!����!@	<�'�� ���	������B��	��0���(�@���
"� �����	8� $��������	������! ��?� �	����� � � �! ��	�	��!	����&	���'�Q��	������&	"����?�! "�	��
�X�	���W���
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Algorithme 14� Local_search 

Input parameters 
   : array of probabilities for each block 

Input/output parameters 
    : a solution   
    : array of success for each block 
    : array of failure for each bloc  

Local variable  
    : save which block is used during an iteration 

Global parameters  
    : maximal number of iterations  
    : number of unproductive iterations 
  : saved cost of the solution  
Begin 
1�
2�
3� while (  ) and ( ) do 
4� | i := i + 1 
5� |  
6� | with probability  
7�  | | call r_4_Opt(s) 
8�  | | 
9�  | with probability  
10�  | | call cut_and_paste(s) 
11�  | | 
12�  | with probability  
13�  | | call worst_customer_ejection(s) 
14�  | |  
15�  | with probability  
16�  | | call Relocate(s) 
17�  | | 
18�  | with probability  
19�  | | call 2_Opt*(s) 
20�  | |  
21�  | with probability  
22�  | | call exchange(s) 
23�  | |  
24�  | if ( ) then 
25�  | |  
26�  | |  :  
27�  | else 
28�  | | ; 
29�  | | :=
30�  | | :  
31�  | end if 
32�  end while 
end 

2.5.1.� Prérequis, fonction d'insertion de client 
�!��	���B��	�  ����	�������	�����	��	�� !�� C��'� ����@ ��	�� ����	��'! 	�����������	� ������	���	��
�!"�� �=$	�	����� ! ��������!	��� CC��	�����!�'���	��	'=	�'=	�!�'�!	�(� ����������	������ �� �(�	�
����� !	�� �!"�� �=$	�� �	� $���� ��� (� � ����� �������� ����� !�� ���� 	� �� &���	� '��'	������
!@	<�!���� ����	�!@	���'	��	����!�� �����

0��!"�� �=$	��+?�����	��	� !@�!"�� �=$	��	�$	�������@ ����	����� '! 	��� %� !��$	 !!	��	���� � ���
����� ��	� ������	� �����	�� �!� ��	��� 	�� 	����	� ��� &	'�	��� ?� !	� ��$$	�� �@�� " �	� 	�� �	�
�	�� ��� ���� �� �(����	�&�� ��!	� ��	����	������ !	��������$�< $�!�(� ��	���B��	�  ��� ������
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!@�,����������&	���'! 	����������C���?�!��&�!	�������' �	�%� ��	����	��	�!	�"� �����	���!�����	�
!�� �����	�� ��� ��� '! 	��� �	� ��� ���'��	��	� ������	�� 0@�!"�� �=$	� �� ! �	� !	�� '����� ��	�� �	�
���'��	�'	?����	��	���������!���=��	��@ � � �! ��� ��?����������� $	���	����� � �����@ ��	�� ����
 $���� �!	����	��	�����	�'���	��������<� ! "�	����%�W������� !	�� ! "�	�����%��X?� !��!"�� �=$	�
	<�!��	�!	��� CC��	��	������ � ! �����@ ��	�� ������ � !	�'�Q������������	���  ����	�����?� ! "�	��*?�
��
�� !�	��� �C�� 	���%� ?��!����!	�&	'�	��� �'���	���������	����&�!����� � @�	���&�! �	��!���� !�	���
���&	"����� ����� 	�� !�� &�!	��� �	� 	��� $�� C �	� ����� 	<�!��	�� �� (�	$	��� !	��
��!�� �����	�'�Q�� �C�� 	���%�'	!� ��	�!��������	�"�����	��

Algorithme 15� insertion_client 

Input parameters 
   : a trip which contains all the trip variables like : , s[], B[], A[], D[] 
   : pickup node of the client 
   : delivery node of the client 
   : maximal value for the insertion  

Local variable  
   : courant position of insertions nodes 
   : trips 

Global parameters  
   : partition graph  

Begin 
1� ; ;
2�
3� repeat
4� |  
5� | if ( ) AND  then  
6� | |  
7� | end if  
8� | 
9� until AND
10�  
11� while ( ) AND  do
12� | 
13� | while ( ) do 
14� | | if ( then 
15� | | | t' := call 
16� | | | { } := call (t') 
17� | | |  if ( ) then 
18� | | | | ;  
19� | | | end if 
20� | | end if  
21� | |  
22� | end while 
23� |  
24� |  
25� | if ( ) AND  then  
26� | |  
27� | end if  
28� end while 
29� return } 
end 

�

�
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0�� '�$�!	< ��� �	� '	��	� C��'� ��� 	��� 	�� �� ����� !	� � �	� �	�� '��?�  !� -� ���� � ����
�@ ��	�� ��� ���� �!	�� 	�� !@ ��	�� ��� '�$$	� !@�&�!��� ��� 	��� 	� �� ����� �����$ �	�� '	��	�
C��'� ���	�����	� ����	��	��$	 !!	��	�� ��	�� ���?�!	��!���� $�!	�	����	��	$�!�'	��!��! "�	��*��

�' . � �+�
����
�

�' ���� �
�1�. � �+

�&	'� ������$��	�'=� � ��!���� �	$	���	�� �!�������� ! ����@�&�!�	�����$��&	$	����7 �� �
����	��!	������ � ! ����������	���	��,��(��%�'	�(�@��� �&�! �	��� ������&���7��#��(�� ��	�!	$	���
��	����� 	��	� �	��� �&�!��	���	��	�$�� C '�� ��� � $�!	��	�$	���	� �����$ �	�� '	��	� C��'� ���
�����  ������ �	� �	� ���&	!!	�� &�� ��!	�� ����	�� (�	� �	� ����� 	�� "����� ������ ���,����� �	�
�	�����	����	���!�� ���� ����$� �����	� ��	�� ���	������� �!	��

�

7�!��! "�	��*?�!�����'����	� �	�����	�!��� CC��	�'	�	���	�!	�'�Q���	�
!��������	� ��&	'�!	����$$	��� �@�� " �	�	�� ��	��	�� ��� ������'! 	���	����� � ��� �	�� ?�	��!	�
'�Q���	�!��������	� � � �!	��0@�&�!��� ����	�'	���������	���B��	�'�!'�!�	�	� ���
�

2.5.2.� Les différents blocs de la recherche locale 
0	���!�'��'���� ��	���� CC��	��������'���	���	�&� � ��"	�	�����'�� CC��	����-�	���	�$��&	$	����
(� ��	�&	���B��	����! ����������	���!�� ���'������	���=�(�	�$��&	$	���"��#�	���	����&	!!	�
��!�� ���(� �	���(��! C �	��	�[&� � �	[��&	'�!����!�� ��� � � �!	��0���	'=	�'=	�!�'�!	��������	�
�	� '�$���	��	��� �!�'�?� +� ������	��$��&	$	����  ��	�2������	� 	�� �� 	��� ���$��&	$	���  ����2
������	�I!	��2*2���rK��

Le mouvement r-4-opt* 
0	�$��&	$	��� �2*2���r� 	��� ��	�&	�� ��� ! $ ��	� ���$��&	$	��� � ������������ I0 �� ����
:	�� "=��?� �W��K?� (� � '��� ��	� �@������ %� '=� � �� ���'�� ����� ��	� ������	�� �	�� ��'�� �����
����� $����� �� !@	��	$�!	��	������ � ! ��������� �	'������ �	���	� ������	� 	��� 	���-��� �!� ������
��C � � ����� !	� 1���� 
�	� &	�� ��� ���! (��	� ��� �76�� �� ���� �������	� ���� IF��	A	��� 	�� �!�?�
�)�*K���!!	�'��� ��	�%���!	'� ���	���� (�	$	����	����'��'����'�� C���������	�$B$	�������	��
�	� ���'	����� 	��� ��$$�� �2*2����� ����� ��	� ������	?� ����� '=�(�	� 	��	$�!	� �	� (����	� ��'��
'����'�� C�?� !!�������C "��	����)?����	��	$�!	��	�+����&	��<� �	����&�!��?� !!������C "��	������
	��C "��	�������0	��$��&	$	�����	�!��C "��	������$�� C 	���!������! ����	��*���'����!	'� ������
�!����(�	�!	��$��&	$	�����	�!��C "��	������	��$�� C 	����� (�	$	������

0	�'�Q������' ��%�������&	��� ��	���B��	�'�!'�!��	��)I�K��
���	����	����! ��� ! ���	���	CC	'����
�� (�	$	��� � � !	� '�Q�� 	��� ��� '�	$	��� �!��� �	� �� (�	� !	� '�Q�� �	� !�� ������	�  � � �!	�� � � �	���
&�! �	?�!��������	� � � �!	�	����	$�!�'�	�����!�����&	!!	�	��!@�!"�� �=$	��	'�$$	�'	�	����	�����
!	��*��	�� 	�����'���	�!�����&	!!	�������	��
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Le mouvement "cut and paste" 
0	� ['��� ���� ����	[� 	��� ��� $��&	$	��� (� � 	��� ���� � �� ! ��� ����� !�� $���� ��� !���� �	�
!@	<�!���� ����	�!@	���'	������0����	�$��&	$	���'��� ��	�%���!	'� ���	���	�<�&	'�	���� �	��

� ����� �	� �	�<� ������	�� � CC��	��	�� �	� !�� ��!�� ��?� �	� !	�� '���	�� 	�� �	�<� �� �� �	� !	�

�	'�$� �	��	���	�<����&	��<�&	'�	���� �	�� ?�(� �������&�!�����C ���@���	� ����������	����	�
$��&	$	��� �� ! ��� ����� !	� ��$� �	� ['�����&	�[� ����� !	�� �!"�� �=$	�� "���� (�	�� ����� �	��
����!#$	���	�������	�'�$$	�!	�1���I5�	C	���	��	�	���!�?��WX+K����	��!�� 	��������!#$	�������
B��	����! (�������76���

��	$ #�	$	��?� !	�� �	�� "������� �	�&	��� �	� ���� �	��	'�	�� !	�� C	�B��	�� �	� �	$��� 	�� !	��
'����� ��	���	� �	$����	� ���,	���	��'! 	���������� ���� �	�'	��� ���� ���?������ ����	�'���	�	���
��!	'� ������!���� �	$	������� ���� ��!	��	�< #$	�	���'=� � ��	�$�� #�	�%�'	�(�	�!	�����	���	�
�������	��	�& '	������ ��� 	��� �'!�	�������!	��C	�B��	���	��	$����	����$$	���� ������&����	��
���#��!����	$ #�	�'�����	���

0	��	�< #$	�����!#$	�'��'	��	�!	����$$	����� " �	�	���	�� ��� ����	��'! 	����(� ��	�&	����	�
�	����&	���	������	���@����	������ ����	�'���	��9�� !���� &	���������	� �����$B$	�&	'�	��?�  !�
C�������'�'=� � �������!	(�	!�!	���	"����	����

0@�!"�� �=$	� C��'� ���	� 	�� �!�� 	���� ����	��� ��	$ #�	$	��� �	�<� &	'�	���� 	�� �����' ��� %�
�	�<�������	���	�!����!�� ��������'=� � 	��IC "��	�����K�� �� �(�@����� ����	�'���	������'=�(�	�
������	��0	��'! 	���������!	����$$	����@�� " �	�	���	��	�� ��� ��������������������!	��� ����	�
'���	������$��(����IC "��	����*K���
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���� �	� !�� '������'� ��� �	�� ���&	��<� &	'�	���� '�$$	�'	�� 
�� &	'�	��� �	��� '������ �� 	��
�	'�� ����!	����$$	������2$��(�����	� ����'������!	��� ����	�'���	��� ��!	����$$	������2
$��(�����	� �(� ������� ��������#��!	��� ����	�'���	�IC "��	����+K��
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�����'	������ $ !� �	�	������! (������&	'�	��� ��&	'�'	��	�C� ��!	����������&	'�	��� �	��!��
C ���	� IC "��	�����K���
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�������	��#
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�����(�	�!����!�� ����	��	�&�! �	?�!���	�� #�	�����	�'��� ��	�%��� ����	��!	����$$	���$��(�����
�����'	!�?� !	��'! 	���������'=� � ��������������	��!���� �	�	��������� ����������������	���	�<�
&	'�	����%�!��$	 !!	��	���� � ������� �!	�'�$$	�!	�$����	�!��C "��	��������
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0	�&	'�	��������!	(�	!�	����� ������!	�'! 	���	������ �'=� � ��!���� �	$	����� �!@ ��	�� ��������!	�
&�= '�!	� �@	��� ���� ���� �!	� �!���� !�� �	�< #$	�  ��	�� ��� 	��� �	���	� ����� !	� �	'����� 0	�
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$��&	$	���	��� '���	�&���� (�	$	��� � � !	���	�<�&	'�	���� �����&�! �	��	��(�	� !�� ��$$	��	��
������	��C ��!	��	��� �C�� 	��	�%�!����$$	��	��������	�� � � �!	��IC "��	����XK��

�
� �
�

�
(���

� �<3����
%�#
��
�
%�'����1����
��%�

Le mouvement "worst_customer_ejection"  
�	�$��&	$	���'��� ��	�%��	'=	�'=	�?������!������! ����	�!����!�� ��?�!	��'! 	����(� �	����T�	���
!	���!���  $���������������������� !	��&�= '�!	������$ � !	��'! 	���� ��!	'� ������ !����	���'=� � �
�!���� �	$	��?��C ��(�@ !��� ���� �������������	�����	�������	���

0	��������	����������'����	����''	�� &	$	����� &�����������	��!���� �	��0� ��	�� ���	���C� �	�%�
!@� �	� �	� !�� C��'� �� �,��(��%� ���	� �� ��	� ��!�� ��
 ��� ,��(��%� �&� �� 	���-��
!@	��	$�!	��	��������	���

Le mouvement "relocate"  
�	�$��&	$	���	���������������IF��	A	���	���!�?��)�*K��
�	�������	�	���'=� � 	��!���� �	$	���
	�� !	�� '! 	���� (� � !�� '�$���	��� ����� �	� ���� ��''	�� &	$	��� �� �� ����� ���CC	'���� %� ��	� ����	�
������	� .'	��	� ������	� 	��� ��!	'� ����	� �!���� �	$	��/�� ����� �	��	�� !@ ��	�� ��� ��� '! 	��?� !��
C��'� �� �(� � �� ��,%� ���� ����	���	?� 	��� �� ! ��	�� 0	�� '! 	���� �	� !�� ������	�
 � � �!	� ����� ���'������ �� &���� !@����	� �	� �����"	� ��� &�= '�!	�� ����� �����$ �	�� '	��	�
C��'� ��?�!	���$$	�� � � �!��	����'������	�!��������	�	���'=� � ��!���� �	$	���'�$$	������!��
C "��	����W���
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���������
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Le mouvement 2-opt* inter-tournée 
0	��!�'���$$��[�2���r[��������������������!	�1�������I���& ������6����	��?��WW+K��� �� !���
���� ������� ��� �76�� ���� IF��	A	��� 	�� �!�?� �)�*K�� �	� $��&	$	��� $�� C 	� �	�<� ������	��� �!�
'��� ��	?� ����� '=�'��	� �	�� ������	�?� %� ����� $	�� ��� ��'� �� �� %� �	'���� ��	�� �	�<����&	!!	��
������	�?�'�$$	� !!�����������!��C "��	����)���
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����� !	��76�?� !	�� ��'�� ����� $��� ����� �	�� ��'�� ���� !	�(�	!�� !	�� &�= '�!	�� ����� & �	�� � �� �
��'���'���!	��	���$$	������� " �	�	���	��	�� ��� ����	����������������	��!��?�!	��	�������!	��
��'�����'��	����	���� &�����!	����'����!	'� �������	��� ������B��	�$�� C ��������	������ �(�	��
(�	�!	����$$	����@�� " �	��	��'! 	������ 	������ �������#��!	����$$	����	��	�� ��� ����
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�	�$��&	$	���C� ������ 	��	�!��! ��	��	��$��&	$	�����''	�� �!	������!	��!�'�['�����������[��
�@ ����	��	�� �� (�	$	��� ��<� �� ���� �	� '���	� ����� !	�(�	!�� !	� &�= '�!	� 	��� & �	� C� �� (�	� !	��
$��&	$	���� ����� ��#�� ��� �	�� '��� ��'��	�  ��	�� ��� �@	��� %� 	CC	'��	��� �	� �!��� !	� ��$��	� �	�
�� �����	�'���	�	������	8�! $ ����������	���!�� �����!�	������'� ����	�������	���&	!���	����	�
C��'� ������' C (�	�%�'	��$��&	$	����	��� �� ����&� ���	��	��!�	��	$�!	��	���2���r����� �!	��
	���	��	�<�������	���

Le mouvement "exchange" 
��C ��!�����'����	�[	<'=��"	[�'��� ��	�%�'=� � ���	�<�'! 	�����!���� �	$	����� ��%��	"���	��� �
!	�'�Q���	�!����!�� ���� $ ��	�!���(�	�!	������� � ���������!	��������	��������'=��"�	�?�'�	��2
%2� �	� !���(�	� !	� ��$$	���@�� " �	�� �� �(�	� !	� ��$$	���	��	�� ��� ����	���	�<�'! 	���� �����
�	�$������� � !	� '�Q��� $ ��	?� !	��&	'�	���� '���	��������� ��<� ������	�� ���#�� !���	�$���� ���
�����!	�(�	!��I���!	(�	!K�!	��'! 	�����	�����&	���������!�����&�!����	��� �!	�����!����	���&�! �	�!	�
$��&	$	��� 	��� '���	�&��� �	� $��&	$	��� %� �	�� �	�C��$��'	�� �!���  ����	�����	�� ���� !	��
 �����'	���&	'��	��C	�B��	���	��	$������	8�!��"	���

�	�$��&	$	��� �� ���� �������� ���� IF��	A	��� 	�� �!�?� �)�*K� �D� !@	��	$�!	� �	�� '! 	���� �	� �	�<�
������ 	��� ��� ��������� !�� &	�� ��� ��&	!����	�  ' ?� %� '=�(�	� 	<�'�� ��?� !	�� '! 	���� ����� '=� � ��
�!���� �	$	���	�� ����	���$$	����	�!��������	������!	(�	!� !���	�� ��	����

2.5.3.� Evolution des paramètres et mécanisme d'apprentissage 
0@	CC '�' ����	��� CC��	�����!�'���	�!���	'=	�'=	�!�'�!	����	����	��  �����'	��	���	�!��8��	��	�
!@	���'	� �	�� ��!�� ���� (� � 	��� 	<�!���	� ���� !�� $��=��	�� �@	��� ����� '	!�� (�@��	� ������" 	�
�@����	�� ���"	�������$ �	�	���!�'	��C ���	�C� �	��&�!�	��!	�����$����"	��	�!���	'=	�'=	�!�'�!	�
����$�� (�	$	��������(�@	!!	��@�����	������	�!	$	���%� !@ �����'	�'��� ����	�$� ������ �%� !��
��� � ��� '������	� ����� !@	<�!���� ��� �	� !@	���'	� �	�� ��!�� ����� �	�� ����$#��	�� �&�!�	��� �	�
$�� #�	� ���'��	!!	� ����� ��� !��"� ��� �����!	$	��� �	� !�� $���=	�� �� (�	� 	�� C�' ! �	� !��
'��&	�"	�'	��	�!��$��=��	��0	������$#��	���&�!�	���	��C��'� �����	�� ����!����������'=�'���
�	���!�'���	�!���	'=	�'=	�!�'�!	����	�����	�� ��!���	�� #�	�$�� C '�� ����

��$$	�	<�! (��������!@�!"�� �=$	��*?�%�'=�(�	�  ����� ������	��	$�!	��	��!�'��	���	<�'�����
�=�(�	� �!�'� �� ��	� ������ ! ��� ���' C (�	� �@B��	� '=� � �� �	��	� ������ ! ��� 	���  � � �! ��	�
��� ��� �	$	���)��+���!!	��&�!�	����'������	�!��$��=��	�	��C��'� ����	������!��������	��������
!	��� CC��	�����!�'����

�����!��!"�� �=$	��*?�!	�����!	��<� �	�� ������$ ��%�,����%�'=�(�	� ����� ���	��C��'� ���
�	��$��&	$	������ ! ���� !�����	� !@ ����� ���� �� �(�	���� ����!���� ���	����� � !	�"� �� 	��� ���	8�
 $�������� �!���� !	� ���!	��� �	���  �'��$	���� ����� !	�� �!�'�� �-���� ���� ���	!��?� $B$	� �@ !��
�@�������������'���� �����%��$�! ��	��!����!�� ����� �!@�$�! ���� ����@	���������CC ����	?��!����'	�
�����!	��&�!	����������!	��� �(� ������ �'��$	���	���
�!�	���� �� ����� �!	��	�'�$��	��!	���$��	��	�C� ���D�!	��!�'����������	!���&	'�
�

��&	'� �
0	���� ���	������ �	��	�'=�(�	��!�'�	�������
�

�

0���(�	� !	���$��	��@	<�'�� �����	��	'=	�'=	� !�'�!	�	��� ��CC ����?� !	�������� ! �����@	<�'��	��
'=�(�	��!�'������$ �	��%�,����	���� ! �����!��C��$�!	��� &���	�
��

�
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7 �� � !	��!�'��&	'�!	��!���"�������� ���	������ �	��������	������� ! ����	� )?W+��@B��	�	<�'����
����� !	�� ���'=� �	�� �	'=	�'=	�� !�'�!	��� 0	�� ����	�� �!�'�� ���� �	�� ������ ! ���� (� � ���	��	���
! ��� �	$	��� �	� !@�'���� �&	' ?� C "��	� ������ 
�� �!�'� �&	'� ��� ��� �� �	� ����� �	� �	�<� C� ��
$� ���  $�������� ����� ��	� ������ ! ��� �	�<� C� �� $� ��� �!	&�	� �� � �� ����� �	� ����
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2.5.4.� Résultats du mécanisme d'apprentissage 
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2.6.1.� La métaheuristique ELS (Evolutionary Local Search) 
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2.6.2.� Les mutations 
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2.6.3.� La diversification 
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	���	�� #�	���� � ���� �� �(�	�!�����	��	�����������	�& '	�����!	���$$	��� �������$ ! 	���	�!��
������	��0	�'�Q���	�!����!�� ���	������������&	'��������$#��	 ���CC ��$$	���"������

�

�	��	� &�!	��� �	��� $���!�	� �&	'� ��	� &�!	��� .� ��CC ��$$	��� "����	?� ���� 	<	$�!	�
�� �'���	�����������$��	��	�'��	����������&	'�	�����$$� ���=�(�	�'��	�
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2.6.4.� L’algorithme général de ELS 
0@�!"�� �=$	��������	���	�����	���� ���"!���!	�������'	������@��� $ ��� �����!��	�'�$���	��	�
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�*?�!	�����	!����� ��	��%�!��C��'� ��� ��(� �$	��%�,����!	�������� ! �����	��
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�

Algorithme 16� Evolutionary Local Search 

Local variables  
   : best initial solution 
   : solution for the neighbors generation 
    : best solution after an iteration 
    : current solution 
   : current solution after the local search 

Global variables  
   : number of initial solutions 
    : maximum number of iteration 
    : maximum number of neighbors 
    : learning process counter 
   : number for clone detection 

Out parameter 
  : best solution found 

Begin 
1� ;
2�  
3� repeat 
4� |  
5� | If (  > ) then
6� |  |  
7� |  end if
8� | 
9� until 
10�  
11�
12� while ( ) do
13� | if ( ) then 
14� | | = call learning_process (succ, fail) 
15� | end if 
16� |   
17� | for  do  
18� | | repeat 
19� | | | repeat 
20� |  | | |  
21� |  | | | If ( ) then 
22� |  | | | |  = call mutation_1 (  ) 
23� |  | | | else  
24� |  | | | |  = call mutation_2 ( ) 
25� |  | | | end if 
26� |  | | until 
27� |  | |  
28� |  | until  
29� |  | If (  > ) then
30� |  | |  
31� |  | end if
32� |  end for
33� | 
34� end while 
35� return } 

end 
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2.7.1.� Les instances de la littérature du DARP 
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0	�� ����!����� C���� �� ���� !�� $��=��	� �0�� ����� ���	���� �	� $�� #�	� %� �&� �� ��� �	$��� ����!�
��	<�'�� ����"�!���� �	$������$�! ����� ! ������� !��$��=��	��	� I�����"=������'=$ �?��)��K��
���� 	<	$�!	?� ���� !	��  �����'	�� �������	�� ���� I����	��� ���� 0�����	?� �))�K?� !	� �	$���
��	<�'�� ���$�-	������� !��$��=��	��������	����� I�����"=������'=$ �?��)��K�	����	����X*�
$ ��� 0	� ��		�� C�'���� 	��� ��	�& ���� )�*+� ����� !	��� $�'= �	?� �� �� ��� �	$��� ���$�! ��� �	�
W�XX $ ����

2.7.2.� Paramètres associés à la méthode de résolution. 
��$$	�����	���������!	������ 	�����'��	��	��I���K?�!��$��=��	��	�����!�� �����'	�� �	��	�C <	��
���	��	$�!	��	�����$#��	����!��������	� �C!�	�'	�����!	������!������	�!��$��=��	��	�����!�� ����
���$ � '	�� ����$#��	�?� '	��� ��� ����� C <	�� 	�� ���	�$ ���� ���� 	<��� $	���� ��� ���� ��� ����2
	��	$�!	� ���� �� �� �����'	��� �@����	�� ����� �-��$ (�	�� 	�� !	��� &�!	��� �	� $	�� %� ,����
����$�� (�	$	��� ������� !�	<�'�� ��?� '�$$	� ���� 	<	$�!	� !�� ������ ! ��� ��	<�'�� ��� �	�
'=�(�	��!�'�%�!� ���� 	����	�!���	'=	�'=	�!�'�!	���

0	�� ����$#��	�� C <	�� ����� ��� ��$��	� �	� +�� 0	� ��	$ 	�� 	��� !	� ��$��	� �	� &� � ��� "������� %�
'=�(�	�  ����� ��� �	� !��0��� �!� 	��� C <�� %� �)� ����� ����	�� !	��  �����'	�� �	���	��� 0	� �	'����
�	����	��	� !�� ������ ! ��� ��	<�'�� ��� �	� '=�(�	� �-�	� �	�$���� ��� �� ! ��	����$$	� 	<�! (���
�����!������ 	������?��	�<��-�	���	�$���� �������������&	!�������0�����	�!��"������ �������	�
��!�� ���&� � �	?�!	���	$ 	���-�	��	�$���� ���	���	<�'����������)q��	��'���	��!	��	'�����-�	�
����� !	�� �)� q� �	�������� 0	� ��� � #$	� ����$#��	� '��'	��	� !�� ���!	� �	� =�'=�"	�� 0���(����	�
��!�� ���	����&�!��	?� !��'!	C�'���	��������	�	���'�!'�!�	�	���,����	�%� !�� ���!	��	�=�'=�"	��0��
��!�� ���&� � �	�"�����	�	����''	���	��� (�	$	���� ����'!	C��������������,����	��!����	���C� ��
����� !�� ���!	� �	� =�'=�"	�� �	' � �& �	� � �� � �	� ���'��� �� �!�� 	���� C� �� !	� $B$	� 	���'	� �	�
��!�� �����

0	�(���� #$	�����$#��	� '���	������ �����$��	�$�< $�!� �� ����� �����	� !�� �	'=	�'=	� !�'�!	?�
C <��%��)))�	�������$��	��� ����� ����������$�! ���� ��?�! $ ���!� �%��)��0	��	�� 	������$#��	�
	��� !	� �	$��� '����$$�� ����� !��0��� 0@�0�� 	��� ����� ��	� %� 	CC	'��	�� �	��  ����� ���� ,��(��%�
���	 ���	�!	��	$����	�'�!'�!��	�!��$��=��	��������	�����I�����"=������'=$ �?��)��K���

2.7.3.� Étude comparative sur les instances proposées par (Cordeau and Laporte, 2003). 
0	������!����� !!������������!	����!	������������!	������!�����$�-	�����������	��!	�� �����'	���	�
����	��� 	�� 0�����	�� �	�� ����!����� ����� ���	���� ���#�� +� 	<�'�� ����� �!� C���� ���	�� (�	� !	��
$��=��	�� �������	�� ���� I.������ 	�� �!�?� �)�*K� 	�� IF��	A	��� 	�� �!�?� �)�*K� �	� ����� ���� �	��
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2.7.4.� Étude comparative sur les instances de : (Ropke et al., 2007)(groupe A) 
0	�� �����'	���	�I6��A	�	���!�?��))�K��	�&	���B��	�������	��	���	�<�"����	�������� $�! C 	��!��
!	'���	��	�����!	��<�������'	�����"���=	?������	$ 	��"����	������7�	������ �����!�	���'�$�����
�	� !�� ��	$ #�	� $� � �� �	��  �����'	�� ����� !	�(�	!�� !�� '���' ��� �	�� &�= '�!	�� 	��� ! $ ��� �&	'�
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2.7.5.� Étude comparative sur les instances de: (Ropke et al., 2007)groupe B) 
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"	�	� '��!"�� �=$���3��9�	���6	�����'��+X?�����P������

0 �?���?�:	�� "=��?�F�S�?��W����7���CC	'� &	�4	�� �� '�7!"�� �=$�C����=	�1��&	! �"2��!	�$���
����!	$��9�	���6	�����?�*WXP+������ 
�)���X�Z���	������*WX�
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9�	���6	���*�?���P������ 
�)��)��Z,�'����)���)��)�)�
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���& �?� 3�2>�?� 6����	��?� 3�2.�?� �WW+�� 7�� �<'=��"	� 4	�� �� '� C��� 6���	 �"� ����!	$�� R �=�
1 $	�S ���R���3��9�	���6	�����'��*�?��*��P�**����� 
�)��)+�Z,�����WW+��)*�

�� ��?� ��?� �))W�� 7� 567��� J� �&�!�� ����-� 0�'�!� �	��'=� 4-�� �� C��� �=	� G	= '!	� 6��� �"�
����!	$?� �
��	�	 ��?�/�F�?�1�&��	�?�3��I����K?�F �2���� �	��7!"�� �=$��C����=	�G	= '!	�
6��� �"�����!	$?����� 	�� ����$����� ���!����	!! "	�'	����� �"	��F	�! ��4	 �	!�	�"?�
�����+P+���

6��A	?� ��?� ����	��?� 3�2/�?� 0�����	?� 5�?� �))��� .��	!�� ���� �� ����'=2���2'��� �!"�� �=$� C���
� 'A��������	! &	�-�����!	$��R �=�� $	�R ���R����	�R��A��*W?��+XP�����

6�-?�F�?�����$���?�F�?��W�*��0	������!	$	������������'	$	����&	'�'����� ��	��� �,��'� &	���
���	����W��

��	 �?���.�?��W�X���'=	��! �"�� �!2�26 �	�1���������� ����-��	$���1��������' ����?������

1��"?�3�?�:��"?�>�?�0��?�4�?���?�7�S�4�?��)�)��7����	����i�CC ' 	���C	�� � ! �-��	�� �"�C���� �!2
�2� �	�����!	$��j�9�	���6	���0	�����X?�*)+P*)����� 
�)��)��Z,���!��)�)�)+�))��

S�!C?� ��?�.	�8?� ��?� �))����&�!�� ����-�0�'�!� �	��'=� C��� �=	����	�2�		���	!	'� �������!	$�
�����=	��24���.	� �������!	$?� �
�F���82F	 	!��	 �?�1�?�7"� !	��?�.�3�F�?�F!�$?���?�
���,�A�?� F�?� 6�! ?� 7�?� 6���!�=?� 5�?� ��$�	!�?� .�� I����K?� 4-�� �� .	��=	�� �� '�?�
0	'���	����	�� ����$���	���' 	�'	����� �"	��F	�! ��4	 �	!�	�"?������P�+��
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�����!��$���! ��� ����	������!#$	���	�������	���	�&�= '�!	�?�!	���	$����	����,	��	���	�!	��
��$$	��������!	��!������&	���'��� ������'�$$	����	�$ � ��	���9��!	��	$����	����,	��	���	�
�	�<���� � ���������������	������� 	����	�������'�����������'������	�!��,�����	���!�&�� 	�	��
C��'� ����	���$��	�<�C�'�	����'�$$	?�����	<	$�!	?�!	���$��	��@���"	�������!������	����
	�'��	�!	��'��� � ����$������!�" (�	���0@��,	'� C��	�'	�'=�� ��	�	����@ ���"�	���	���	$���
�	����,	��(� �&�� 	����	!���!�����	��	�����������&�= '�!	��C ���	�$���! �	������	<	$�!	�!	��
�=���$#�	�� �@	$����	 !!�"	� (� � �	� ����� �	��� ����� ��� ���	��� ���� 	��� 0@=-���=#�	� 	���
(�	�!��'��"	�� �����	�%�'	���@	$����	 !!�"	���	���B��	�	�� $�	����'������	�!��,�����	�	��
���'�B��	� ���"��	�%�!��$���! ��� ����0	�����!#$	���� ����	��	���������'���	<�	����� (�	��D�
!	�� �����	�� ����� '����	��  � � �!	$	���� 0�� ���� � ! ��� �����	���	� ���� !	�� ��$$	��� �����
�& �	��!	��� '���	�'��"	�� ���	����"�!	$	����� �	�	��'�$��	��
�

�	������'=	��	�����!�� ���	���	�<��=��	���	�'	�����!#$	�	����������	���!!	�'��� ��	?�
��	$ #�	$	��?� %� �������	� ����� ��	� �����'=	� $���'� �#�	� !	� ����!#$	� �D� !	� &�= '�!	�
��	������������ ���%����	���	�����!	����$$	������ �?������!���	'���	��=��	?���	������'=	�
�	�����!�� ���	����������	������ ���"�	��!	���	$����@���	��	��0	����!�� �������	��	�������
!�� ��	$ #�	� �=��	� ����� �� ! ��	�� ����� '������ �	� ��	� ����!�� ���  � � �!	� �	� !�� �	'���	�
�=��	���	��	��	'���	��=��	� ��� �	� !	�����!#$	��	�$�� #�	�� 2'� �#�	?� !	��'� �#�	�������� !	�
�	$����	�'���� �	��	��'=��CC	����	��!������	�����!	��	��������	����

"���� (��
��	�	�����
�!��������
3.1.1.� Contexte de l'étude 
0	�����!#$	�'��� ����������'	��	����� 	��@	��������������!#$	��	�����������%�!���	$���	���@	���
�������!#$	��	�������	���	�&�= '�!	��$� ���'����� ��?������!	(�	!����&��'��� ���	��������	��
�-�	�� �	� '����� ��	��� 0���,	'� C� 	��� �	� ��&	!���	�� ��	� $��=��	� �	� ����!�� ��� ����� ���
����!#$	� �	� ���������� ����� !	(�	!� �	�� �	$��� �	� ���,	�� ���	��	��� ��� �	$���� 0	�� $��=��	��
��&	!����	������������!����B��	�������	��������������	�!	�����!#$	��������������%�!���	$���	�
���	����������	$���� �


�	�����	����' C ' ����������!#$	�'��� ����?�'��'	��	�!	�C� ���@����� �	��!	�&�= '�!	�%���	���	�
�	�� ����	�� ������� ��� ������	�� 0	� $��#!	� C� �� !�� � �� �'� ��� 	���	� !	� �	$��� �	� '���� �	� ���
'=��CC	���	�������	$����	����&� !���	������	���������! "��� �	�������!��!�" �!�� �������	$����	�
���&� !���!!	���	�&	���B��	���� � ����	��������	�$	���	?��������	�'	��� �	�$	���	?��@�& �	��%����
'�$ ����	� �@	�"�"	�� ����� ��� �<	� �&	'� ��	� C���	� �	�� ��� �	� ���C '����� '��� �	� '��"	�� ��?� !	�
'�$ ������'�������	�C� �!	�� ����'	��	���������!�����	��	$��� $����������	��	�� ���� ������	��
'����(�	�'	�� ���� !	� �	$��� �	� '���� �	� 	�� ���� !	� �	$��� �	� ���&� !� 	�� �� �� B��	� �& ��� !	� �!���
���� �!	���
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���"������!	���	$����	�����	����'������	�!��,�����	?� !�	������� �!	��	�'����L!	��!	�����	���	�
�����"	� I��� &�	K� ���� !	�� ��'�� ��� ���	��� ���� 	�� 	�� � �� � �	� '=	�'=	�� �	�� ��!�� ���� �&	'� ���
�	$����	�'���� �	��!���C� �!	�$� ������	$����	����&� !��!���"����?�!��� CC��	�'	��	������������
!	���	$����@���	��	����$$	�!	���	$����	�'���� �	�������	�� �!	$	����!����	� ���(�	�!	���	$���
�	����&� !?�'	' �%�����	������� (�	� $���������
�!� C���� $	���	� '	� �-�	� �	� �	'=	�'=	� ����� !	� '���	<�	� "!���!� �@��	� '�$��"� 	� �	� �����������
�!�� C 	���	��������������������	���	�	��'�$��	�!	��&�� �� �����	��	$����	����,	���	����&� ���	��
'����(�	�'	������!	��!��� �"��	��'����'�	�����
�	�����!�$�� (�	�	����@�& �	���	��	��	����&	��
!	���� ���	��&	 !!	���	�R		A	����&	'��	��'����'�	����	��'�$ ����I�&	���	!!	$	���'=��"��K������
!@ �'���' ����	��	,� ���	�!	��'! 	�������!	����L�������'���	��	�'����� ��	��	��	$����	�'���� �	��
�	��	�� ���� ���	�����#����$$�"	��!	������!����' �����	�����������(� ��	��	����&	��!�����	&����
���'=� <�� CC ' !	�
��� ����-	���	�� ��	$� �����@�!� "�	$	����	�������$ ' !	����'=��CC	��?��� ��
	�&�-	�?�!���(�	�'�	������� �!	?�����	�< #$	�'=��CC	�����$	�	��!	�'�$ ����0	��	�< #$	�'���
�	� =	���	� ���� � %� !�� !�" �!�� ��� 	�� & "�	��� 	�� 	�� ���� '�! 	�� ��<�  ��	�� '� ���� �	� ' �'�!	�� !	�
R		A	���	��,�����C�� ����

�����!	�'����	�����������!��"�	�� ����'	?�!	���=���$#�	������� �� �	��(� ���!	�� ��	���!	����C '�
���� 	�� I�	������ ��<�'��"	�� ���� ���� !	���� �=�� (�	����� 	<	$�!	K��	�&	��� �&� ����	� C� �!	�
����	�������������%�!������	��@��	�������	���!�	����& �	���(�	�!������'� �������	$����	�'���� �	�
���� !@�,���� �	� ����	� ����!�$	��� �	� ����� !�� ������	� �	�$	�� ���& �	�� ��� ���� �	� !	� '���
��$$�"	��!	��@���'�$ ��������������'=����

3.1.2.� Problème de tournées de véhicules (VRP – Vehicle Routing Problems) 
0	� G6�� 	��� ��	� 	<�	�� ��� ��� ����!#$	� ��� &�-�"	��� �	� '�$$	�'	� I1��K� ����� !	(�	!� ��	�
C!���	� =�$�"#�	� �	� &�= '�!	�� 	��� '��� ����	�� 0�� C!���	� �� �� ! &�	�� ��� 	��	$�!	� �	� '! 	����
$���! ��������!	����$$	����@���"���=	���@	����������!#$	��	��-�	� 2 2 ��D�����	�!�
�-�	��	������ ��	���'��� �������=�(�	���$$	��I'! 	��K����"���=	��� ��B��	�! &�������	�'	��� �	�
(���� ����	������ �����	�����!#$	� 	��� ���� � ���	!������!#$	��	� ������	���	�&�= '�!	�� �&	'�
'���' ���I�G6��P����������
	��
����
����������
���
�K?�'������&�= '�!	��	��	������������	��
(����	�(���� ���! $ ��	��	������ ��������'	�'=�� ��	?�!������� ���G6��	����� ! ��	��

�����!	�� �����'	���	��� !!	�����	8����� �	�?� !�	< ��	������!��! ��������	��	���!"�� �=$	��	<�'���
�	� ����!�� ���� ��� ����� ,��(��%� ��	� '	��� �	� �	� '! 	���� IF�!��'' � 	�� �!�?� �))�K�� ����� !	��
 �����'	�� �	� �!��� "����	� �� !!	?� !	�� $��=��	�� ��&	!����	�� ����� �	� �-�	�� =	�� �� (�	� 	��
$���=	�� �� (�	��
��������	� !@�����	�'	��� CC��	��	��$��=��	��	���� ���� �!	������ !	� ! &�	��	�
I1��=�����G "�?��))�K��

3.1.3.� Problèmes de tournées dépendant du temps (modèle étudié) 
0	������!#$	���	�������	���	�&�= '�!	���&	'��	$����	����,	�����	����������	$��������	�'��	�
���	8��	������ ��������!��! ��������	����������?�	��8��	����� �	?�!	��	$����	����,	���	��&�= '�!	��
	���	� �	�<� �� ���� ��� ���	��� ���� 	�� ��	��� ���� '�������� 	��  !� ���	��� �	� $�!� �!	�� C�'�	�����
�	��� ��� C�'�	���� ����� '������ '�$$	� !�� � ����'	� (� � �����	� '	�� �	�<� �� ���� ��� !�� & �	��	�
$�< $�!	� ����� ��	� ����� !	� &�= '�!	����� �	&��'=	?� �@����	�� C�'�	���� ����� $� ��� ���& � �!	�?�
����	<	$�!	�
�

�� !	���'' �	����E�
�� !	��'��� � ����$������!�" (�	��E�
�� !	�����&��<�E��
�� !	���$��	������"	�������!������	�E�
�� !	��'��� � �����	�' �'�!�� �����<� ��	��	'� ����E�
�� 	�'U��
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���$ �'	��	��	'���	�'���"�� 	��	��=#��$#�	�?� !��@	����������� �!	��	�'����T��	�!@ $��'��	<�'��
(�@ !����������!	��	$����	����,	�������'����	?��&	'���CC ��$	����	������	������!	��'��� � �����	�
' �'�!�� ���������	�?� !�	������� �!	��	�!	��	�� $	�����	8����' ��$	�����	�������	���	�&	���B��	�
� ���� �!	�� "�V'	� ��� ��&	!���	$	��� �	�� ���&	!!	�� �	'=��!�" 	�?� '�$$	� !	�� �����	 !�� �	�
"� ��"	�5���	��!��'���	'� ����5���!�-������'��	��!���	���!����	�'���' ����� �C��$�� �������!	��
�	$����	����,	��	���	$�����	!�� �� �(�	�����!	���&�!�� �������'������	�!��,�����	?��	�!���	$� �	�
	�����$� ����!�	������'����� �!	������	� ���	�� �C��$�� �����!������' �	��(�	�!��� $�!	�& �	��	�
$�-	��	����!	��	$����	����,	��$�-	��	���	��	�<�'! 	�������$$	�!@ !!����	�!��C "��	����?� !�	���
���� �!	��@���	� ���	��& �	��	��$�-	��	��	��C��'� ������,�����	�!���	$� �	�	���	�!�=	��	��&	'�
!	� �	�& '	� 5��"!	� .���� ���� 	<	$�!	�� 0	�� '��!	���� �	�� ��'�� �	��	�	��	��� !	�� '��� � ���� �	�
' �'�!�� ����=�� ��	!!	�������!��& !!	��	��!	�$���2/	������%���	�'	��� �	����	��

����� !@ ������?� ����� !	�� ����!#$	�� �	� ������	� �	� &�= '�!	�� �	� !�� ! ��������	?� !�� & �	��	� �	��
&�= '�!	�� 	��� ���&	��� $���! ��	� ���� ��	� '�������	� ���' C (�	� %� '=�(�	� ��'� ��� "���=	�� 0	�
�	$����	����,	��	����!����'�!'�!��	��� & �����!��� ����'	�	���	�!	���	�<�'! 	��������'	��	�& �	��	�
$�-	��	��
�	��	!!	�$���! ��� ���	����	������	�%�	�"	���	���	���	�����������!	��! &�� ������	��
'! 	���� ���'	� (��	!!	� �	� ��	��� ���� 	�� '�$��	� !�� &�� �� ! ���� �!!	� �	��� ���'� '���� �	� %� ��	�
 $���� � ! ��������!	�'=��CC	����	����! �	�����������	�!���(�@	!!	�	���$ �	�	�����! '�� ��������
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'	��� ��� ��� '!	�� ��� �	��� �	�� ����!#$	�� �	� ������	�� �	� &�= '�!	�� ���	������ ��� �	$���
I1�G6�K?� '�$$	����� 	<	$�!	� I.�!�����A � �������A �?� �WW�K���!��� ��'	$$	��� IS	������
�"!	�	?��)�+K���� �	����������!#$	������!	(�	!�!	���	$����	����,	��&�� 	��������$���! �	��!	��
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%� �	��'���� �@	<'	�� ����� �	�� ���&��<� ���� ���� $	���� ���� !	�� �	$��� �	� ����	� ����� !	��
����!#$	���	�������	���	�&�= '�!	����	��	<�! '�� �������� !!�	��� �� �(�	��	��	<	$�!	����������
��������������!���=#�	��	�G ��!�IG ��!?��)��K��

0�� ���&	����� ����� '	� $��#!	� 	��� (�	?� ����� ���&� �� ���C �	�� �	� !@�&�!�� ��� '�������	� ���
���	��?�  !� 	��� ���� �!	� �@ �'!��	� �	�� ����	�� ������� !�� ������	�� �	�� ����	�� �	�$	��	���
����$$	������&�= '�!	��@���	���	�(�	�!@�����������	����&�!�	��&�����	��	���� �������! &�	�����
���&	���'! 	�����	� �-�	��	���C!	< ���	���'����$$	���$	������� !	������$�� ! ��	��	����" ���
��� � 	��	�%�!@�����'=	������� �=�� (�	��7 �� �%��=�)����$�� �?�����	����	�����&	���	&����!��
����!�$�� (�	��� &���	�
��

�� 	$�����	��!	���� �=�� (�	�	��'��� ��!	�� �(�	��	��	��	���!�(���%��)A$Z=��	�������=�
�� ���	���	�������	�� �	��	��	�����	��=�)�%�X=�)������	$�����	��!	���� �=�� (�	�%����� ���	�

X=�)?� ���#�� !@=	��	� �	� �� ��	� 	�� �	� ����	�� �!���� (�	� �)� $ �� ����� ���&	��	�� ��� �� 	��
	$���������!	���� �=�� (�	��

�	�(� ��@	��������������"	��(�@���� $�!	�����!#$	��@��� $ ��� ���! ��%�����'��C�����	�'���� �	�
�	& 	��� ��� '� �#�	� �'���$ (�	� ����� ��	� 	���	�� �	�� 0	� '=��CC	��� �������� ��	� =	��	� ���� !	�
��� �=�� (�	� '����$$	� ��	� ���� 	� �	� ���� �	$��� �	� '���� �	� �	� !�� ,�����	� �!���� (�	� '	!� �
���	�������=�������	�� �	��	��	�����	�C� ��(�@�� ! �	������	$����	�����	���'�$�����	������	$���
�	����&� !��


�	� ������	��	������'�B��	���'����	�	�� ��� ���!�$	����� CC��	���� 
� !	� �	$����	�'���� �	?� !	�
�	$��� �	� ! &�� ���� 	�� !	� �	$��� �	� ����	�� 0@ ������'� ��� �	� ����	�� ����� !	� $��#!	� �	���
�	�$	���	��@�$�! ��	�� !�� (��! ����	�� ��!�� �����������	�� �����!�� 	������ �������	$ #�	$	��?�
����� ����	�&�	����'=��CC	��?� !@�,�����	�����	��������� !��������	��$�! ��	��	��'��� � �����	�
���&� !�� �	� �!��?� 	�� ��� � ������� !	�� ����	�� %� �	�� $�$	���� ������" (�	�?� 	!!	�� �	�&	���
�	�$	���	��@���	���	� �	�� ��� ��	���!������� '	������� �	����!�'	��� 0	� '����'�	�������	� � �� �
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�	�< #$	$	��?� ��� �� ��� �	� &�	� �	� !@	���	�� �	?� !	� �� <� �@��� &�= '�!	� 	�� ����	� �@	��� ���� !	�
$B$	� (�	� !	� �� <� ��� &�= '�!	� 	�� $��&	$	���� �!� �	��� B��	� ���C����!	� �@�''���	�� ��	� ����	�
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�	��	���!�(�����	�=	��	���������	$����	 !!�"	�%�!@	����	��	�!��& !!	���

0�� ��!�� ��� �	'=	�'=�	� �	� '=	�'=	� ���'� ���� %�$ � $ �	�� !�� � ����'	� ���'����	� ���� !�� C!���	�
'�$$	������!	�G6����!!	�& �	��!��L��%�$ � $ �	��%�!��C� ��!	��	$����	�'���� �	�I��K��	�!��C!���	�
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�!� C�������	��(�	� !	� C� ��(�	� !	�� �	$����	� �����������&�!�	���� CC��	$$	��� !	�������	������	��
 $�! (�	� (�	� !	� �!��� '����� '=	$ �� 	���	� �	�<� �� ���� ��� "���=	� I���	��� ���� 	�K� �&�!�	� ���
'������	�!��,�����	������'����(�	��?��	�<���!�� �����&	'��	�����	���	��������� CC��	��	������!	�
���L���	�&	���B��	��$	��	��%���� �	��!	��'! 	����������	������	����#��� CC��	����������$	���	�'	��
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C� �� ����� !	� G6��� 0	� ����!#$	� 	�� !	�� ��!�� ���� ����� 	<�� $��� ���� ��� "���=	� [���� 	�[�� �	�
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��=*�� ��� ��=��� %� ��� '=��CC	���� ��� ����� ����� �	� '���	?� 	!!	� �	�� �� ������ 	� �	� !�� �����	�
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"� �� '�&���	���
�&�������
��	���	�	���
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3.2.1.� Définition et notations du VRP 
0	� G6�� 	��� $���! ��� ���� ��� "���=	� ���2�� 	���� ��&	'� �
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�� !��'���' ���$�< $�!	����&�= '�!	�	����	��	'��	�	��������� ����	����������	�E�
�� !	���$��	��	�������	��	��� �C�� 	�������"�!�%� �I��$��	��	�&�= '�!	��� ���� �!	�K�E�
�� !������	�����!	��	��������	��	��� �C�� 	��	�% ��

5�����!	$	��� !	� G6�� 	��� ����!�� ����� ��� "���=	� '�$�!	�� ���� �� 	���� 	�� �� ! �	� !�� � ����'	�
	�'! � 	��	�	���	�!	����$$	���'�$$	�'�Q���0	��	$����	����,	��������	����B�	 	���'��������	�����
&�!	��� 	��� !	� �!��� ���&	��� �"�!	� ��� ������� ���	!!	� %� !�� � ����'	� 	�'! � 	��	�� 0�� C��'� ���
��,	'� C� ����' �	� ��� G6�� '��� ��	� %� $ � $ �	�� !	� '�Q�?� �!�� ��$$	� �	�� '�Q��� �	�� ���B�	��
	$������	�� ���� !	�� &�= '�!	��� ��C �?� !	�� ���	�� �	� �����"	� ���� !	�� ��$$	��� �@���� ����
�@ $������'	��� �(�@ !�� �@���������@ �C!�	�'	� ���� !	� '�Q���	� !�� ��!�� ��� 	�� (�� !� ��-� �������	�
C	�B��	��	��	$�����

3.2.2.� Définition et notations du TDVRP 
0	�1�G6���	�$���! �	��������"���=	��� 	����(� � �	����	��	�����	<	$�!	�������	������� 	���
�	� "���=	� 	��� ����� ��&	' �!@�� ��� �	�� ��$$	���

�	����	������ !	�� '! 	���� 	�� �	�� ��$$	���  ��	�$�� � �	� �� �	��
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C "��	������
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$�-	��	�����&�= '�!	�����!@��'������� CC��	��	����� ��	���	��	$���(� �'�$���	���!��,�����	���
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'! 	���%��������	���	��!���!	����$$	���'! 	������������� ��	����$$	���(� ��	�&	���B��	��� ! ����
�����!	�'=	$ �����&�= '�!	�������	! 	���	�<�'! 	�����

3.2.4.� Coût d'une solution et fonction objectif bi-critères du TDVRP. 
0	�'�Q������' ��%���	���!�� ���	���'�$������	��	�<�'� �#�	��(� ������!����$$	��	�!������	��	��
������	�� ����	� �	�� !�� ��$$	� �	�� �	$��� �	� '���� �	� ����	�

��&	'� ���	�������	��	 ���	�'�Q��	������� ���

0	��&�!	���� �	�� ������!	���	�<�'� �#�	��(� ���C � ��	���!	�'�Q���	�!��������	� ���!�������
'�!'�!����&	'�!	��C��$�!	���� &���	��
��

�

�

0	��	$����	����,	�����	����	�!�����	��	�������� ������!��������	� ������$$	� ��0��&�!	���
��� �	$����	� ���,	�����	����	� !����� ��	 �%� !�(�	!!	������� 	�� �� �'���	������%� !��
���	��	��	������0����$$	��	���	$����@���	��	� �	����"�!	�%�
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0	�'�Q���@��	���!�� ���	������'�'���'��� ���������� !��	!�'�$������	��	�<�'� �#�	����	� !��	!�
�	"����	��!�� 	����'� �#�	�� ��&	'� ��D� �	���!	���$��	��	�'� �#�	���
�	��#"!	��	�
��$ ���'	���� '�	� ��	���B��	���C � 	��	�!��$�� #�	��� &���	�
�

��C � � ��� ���
� 
�� !��	!� ���$ �	� ��� !��	!� ���� �	��� �	� I���	��?� �XW�K?� ?� � � 	��
�	�!	$	���� �

�	�� �

��$$	�  !!������ ���� !�� C "��	�����?�������������!#$	��D� !	���	�<�'� �#�	�� I��K� 	�� I��K� ����� %�
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��C � � �������
����'�*+�
��
�����*�	������	��	$�!	��	�!��	!���	!�(�@��'���!��	!��@	�����$ ���
�����������	�!��	!����C������9�����!	��!�����@	��	$�!	��	���$��"
+*+��*-�+4"���
��C � � ������
�!	�'�*+�
��
�����*
*)��-���	���'���� �����	�!@	��	$�!	��	��!��	!��(� ��	������
��$ ���������(&(+�����	�!��	!���

0	��!��	!��������� ! ������������!��"��	�!��$��=��	��	�����!�� ����&	'�� CC��	����'� �#�	����@	���
����(�� � '	�� ��C � � ���� '��'	��	��� !	�� !��	!�� 	�� ���� �	�!	$	��� �	�� !��	!�� %� �	�<� '� �#�	��
'�$$	�'	�<�����' ���%���	���!�� ���������!	�1�G6�?�!	���	�<�'� �#�	��(� �'�$���	���!	�'�Q��
�	�!����!�� ����������� $ �����	�$�� #�	�%�'��� ���	��
��

�� !��$ � $ ��� �������	$����	�'���� �	�����!��	��������	�?� �E�
�� !��$ � $ ��� ����	�!������	�����!	��	��������	�?� ��

0���,	'� C� '��� ��	� ���'� %� ����&	�� !@	��	$�!	� ���	��2��� $�!�� ����� ��� ����!#$	� �	�
$ � $ ��� ��?�!@	��	$�!	����	��2��� $�!��	���B��	��	����	�����������"���=	� �	�� (�	�%�'	!� �
�	�!��C "��	������%�"��'=	��7����C������	����	���	�������' ����	�$	���	����	!��!@=-�	�&�!�$	�
(� ��	����	��	�!��(��! ������C����?� !!�����	�%���� �	��	�!��C "��	��������	�� �� '	������� ������ ��
����IH �8!	�?��WWWK���������&� ��'�$���	��!	��C�������	����	���	���	�	�<���!���'	�� �	��	���C � ��
�	��&�!	����$�< $�!	�������'=�(�	�'� �#�	��
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������ �	$	�������!���'�����'=	$ �������!	�����!#$	����G6�?� !��@-��������	����'�!'�!�� $�!	�
(� ��	�$	��	��	����'A	��C�' !	$	���!	�$	 !!	���'=	$ ��	���	��	�<���$$	�����	����'�!'�!�	���
� CC ' !	�%����! �	��	������ (�	�'���!	�$	 !!	���'=	$ ��	���	��	�<�'! 	�����&�!�	�	��C��'� ����	��
���	�� �	� ������� ���� !	�� ��$$	���� �	' � ��! "	� %� ���'A	�� !@	��	$�!	� �	� ����� !	�� �!��� '������
'=	$ ��� 	���	� �	�<� ��$$	��� ����� ����	�� !	�� ���	�� ���� �!	�?� '	� �	& 	��� (� � 	�� ���� (�	�
��� �	$	���&�!�$ �	�<����

�����'	��	����� 	?�!	���!"�� �=$	���� ! ���������'�!'�!	��!	��!���'�����'=	$ ��	���	��	�<�'! 	����
�������	����	��	��������C <	���������� ���	��'��� ��������	�<�'���
��

��  ��	�� �	�!@���	��	�����!	����$$	���E�
�� ����� �	��!@���	��	�����!	����$$	����

�	�'=	$ ��	���	��	�<�'! 	����	������'=	$ �������!	(�	!���'�������	�'! 	����@	����	�& ��7&����
�	�����	��	��!	���!"�� �=$	�?� !�	�����'	��� �	��	����� !!	��!	�'�!'�!��	���	$����	����,	���

3.3.1.� Modélisation des temps de trajet sur les arcs 
����� !	�$��#!	?� ��	�& �	��	� 	��� ����' �	� %� '=�(�	���'� 	�� %� '=�(�	���� ��	��0�� !��"�	����	�
!@��'�	���'����	��
��	<	$�!	�	��� !!����������!��C "��	����*?�����������'��	���%�)��0@��'�$	���	�
�+� A$� 	�� ��� �� ��� ��	�� ����� '��� ����	�� ����� !	�(�	!!	�� !�� & �	��	� 	��� ��C � 	� ����� !	�
���!	�� ���

�����'�!'�!	��!������	�������,	��	���	�!	���	�<���$$	������"���=	��������	����	��	�������� ?�
!@ ��	� !�� �!��� � $�!	� 	��� �@���	� �� !�� ��� ��	� ����' �	� %� �� �� �?� 	�� �� ! ����� !�� � ����'	� 	�� !��
& �	��	� �����' �	�%� ?��	�'�!'�!	��!������	��0	�����!���������!@	<	$�!	�	����	����	�������� !��
C "��	����+��0@�&�!�� �������	$����	����,	��	����!�����	����	���	��&	'���� ��� �����"	�������!��
C "��	?�  !� ������T�� �!���� �	�� � �'��� �� ���� 	���	� !	�� ��� ��	��� �	�� � �'��� �� ���� 	�"	���	���
�	������!#$	������� !	�$��#!	�(� ��	�&	���B��	�$ �	�	���& �	�'	��&	'� !�� C "��	����+��� ����
��	$ 	��&�= '�!	������%� !�����	�XW?� !	��	$����	����,	������' �� %�!@��'�	����!�����	��)�$ ���	�?�
�� ��� �����	'����&�= '�!	�������	�<�$ ���	�����#�?��!���������	$����	����,	���@	����!���(�	��	�
�)� $ ���	�� 	�� ���'� !	� �	'���� &�= '�!	� ��� &	� �&	'� ��� �	�� $� ��� �	� �)� $ �� �@�&��'	� ����
�������������	$ 	���

�����������	�����	!?� !��	������ &	��(�	��	�<�&�= '�!	���	�����!	����������������,	��	��(�	?�����
'����(�	��?�!	��	'����&�= '�!	���� &	��&����!	���	$ 	����	�	������'	�'���	���'��� �����'�$$	�
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������	�������	���	�	��'�$��	�!	������ � ! �����	�������	$	��������!	�$��#!	?�!	���	$����	�
���,	���� &	����	��	'�	����	������ ����� �	�[/ �������/ ����9��[�I/�/9K���	��	������ ���� $���	�
(�	� � � �	�<� &�= '�!	�� �� ! �	��� ��� $B$	� ��'� 	���	� �	�<� ��$$	��?� !	� &�= '�!	� (� � ����� !	�
��	$ 	��	������� �'	!� �(� ���� &	�	����	$ 	������!	���$$	���	��	�� ��� �����!���-������'������	�
���� � ! ����	�������	$	�����

�	� �-�	� �	� ����� ����  $����� ��<� $��#!	�� 	��� '������� ����� !�� ! ��������	�� 9�� �	��� ' �	�� ����
	<	$�!	�!@��� '!	����! ������I�'=����	���!�?��))�K��D���	�C��'� ����������������	������'�!'�!	��
�	���	$����	����,	���	��	'�����!��'����� ��	�/�/9����������'������!	��& �	��	�������'�������	��	��
'����	�� ���� ��� ��	��� 0��!"�� �=$	� �� �	����	��	� !	� ��	���'��	� ����' �� %� '	��	� C��'� ���� �!�
��	���	������$#��	����	����	���	����	��	������������� !	�&�= '�!	� � �� �(�	� !	�� ��$$	��� �	�
������	���	�C ���	�!���'���!��	�����	�!	��	$����	����,	������ �����$ �!	��&�� ��!	��"!���!	�?� !�-�
�� !�� � ����'	� �	� !���'� �� �� � (�	� !�	��	$�!	� �	�� & �	��	�� ������ !	�� � CC��	��	�� ��� ��	��

'��� ����	����

0	������!	$	����	�!@�!"�� �=$	�	���!	��� &�����7�!�� �	��	�!��C��'� ��� �!��!"�� �=$	�
��� 	��� !�� ��� ��	� �%� !�(�	!!	� '���	������ !�� ���	� I! "�	 K�� 0�� & �	��	� ��� &�= '�!	� %� '	��	�
��� ��	� 	��� ���'� '����	� "�V'	� %� !�� &�� ��!	 �� 0��!"�� �=$	� '�!'�!	� �!���� !�� ���	� �%�



Temps de trajet dépendant du temps 117 

�

!�(�	!!	�!	�&�= '�!	���� &	��� !�&�-�"	�%�& �	��	�'�������	 ��� �'	��	����	�	�������� 	��	�%�!��
C ���	�!����� ��	� ��!����!	�&�= '�!	���'=��"���	���� ��	��������!	����,	��	�����'����& �	��	���
���� �'=��"���0��!"�� �=$	��	���	��!���������!�����'!	�[R= !	[�(� �&���	�!��! "�	�+�%�!��! "�	�
�)��1����(�	�!�����	������ &�	� ���	��������!����	� �	�(�	�!��C ���	�!����� ��	�'������	 ?� !�
������� �� !��� ����'	����'����	����� !���'�������� !	� �	$������������� !����� ��	�'������	 �%� !��
� ����'	� (�	� !	� &�= '�!	� �� �� ���'��� � �I(� �  � � �!	$	��� 	��� �"�!	� %� K�� 0�� ��� ��	�
'������	��	& 	����!����!����� ��	 ��

�

0��!"�� �=$	�'�!'�!	�	��� �	�!�����&	!!	����	��	�C �� �	����	�����'�$��	����'=��"	$	����	�
& �	��	��0������� ���	���������	�,��(��%����	� ����	����	��	�C �������!����� ��	�'������	���

0	��	$����	����,	��	��������� �%�!��$ ���	������ 	��	�%�!��! "�	�����	�!@�!"�� �=$	���

Algorithme 1� travel_time_calculation_procedure (Ichoua et al., 2003)  

Input/Output parameters 
  : departure date 
  : starting and ending nodes 

Global parameters  
  : distance from node  to  
  : speed of the vehicle between  and  during the period  

Variable parameters  
  : departure date with a specific speed 
  : arrival date with a specific speed 
   : remaining distance 

Output parameters  
  : travel time between  and  for the departure time  

Begin 
1�  :=  
2�  :=  
3� :=  
4�  :=  
5�  while ( >  ) then 
6�  |  :=  -   
7�  |  :=  
�  | 

9�  |   
10� end while 
11�  : =  
12� return { } 
End 

0��C "��	������ !!����	�!	�����!�������	�������!��C��'� ����������	�����I�'=����	���!�?��))�K������
!	� $B$	� 	<	$�!	� (�	� '	!� � �	� !�� C "��	� ���+�� 0	�� �	$��� �	� ���,	�� '�!'�!��� ����� �!����
�	����	�����������	�C��'� ���'��� ��	�����!��,�����	��0��&�!	�������	$����	����,	��	���'�������	�
���� !	� ������ �	� !�� ��� ��	� �� �� � $ ��	� ��� ��"$	��	� ! ��� �	$	��� ����� ���	 ���	� !�� &�!	���
���&�	�����������	�!����� ��	��� &���	��
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�	�� �!"�� �=$	� 	��� �� ! ��� ����� ����� !	�� �!"�� �=$	�� (� � ����� ����	����� ����� !�� �� �	� �	� '	�
'=�� ��	�������� $�! C 	��!	������� ���?���	�&�� ��!	� �	����� ! ��	��!��L��(�	��	����	��!@���	!�%�
!��C��'� ���[ ��C ���@	<�� $	��!	��	$����	����,	��
	���	�!	����$$	��� �	�� �������������������&�= '�!	�%�!�����	 ��

3.3.2.� Calcul du plus court chemin en interdisant l'attente sur les sommets 
����� !	� 1�G6�� ��� ��	$ 	�� '�!'�!� ��� �!��� '����� '=	$ �� �	��� B��	� � �� �"��� �	�� ����	��� �!�
'��'	��	� !	� '����D� !@���	��	����� !	�� ��$$	������"���=	�	���  ��	�� �	�������'	��	� � ���� ��?� !	�
&�= '�!	� �@�� (�@��	� �� (�	� ���	� �	� ������� ���� �!	� !���(�@ !� ��� &	� ���� ��� ��$$	��� �!!	�
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3.3.3.� Calcul du plus court chemin en autorisant l'attente sur les sommets 
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      a) Règle de propagation
      b) Règle de dominance
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	��	$�!	��	�!��	!������!	���$$	� �'�$$	� !!����������!��C "��	����*��0���#"!	��	���$ ���'	�
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��	���	��	����' � ����%�!@����	� ��	�!@�!"�� �=$	��	��	!!	�����	�(�	�!	��'=� <��� 	������ $��<��
�' �!���#"!	��	���$ ���'	���C � 	����������$$	���	�&�� C 	�����'	��	�'����� ��	�����	CC	�?� !�	���
���� �!	�(�@���!��	!�0���$ ��������������	�!��	!� ����������$$	�� ��� ��	������"	���	��!��	!��
(� �����!���� �	������� 	���B��	�$	 !!	����(�	�'	��� ���!��	!�����	����%����� ���	� ��
�����  !!����	�� !	� ����!#$	?� '��� ������� �	�<� ��$$	��� �	����	����� ����� !�� C "��	� ���+�� 7��
��$$	�� ������ ����' ��� �	�<� !��	!�� 	�� ��&	'� �I++E�X)K� (� � ��$ �	 �I+�E�W)K�� �	!��
	����T�	�	���� �' �	�!�������	�� ����	 ��6���	!����(�	�!������	�$ � $�!	��@��	�����	�	����	�

�$ ���	��������!	�!��	!� �!	�������������� �!	���������<����	��
��X)?��W+?���)?�	�'������� �
'	��'=� <�'���	�����	������'����D� !��	�����������	��� �	�%�!�����	��W)�	�����'����D� !�C� ����	�
����	� �@��� $� ��� �+� $ ���	� 	�� �	����� ��� (����� �@=	��	� ����� 	��?� '@	��2%2� �	� %� ��)�� 0��
��	$ #�	����	��	���������W)������ ��@	��������''	�� �!	������!	���	$ 	��!��	!� ��� �!	��	$���
�	� ���,	�� ����� '	��	� ���	� 	��� �!���  ����	������ (�	� !�� � CC��	�'	� �	� I��K� 	���	 �	� ��!���� ���
!��	!����2��$ ����	���B��	�'������@	���!	�'��������!@	<	$�!	��&	'�!	�!��	!� ���
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0	������!	$	����	�!@�!"�� �=$	�'��� ��	�%������"	��!	��!��	!���@�����$$	��'������� �&	���!	��
��$$	��� ��''	��	����	���� ! ����� !�� �#"!	��	������"�� ���� 0	�� !��	!�������"��� �����$��(����
'��� ��� ��$$	�� �	��� B��	� ��� ��� �!�� 	���� C� ��� 
� (�	$	��� !	�� !��	!�� ���2��$ ���� �����
'���	�&������������$$	����''	��	�� �	��!���#"!	��	���$ ���'	�	����� ! ��	���
�

���� ����!��	!�	����,������!����!	���$$	�� �'���	���������	����,������������	�����'���	��	�1���
. � $�$���	��	� ����'���	� 	��� �� �	����� �������� %� !�� �!����	� �	�&�!	����	� I��K� �	�� !��	!�� ����
$��(��� ?�����	 ���0��'��� � ����@���B���	�!@�!"�� �=$	�	���
�

�� � �� ��!	�1���. � $�$�	���& �	�E�
�� � �� �� !�� &�!	��� �	� I��K� $ � $�!	� ���� ����� !	�� ��$$	��� 	��� �!��� "����	� (�	� !	� I��K�

'���	��������� ��� '=	$ �� ����� ���	��	�� ��	!��(� � ,��� C 	� !@�� ! ��� ������1���. � $�$�
�� ���	!���!	�'� �#�	 ��

0@�!"�� �=$	� �� �	�� �� ����� C��'� ���	�� �@��� "���=	�� 7� '=�(�	� ��$$	�� ��	� '	� "���=	� 	���
����' �� ��� 	��	$�!	� ��	� !��	!�� � �� � (�	� �	�<� 	�� 	��� �	�� �(� � �	����	��	��� !	��
&�!	���� $ � $�!	�� 	�� $�< $�!	�� ����' �	�� ��<� '� �#�	�� I��K� �	�� !��	!�� ����	���� ����� �� 0	��
!��	!�����'A�������� ��	����	��	���!	��'�Q���	��'=	$ ������2��$ ����	���	� �	�� ���
0@�!"�� �=$	� C��'� ���	� 	�� �	�<� ����	�� 	�� '�$$	�'	� ���� ��	� �=��	� �@ � � �! ��� ��� �����
!�(�	!!	�����CC	'�	����!��	!�%�'=�(�	���$$	�� ���"���=	���!�'���	���������!��	!���������	��	��
�	��!��	!����������	����"�V'	�%�!@�!"�� �=$	��	�� ,A����� ������ �������!���	'� ������'��	��	���

7�'���	��	�!��'����� ��	��	�/�/9�!����!�� �����������	��	�	���'	!!	�(� �$ � $ �	�!������	�����!	�
���'=	$ ����!!	��	��	������'�����B��	���$ ��	�������	�����	���!�� �����!!	�C� �����'����� 	����
C������	'=	�'=���

0��$��=��	��	�'�!'�!��	��'=	$ ������2��$ ����	�����'� �	�����!@�!"�� �=$	���	��	!!	���'	�� �	�
�	���C � �����'	��� ����$��	��	����'����	�
��

�� �
� ���'����	� (� � �CC	'�	� ���� '=�(�	� ��$$	�� ���
!��	!� �	����	������ !	� '��� ����� ���	��	�� �!� ���'#�	� '�$$	� ����� !	� '�!'�!� �	� �!��� '�����
'=	$ ����������	��	��0���(�@�����$$	��	��������"�?�!	���$$	��	����,�����������������E

�� �
� %� ���� �� �@��� !��	!� '	��	� C��'� ��� "��#�	�
!@	��	$�!	� �	�� !��	!�� (� � �� &	��� B��	� �����"��� ���� !@��'� �� 0	�� !��	!�� "�������
�� &	����&� �� �	�� �E

�� '	��	�C��'� ����� ! �	�!	���#"!	���	���$ ���'	�����!	��!��	!��
����� �,���	�� � � ��'	��� �	� !	� !��	!� �%� !@	��	$�!	� �� � � !	� !��	!� 	��� �,����� �!���� !��
C��'� ����	�����	� �E
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�

�� !	��$��=��	������' �	��%���	�����'���	��	�1���
. � $�$� (� � �	�$	�� �	� ���'A	�� !	�� ��$$	��� %� ��� ���� ���� !@�!"�� �=$	�� 0	� 1���
. � $�$�	��� �� ������ ��������%� !�����	�$ � $�!	� ��	�� !��	!��(� ������'���	��������
!	����$$	���

Algorithme 2�  

Input/Output parameters 
  : Initial departure date 
  : starting and ending nodes 
  : set of initial starting time 
 : Maximal riding time value accepted on node  
 : Minimal riding time value in  
 : Maximal total duration for the path between  and  

Global parameters  
  : graph 
  : successor of   

Variables  
  : Structure heap of nodes, sort by the value  

Output parameters  
  : set of non-dominated labels 

Begin 
1� stop  
2�  
3�  
4�  
5�  while (stop ) then 
6�  | ; 
7� | for all in  do 
8� | | for all in  do  
9�  | | |  
10�  | | | for all in  do 
11�  | | | | res := ( , ) 
12�  | | | | if (res = true) then 
13�  | | | | | if ( ) then 
14�  | | | | | |  
15�  | | | | | end if 
16�  | | | | |  
17�  | | | | end if 
18�  | | | end for 
19�  | | | if (add = true) then  
20�  | | |   
21�  | | | end if 
22�  | | end for  
23� | end for 
24� | if then 
25� | |  
26� | else 
27�  | | k := () 
28�  | end if  
29� end while 
30� return { } 
End 
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0@�!"�� �=$	����	Y� ��	������$#��	�� �	�� ��I�	�<���$$	��K�	����	����	��	����������!��	�����	�
���	��	$�!	��	�!��	!����=�'����	�'	��!��	!��'���	���������'�Q���@���'=	$ �����2��$ ����0	��
�� �' ��!	������	���	�!@�!"�� �=$	���������� !!�	�������!���� �	��	�'	�����"���=	�

7� !�� ! "�	� �?� ��� 	<�'��	� !@�!"�� �=$	� �	� �!��� '����� '=	$ �� ����� ���	��	� 
� '	!� 2' � �	�$	��
�@���	� ����� !��	!�����'=�(�	���$$	���0	� ����!�����	�'	���!"�� �=$	�	���  !!���������� !�� C "��	�
����� ����� !	� $B$	� 	<	$�!	� (�	� '	!� � �� ! ��� ����� !@�!"�� �=$	� �	� �!��� '����� '=	$ �� �����
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0	���$$	�� �%�"��'=	��	�!��C "��	�������	& 	��� !	���$$	��'������ ���=�(�	�!��	!�'���	���
�����!@	��	$�!	� ����' ��%������$$	�� �	��������"��&	���!	����$$	�����''	��	��������� ��
����� '	!�?� !�� �#"!	� �	� �����"�� ��� 	��� �� ! ��	� 	�� '	��	� ����	� 	��� '���	������ %� !�� C��'� ���

����	!�	�����!@�!"�� �=$	�	��!��! "�	 ���
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�	��	� C��'� ��� "��#�	� !	�� !��	!�� ����� !	� '� �#�	� I��K� 	���  �C�� 	��� %� �	���  �C�� 	���
% ��0��C "��	������ !!����	�!�������"�� ����	��!��	!�������$$	�� �&	���!	���$$	� ��0��
C��'� ���[��$ ��� ��s��!	�[�	������	!�	������'=�(�	�!��	!�"������I! "�	���K��� ����$� ������
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������� ���������� �	$	���%� ?� !��@	< ��	������@����	�����!�" (�	�	��!	��!��	!��
�@��� ��$$	����,%������"���	�&	��� B��	�$�� C ����0	� ��$$	�� 	��� �!���� �� ����������� !	�1���
. � $�$�
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0@�!"�� �=$	� �	� �	�$ �	� (����� !	� 1��� . � $�$� 	��� & �	� ��� (����� !�� &�!	��� $ � $�!	� ���
'� �#�	�I��K��	��!��	!������' ��������$$	��'�������	�������� 	��	�%�!��&�!	������I��K�$�< $�!	�
����!	���$$	��C ��! ���=�(�	�!��	!�����!	���$$	��C ��!�'���	������%����'=	$ ��	���	� 	� ��
��������&� �����	� ��!	�'=	$ ������' ��%����!��	!� !�	��� $���������	�'���	�&	��!�����&	���'	�
�	��� CC��	����!��	!����

�	��	�C��'� ���	����� ! ��	�����$$	��������!@�&�!��� ����	��������	�������!	������ 	���� &���	���
�!!	�	������	!�	� ��D�R �� "� C 	�[R �=�R� � �"2� $	[��
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3.4.1.� Une approche en deux étapes 
�
0@�����'=	� �� ! ��	� ����� �������	� !	� 1�G6�� �	� '�$���	� �	� �	�<� ����	��  !!�����	�� ���� !��
C "��	������
�

�� ����	���
�!	�'�����������	��	����1�G6��	�������!��������'	��	�����	?���	�$���=	�� �� (�	�
�	��-�	�567�� �0��	����� ! ��	�E�

�� ����	� �� 
� ��� �� ! �	� !	�� ��!�� ���� "�����	�� ����� !�� ��	$ #�	� ����	� ����� '������ �	� ��	�
����!�� ����	���!�� ������!!	��	����	��� ����	��������%�!������!�� ������1�G6��������	�
$���=	�� �� (�	�� �	��	� �	'���	� ����� �	� �	�� ���	��	�� ���� �!	�� ���� !	�� ��$$	��� ���
"���=	��
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	1����I
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��$$	� !@���	��	� �@	��� ���� ����� ��	� ����� !�� ��	$ #�	� ����	?� '	� ��	$ 	�� ����!#$	� �	��� B��	�
��� ��� �	� $�� #�	� $���'� �#�	?� '	� (� � � $�! C 	� !@��� $ ��� ���� �	� �!��� ��	� ��!�� ��� �����
���	��	��	�����	�(��! ���	��� ����	�����	�'���
�

����� ����
������������	����	��	$�!	� ��	���!�� �������2��$ ��	�?� !�	< ��	����	���!�� ��������
���	��	� �(� � ������ 	��� ��� C������ � � '	� ��	��� ���� !	� '��?�  !� 	��� ���� �!	� �	� !�� '������ �	� %�
���� ���	������	����!�� �������C�������

��	�&	� 
��� �����	��	$�!	� ��	� ��!�� ������2��$ ��	��(� ��	� '��� 	��������	� ��!�� ��� �����
���	��	�������'������ �	����	���!�� �����������	��	� ?� !�C������ ! �	��!����!�� ��� �(� ���!��
�!����	� �	�&�!	��� �������'=�'��	��	��������	�� �!	�&	'�	��� �	���'���	�&��� �� �(�	�
!�����	��	��������	�!��������	��
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��$$	�� �	�������� �� ��	����	��	�!@	��	$�!	��	�� �&	'� ��0	�"���=	�(� ��	����	�
�������� ��<� 	<�! '�� ���� ����� !�� ���� 	� ���'��	��	� �@	��� ���� '������ �� 	<�! ' �	$	��� ����� !��
C��'� ����0@�!"�� �=$	��	�!��! "�	�+�%�!��! "�	������� �	�!	����$$	����	� ���''	�� &	$	����	� �
,��(��% ���	�!��! "�	�X�%�!��! "�	��)����	CC	'��	�!�������"�� ����	��!��	!��,��(�@%�'	�(�@��	����
�!�� 	���� '����� ��	�� ��� ����!#$	� �	� �� 	��� �!��� &�� C �	��� �	�� '����� ��	�� ����� !�� (���� ���
����������	����� !	�&�= '�!	�	�� � !������	� ����!	��	� !�� ������	��0���(�	� !��&�!	����	� !�� ������	�
����' �	���<���$$	����!!�����	� % 	������	��	�%�!�� ! "�	��+?� !	�� !��	!���	� �����������"���
&	��� �	�� �� &���� !�� �#"!	� �	� �����"�� ���� �	�!�� !	�� !��	!�� ���2��$ ���� ����� '���	�&���
���� ���



132 Chapitre 3 

�

Algorithme 3� split_nw 

Input/Output parameters 
  : giant tour 

Output parameters  
  : a solution 

Begin 
�
�

3�  
4�  
5�  while then 
6�  |  
7� | +1 
8� | repeat  
9� | | load = load +  
10�  | | if (  = ) then 
11�  | | |  
12�  | | else 
13�  | | |  
14�  | | end if 
15�  | |  
16�  | | if ( ) then  
17�  | | |  
18�  | | end if  
19� | |  
20� | until  OR  OR   
21� end while 
22� if ( ) then 
23�  |  
24� end if 
25� return { } 
End 

1.� Evaluation d'un vecteur  associée à une tournée 

��&	'�	��� ��	�'�$���	��@��	��� �	��������	��	� '! 	����'�$$	�Y����	�� C � ������ ������L���
0@��,	'� C��	�!@�&�!��� ���'��� ��	�%�'�!'�!	��!	�'�Q������' ��%�'	��	�������	�	�����	�$ �����!��
���	� �	� ������� ��� '�$ ��� ����� '=�(�	� ��$$	�� �	� !�� ������	� I'	!�� �	& 	��� %� ���	�$ �	��
!@���	��	����� &	����	�'=�(�	���$$	�K�������!	�'�����������	��	�I1�G6�2�RK�!	�'�Q������' ��%�
!��������	�	���'�$��������'� �#�	��� (�	�I��K���

�����!	�1�G6�2�R?�!@�&�!��� ���'��� ��	�%�'�!'�!	��!��&�!	���I��K��	�!��������	������'=�(�	�
���	��	������������ �!	� �	�?����$ �����	��!	��&�!	�����	�I��K?�%���!	'� ���	��!	�'=	$ ��
�	�'�Q��$ � $�!��0��C��'� ��� �	������	!�	������'�!'�!	��!	�'�Q������!���'�����
'=	$ ��	���	�!	��'! 	����'����'�� C���	� ����$$	�!	��!���'�����'=	$ ����������	��	�	����� (�	�
�������	��	�������������!	�1�G6�?�!�����	��@��� &�	�����!	���$$	���� &����	����"�!	�%� %�
!�(�	!!	� 	��� �,����	� !�� ����	� ��� ���,	�� �� 0@���	��	� 	���  ��	�� �	�� �	�	�����?� '�$$	� ���
�	$��� �	� '=��"	$	��� 	���  $����� ���� '=�'��� �	�� '! 	���?�  !� C���� !	� ��	���	� 	�� '�$��	� �����
'�!'�!	�� !�����	��	�������� �@��� ��$$	�� �
� ���	�� ����	�� ����� ������	�� ,��(��%�
��� &	�� ���� !	��	�� 	�� ��$$	���	� �(� � '���	������������L���0	� '�Q���	� !�� ������	� 	��� �!����
'�!'�!��	�� !�'���	������%�!������	�����!	��	�!��������	�I��K?�'�	��2%2� �	�%�!��� CC��	�'	�	���	�!��
���	��	������������ �	��!�����	��@��� &������!	���$$	� ���	��	�C��'� ���	��� !!�����	�����
!��C "��	�������
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0@�!"�� �=$	�*� '���	�����������	���2'��	� ����' �� %� '	��	� C��'� ���� �!� ��� �	� '=�(�	����	��	�
���������''	�� &	$	���%�!@� �	��	�!�����'!	�[C��[�(� �'�$$	�'	�%�!��! "�	���	��(� ��	��	�$ �	�%�
!��! "�	����������'=�(�	����	� !�'�!'�!	�!	�'�Q������� ������' �?�%�!@� �	��@��	����'!	�[R= !	[��	�
!��! "�	���%�!��! "�	������	��	����'!	�	���������	�� �!	�'�Q���	�!��������	�	�������� 	������'�Q��
�@��	��	�� ������	�����'��	$$	���'�!'�!�	�	������� !��&�!	���	�������� ��7��#���&� ���&�!���
����	��!	��������	������ �!	�?�!��C��'� ����	�����	�!	�'�Q��$ � $�!�'���	�������� ��

Algorithme 4� eval_trip_nw 

Input/Output parameters 
  : list of clients 

Output parameters  
  : cost value of the trip 

Begin 
1�  
2� for  from to  do  
3� |   
4�  |     // depot_node 
5� |  
6�  |  
7�  | while then  
8� | |  
9�  | |  
10� | |   
11� | |  
12� | |  
13�  | end while 
14�  | if  ( ) then 
15�  | |  
16�  | end if 
17� end for 
18� return { } 
End 
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�����!	�'����	�!������!�� ����������!#$	����������� �	��!@���	��	?�%�'=�(�	���!�� ���	�������' ��
���'�Q���� (�	���	�'�Q���	����	��	�!������	�$ � $�!	��	�!��������	� ����������	��!	�����	���	�
������������ �!	������!	����L���

3.5.3.� Les phases de mutation et de recherche locale 
0	�� �=��	�� �	� $���� ��� 	�� �	� �	'=	�'=	� !�'�!	� �	� ��''#�	��� ����� !�� �=��	� �0��� ��$$	�
 !!������ ���� !�� C "��	� ���W?� !	�� �=��	�� �	� $���� ���� ����� 	CC	'���	�� ����� !@	���'	� �	� '���"	�

�!����(�	� !���=��	��	� �	'=	�'=	� !�'�!	?� 	!!	?� �	� �����!	������ !@	���'	��	�� ��!�� ��� ��
����� ����	�� �@��� 	���'	� %� !@����	�E� !	�� C��'� ���� �@�&�!��� ��� 	�� �	� '��'������ ���� �����
�� ! ��	����

0�� C��'� ��� �@�&�!��� ��� �� ���� ����	���	� ����� !�� ���� 	� ���'��	��	�� 0�� C��'� ��� �	�
'��'������ ����	�$	���	�����	���@��	���!�� ��� �%�����!�$	��� ���!!	����'#�	�	���	�<�����	��
�
�������	��	���� �	$	����	��������	��(� �'�$���	���!����!�� ���	�����������'=� � ��!���� �	$	���
�� �?��	!���'	������	?���������"�����	���'������ ��	���	'�� ����!	��'! 	���������!@����	���� !�������
��� ���������!��������	��

�����"����	���	�� �!�$	����&� � ����	� !@�!�$	��� ?�����	�$��	��	�<���$$	���'! 	����'=� � ��
�!���� �	$	�������� ���	���!�$	����&� � ��� �������!�����&�!�����
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0���	'=	�'=	� !�'�!	�	��� ���! (��	�������	���!�� ��� 
�	!!	��	�'�$���	��@������	����'!��� (�	��
�� ! ���������!	�G6�?�(� ��������'� ��	������ !������!@��� '!	��	�I�� ��?��))WK�
�

�� �2���� ��	�������	��E�
�� �2���� ����������	��E�
�� �2���� ����������	���

�	��$��&	$	���������	CC	'�����	���	�$������!@����	��	���� �	$	����	��'! 	���������!��������	��
0��� CC��	�'	����� �������� ��<�$��&	$	���� ���! (��������� !	�G6��	��� (�	� !@�&�!��� ����@���
$��&	$	����	��	�������B��	����! ��	�	���	$���'��������'���  !�C�������&�!�	����	����� 	��	�!��
������	�����	CC	�?�$�� C 	����	����	��@��� &�	����������$$	��	����T�	�!��$�� C '�� ����	�����	��
!	�� ���	�� �	� �����"	� ���� !	�� ��$$	��� �� &����� 	�� ���� '����(�	��� �	�� �!��� '������ '=	$ ��?�
'�$$	� !!�����������!��C "��	���*)��
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���� !�� C "��	� ��*)?� 	��$�� C ���� !@����	� �	� �����"	� �	� � ����� ���	� �� c)� �� �� �� *� )d?�  !� C����
���&�!�	�� 	�� ���� 	� !�� ������	�� 0	�� ���	�� �	� ������� ���� !	�� ��$$	��� (� � ���'#�	��� !��
$�� C '�� ��� ����� '���	�&�	�� � �� � (�	� !	�� �!��� '������ '=	$ ��� 	���	� '	�� ��$$	���� ���� !��
C "��	���*)?�!	��'=	$ ���	���	�!	����L��	��!	�'! 	����������!	���	�<�������	���	��	��� �	�� (�	���
���� �	� !	�� �!��� '������ '=	$ ��� ����� �&�!���� ��''	�� &	$	��� 	�� �� ! ����� !�� C��'� ���

�,��(��%� '	� (�	� !	� &�= '�!	� ��� &	� ���� !	� ��	$ 	�� ��$$	�� ���� $�� C ��
���� �����!��C "��	���*)� !��@�" �����'! 	���*��� �!�����	��@��� &�	�����'	�'! 	���	�������� 	��	�%�
!�� ���	� ���'��	��	?� !@�&�!��� ��� ��� $��&	$	��� 	��� ���B��	�� 0�� '����� ��	� /�/9� ���� !	�� ��'��
�����	� (�	� !�� ���	� �@��� &�	� ���� !	�� '! 	���� �� &����� 	��� ����� 	��	� ��� �"�!	� %� !�� ���	�
���'��	��	?����'�!	�'�Q���@	��������$�! ���������'����	�� �!�����	��@��� &�	�	��� �C�� 	��	��!����
!	�$��&	$	���	����$�! ������	��!��C ���	�!��������	�	����&�!��	��0���	'=	�'=	�!�'�!	�	������'�
�!���'�Q�	��	�(�	������!	�G6�?��D�!@����	���&�� C 	��	�� �� �!	�$��&	$	���	����$�! ��������

3.5.4.� Création de solutions initiales 

�� �!"�� �=$	� �	� �!��� ���'=	� &� � �� �����$ ��� 	��� �� ! ��� ����� !�� "������ ��� �	� ��!�� ����
 � � �!	����	���!"�� �=$	�'������ ������!�$	��� �	���,�������%�'=�(�	� ����� ������'! 	���%�!��C ��
�	� ���	�'! 	���	���'=� � ��	!������'� �#�	�������!	�'������1���'�	���!��� ����'	�	���	�!	��	�� 	��
��$$	�� �	� �	�� !	�� ����	�� ��$$	��� ��� "���=	�� ����� !	� '��� ��� 1�G6�� �!�� 	���� '� �#�	��
�	�&	���B��	�	�& ��"���
��

�� !��� ����'	�	���	�!	��'! 	����E�
�� ��	�����	� �C�� 	��	��������� 	��	�����!	���	$����	����,	��	���	�!	��'! 	������	��	$����	�

���,	�� �	��� B��	� '�!'�!�� 	�� �� ! ����� �� (�	$	��� !	�� �!��� "����	�� ��� !	�� �!��� �	� �	��
& �	��	������!	����'��E��

�� !	��	$����	����,	��$ � $�!�	���	�!	���	�<�'! 	�������������� �	��!@���	��	�E�
�� !	��	$����	����,	��$ � $�!�	���	�!	���	�<�'! 	����	������� �����!@���	��	�I'	�'� �#�	�	���!	�

�!���'�Q�	�<�	���	$����	�'�!'�!K��

�����!��$��=��	?������'=� � �!	��!���'�����'=	$ ��	���	�$	���	�� ����'	���	�'� �#�	��	�&�� 	�
�����������!��,�����	�	������	���	� �C��$�� �������!	��	$����	����,	��	���	�!	��'! 	������ �(�	�
!��� ����'	� ��	�& 	��������!	�'�!'�!�����	$����	����,	�����������'��

"�*�� ��
��
	�����
��'/�(��
3.6.1.� Espace de codage et méthode de résolution 
����� �������	� !	� 1�G6�� ����� !	(�	!� !@���	��	� 	��� ����� ��	� I1�G6�2RRK?�  !� 	��� ���� �!	�
�@�� ! �	�� !	� $B$	� 	���'	� �	� '���"	� (�	� '	!� � �� ! ��� ����� !	� 1�G6�2�R� 
�  !� �@�" �� �	�
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0@	CC '�' ��� �	� !�� $��=��	� �	� ����!�� ��� ��� 1�G6�2RR� �	���	� 	��	�� 	!!	$	��� ���� ��	�
���'����	� 	CC '�'	� �	� ���'����� �	� !@	���'	� �	� �	'=	�'=	� I�	$��� ��'	��� �	� ����� "����	�� 	��
�&�!�	����	���!�� ��K�$� ������ �	���	�$	��	�� &	�� �����������'��� ���	����" �����	�!@	���'	�
(� ���������'	�� �!	���	�'���	� ���	����!�� �����	�����	�(��! ����0	����'������	�!@	���'	��	��
��!�� ���� �	� C� �� �	� $�� #�	�  �� �	'�	� 	�� ���'������� !@	���'	� �& �� ��	� ���'����	� �	� �-�	�
������
���-������

2.� La procédure Path Relinking 
0	�������'=	���	��-�	����=�6	! �A �"�I�6K������������!#$	��	�G6�����������������	�������!��
��	$ #�	� C� �� ���� I5!�&	�� 	�� �!�?� �WW�K� ����� � &	�� C 	�� !	�� ��!�� ���� ����� ��� �!"�� �=$	��	�
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4.� Schéma général de résolution  
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15�  | |  
16�  | | if ( ) then  
17�  | | |  
18�  | | end if  

15�  | |  
16�  | | if ( ) then  
17�  | | |  
18�  | | end if  
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0	��!��	!������' ���%������$$	�� ����"���=	� ������ ����	��������	����$$	����� &������
���'� � � �	�<� �!�$	���� �	�� ������  �	�� (�	�� ,��(�@��� ���$$	�?� �!���� 	���	� !	�� �	�<�
�&�!��� ���?� !	�� �!�$	���� ���� !	�� ��$$	��� �	� )� %� ������ !	� "���=	� �	�&	��� B��	�
'���	�&��� 	���	� !	�� �	�<� �&�!��� ����� 0���� �	� !@�&�!��� ��� �	�� �!�$	���� ?� '	' � �	�$	�� �	�
���� �	�!	��	$����	�'�!'�!��

5.� Evaluation d'un vecteur  associé à une tournée 
0@�&�!��� ��� �@��� &	'�	�� �	��� ���! ��	� ���� !�� ���'����	� 0�� �� �' ��!	�
� CC��	�'	� ���� �������� ��� '��� ����� ���	��	� ��� �	� ����� !	� C� �� (�	?� ����� ��	� $B$	� ���	� �	�
������� ?�!	�&�= '�!	��	���"����	�����	��	$�!	��	�!��	!�� �IC "��	���+)K���=�'����	�'	��
!��	!�� �	��	'�	� !@����	� �	� ��� �	$	��� �	�� '! 	���� $� �� 	��� � CC��	��� 	�� �	�$	�� �	� �	$��� �	�
'���� �	� 	�� �	� �	$��� ����!� ����' �� %� !�� ������	�� �!� 	��� ���� �� CC��	��� 	�� '	�(� � '��'	��	� !	��
����	��	��!	��'=	$ ����� & ������!	��'=��CC	����	���	�!	��'! 	������	��	�C��'� ���C� �����	!�%�!��
C��'� ��� �	� '�!'�!� �	�� '=	$ ��� ���2��$ ���� �&	'� ���	��	� (� � �� ���� ����	���	� ����� !�� ���� 	�
�������

0	����$$	������&	'�	�� ��	����	��	���!	����$$	���'! 	������� ��������!	�&�= '�!	��0���(�	�!	�
&�= '�!	���� &	����������$$	��'! 	��?� !��� �����	���	�(�	�!	��$��'=��� �	���� 	�����'=��"�	��
�&���� �	� ���&� �� �	���� ��� ���� ��� ��$$	�� ���� &	'�	�� ?� !	� �	$��� �	� '=��"	$	��� 	��� ���'�
�,�����%������!	��!��	!�� �(� �'�$���	�!@	��	$�!	� ����$$	�!	��	$����	�'=��"	$	���
	��� '�$���� ����� I��K�$� �� (�@ !� �@	��� ���� '��� ����� '�$$	� ��� �	$��� �	� '���� �	?� �
�	& 	�� �� 0@	��	$�!	� (� � '���	������ %� ����#�� !@�,���� ��� �	$��� �	�
'=��"	$	��� 	��� '�$����� �� (�	$	��� �	� !��	!�� ���2��$ ���?� �� �(�	� !�� $B$	� &�!	��� 	���
�,����	�%������!	��!��	!����
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0@�!"�� �=$	� +� �	����	��	� !	� ��	���2'��	� ����' �� %� !�� C��'� ���� �!� �@	��� ���� ��'	��� �	�
�@���! (�	����	� �#"!	��	���$ ���'	� ���� '=�(�	� ��$$	���� �(����	� �#"!	��	���$ ���'	� 	���
��,%� ���! (��	� ���� !�� C��'� ��� �@�&�!��� ��� �	�� �!��� '������ '=	$ ��� ��	��	�
�#"!	�	������� !!�	������!	�����"���=	��������

�

Algorithme 5� eval_trip_ww 

Input/Output parameters 
  : list of clients 

Output parameters  
  : a set of trip non-dominated 

Begin 
1� for  from to do  
2�  |  
3�  |   
4�  |     // depot_node 
5�  |  
�  | 

7�  | while AND then  
8�  | |  
�  | |  

10�  | |   
11�  | |   
12�  | | if  then  
13�  | | |  
14�  | | end if 
15�  | end while 
16� end for 
17� return { } 
End 

3.6.3.� La phase de recherche locale 
0���=��	��	��	'=	�'=	�!�'�!	�	���	<�'���	����#��!��&�!��� ����@����!�$	��� � ��	�$�� � �	��7�
!�� C �� !��&�!��� ��?���	� ����!�� ����	� ��!�� ���� 	��� "�����	����$$	�����	��������� !������ 	�
���'��	��	?�'	����!�� �����	�&	������&	� ���	�� CC��	������'����"	���	� ��

0�� �	'=	�'=	� !�'�!	� �� �� �@���! (�	�� ���� ��	� ����!�� ��� �	� ��!�� ������=�(�	� ��!�� ��� �	� !��
����!�� ���	������ ��	���''	�� &	$	����0@��,	'� C�	����	��	'=	�'=	��!	����!�� ����&� � �	�������
!	�� '�Q��� ��$ �	��� !	� '�Q�� �	� !�� ��!�� ��� '������	�� ��$$	� 	!!	�� ��$ �	��� ��	� ��!�� ���
'������	����C����?�'	����!�� �����$�! ��	���!������!�� ������$$	� !!����������!��C "��	���+�?�!��
�	'=	�'=	� !�'�!	��	�$	�� �@	<�!��	����� 	���'	�  ����	����������� !	(�	!� ��� $� �������	���	�<�
'� �#�	�� 	��� �$�! ���� 	�� �D� !@����	� �@	��� ���� ����� ����� �	��	� �	'=	�'=	� !�'�!	� 	��� ���! (��	�
��''	�� &	$	���%�����	��!	����!�� �������C������



Temps de trajet dépendant du temps 143 

�

��)

���

���

���

�'�

��!�� ��������
���	��	

��

��

���� ����

8��	�	������ 	�	<�!���	�����
!��60

8��	�����	<�!���	�����!��60

����
����

8��	��	����!�� ������$ ��	��
����!	����!�� �����	�!��

����!�� ��

��!�� ���
'������	

�
(���

�"�9 ���0%���
�
1���
+���
����

��

��
������
�

�����$�� C 	�� !	�� '� �#�	�� ����' ��� ��� '�Q������	� ��!�� ��?�  !� C���� �� ��$�� C 	�� !@���	��	� �� ��
$�� C 	�� !@����	� �	� ��� �	$	��� �	�� ��$$	������$$	� !��$��=��	��@�&�!��� ��� �	� ��	��� B��	�
'��� ����	�'�$$	���� $�!	�� �!	���$��	��	�!��	!���@	���! $ ��������!��$��=��	���! �?��!���� !�
C����'=��"	��!@����	��	���� �	$	����	����$$	���������$�! ��	��!����!�� �����

0���	'=	�'=	�!�'�!	���� �	�!	��������	��(� �'�$���	���!����!�� ���'������	���''	�� &	$	���	��
�	�!��	��$��&	$	����  ����������	�� �����'��� �������0@ ��	��	� !�� �	'=	�'=	� !�'�!	� '��� ��	�%�
���� ! �	��!���	'=	�'=	�!�'�!	������!	�����!#$	���������	��	�	��!����! (���������!	������ 	���	�!��
������	���������	��	��7�'���	��	�!������	�$ � $�!	� $����	���<�����	��	���	�!��'����� ��	�����
!������	�����!	��	�!��������	?�'=�(�	�������	��@	���'�$����	�(�	��@�����$��	�C � ��	�����	���
����	��	�<�����	��'����'�� &	�?�'�$$	� !!����������!��C "��	���+�?�!	��C��'� �����@�&�!��� ���
�	� ������	� 	�� �	� �	'=	�'=	� !�'�!	� ��&	!����	� ����� !�� ���� 	� 1�G6�2�R� �	�&	��� B��	�
���� ! ��	���

����	<	$�!	������ !�� C "��	���+�?� !	������	���	� !�� ������	��	� � ��	��� ���� !	�'! 	�����	�� ���� !	�
'! 	��� *�� 0�� �	'=	�'=	� !�'�!� 	��� ���! (��	� ���� !�� ����2������	� �e� �� ����� '	��	�
����2������	?���	��*������'��� ������'�$$	��	�����L����
�	����	��� (�	��	��������	������� �!	�
	�� 	!!	� '���	������ %� !�� ���	� �	� ������� ��� ��$$	�� ������ !�� ������	�  � � �!	�� � � !�� �	'=	�'=	�
!�'�!	����� ���������	��	�"��#�	���	�$	 !!	��	���!�� ��?�'�	��2%2� �	���	���!�� ����&	'����
�	$����	�'���� �	�	����	�����	� ����!	�  �C�� 	��	?��!����'	��	����&	!!	� ����2������	��	��� B��	�
 ���"��	������!��������	�'������	�'�$$	� !!�����������!��C "��	���+*��0@���	��	�����!	���$$	�� �
	����!������"$	���	��C ���	��	�����$�� C 	��!�����	��	�����������&�= '�!	�	��!��C ���	�!��������	�
�	��	�  �	�� (�	��0@��"$	���� ������ �	$����	�����	� '���	������%� !��� $ ��� ������ �	$����	�
���,	�?������!@	<	$�!	�'	!��'���	������%���$ ���	�����$$	�!	��	$����	�'���� �	��	�!������2
������	���� $ �����!����!�����&	!!	�������	�%� � �C�� 	������ ����'�����?�!��&�!	�������!	��	�
!�� ������	� �	��	�  �'=��"�	� �� �(�	� !�� C �� �	� !�� ������	� �	��	�  �'=��"��� 0�� ��!�� ��� "�����	�
��$ �	����'�!����!�� ���'������	��
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3.6.4.� Création de solutions initiales 

�	�����!�� ��� � � �!	��	���!�� ����	������	��	�	���&�!�����!@	��	$�!	��	�� ����	��	��%�!��C ��
�	�!����	$ #�	��=��	��&	'�!��C��'� ��� �	��	��'���	�&������ (�	$	��� !	����!�� ����
���2��$ ��	��� ��$$	�  !!������ ����� !�� C "��	� ��++?� %� '=�(�	� ����� "����� �	��� ���	��� ���
	��	$�!	� �	� ��!�� ���� ���2��$ ��	�� �	����	���	�� ����� !�� C "��	� ���� ��� C������ ���$ �
!�	��	$�!	��	�'	����!�� ���?�!	����!�� �������2��$ ��	��C��$	���������&	���C������	����	����
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3.7.1.� Résultats sur les instances classiques du VRP  
0	�����!#$	����1�G6��	�����	�"�����! ��� ����������!#$	����G6�������!	(�	!�!��& �	��	����
&�= '�!	�����!	����'��	���'�������	�	��!	���!���'������'=	$ ���	���	�!	��'! 	���������'�������0��
��	$ #�	� �=��	� �	� !�� $��=��	� '��'	��	� !	�� ��!�� ���� ����� ���	��	�� �!!	� �� ���� �� ! ��	� �����
��� �	���*�  �����'	���	� !�� ! ��������	����G6���������	������ I�=� ���C �	������� !��?��W�WK�	��
I�=� ���C �	�?��W�WK�

0	������!��������	������������'�$�������&	'�*�$��=��	���	�!��! ��������	�
�

�� '	!!	��������	�����I.	��	������F�v-�-?��))�K�E�
�� '	!!	��������	�����I��"��������F�v-�-?��))WK�E�
�� '	!!	��������	�����IG ��!�	���!�?��)�*K�E�
�� '	!!	��������	�����I0�'�$$	�	���!�?��)�+K��

��������&� ��'�$���	��!	���	$����	�'�!'�!�	���	�'	��$��=��	��!	���$��	��	�.C!��������' ��
��<�� CC��	��	�����'	��	�������������	���	���� ! ����� !	�0���7�:����! ������� I���"�����	��
�!�?��W�WK��

0	�� ����!����� ���	���� ���� !	�� � CC��	��	�� $��=��	�� ����� ���� !!��� ����� !	� ���!	��� ����� �	�
���!	����	�'�$���	��	��	�<�'�!���	��(� ���'� &	���!@ �����'	��&	'�
� �!	���$��	��	�'! 	����	��

�!�� $	 !!	��	� ��!�� ��� '����	�� �!!	�� ����� �� & 	�� �	� +� "����	�� ����' ��� %� '=�'��	� �	��
$��=��	��� �	�� "����	�� �	� '�$���	��� �	� �� '�!���	�� (� � ����� �!@�'���� 	�� ����'	���"	�
	���	� !��F:��	�� !��&�!	����	� !�� ��!�� ���$�-	��	����	��	?� �!	� �	$����@	<�'�� ��� ����!� ����
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3.7.2.� Construction des instances 
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3.7.3.� Paramètres associés à la méthode de résolution. 
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�	�'=�� ��	�'��'	��	�!	������!#$	���	�����������%�!���	$���	������!	�(�	!��!	���	$����	�
���,	�� ����� $���! ���� ���� �	�� ���! ��� ���� �	� &�� ��!	�� �!���� �	��� �	�� �	$��� �	� ���,	��
&�� 	���	���� &������	�!� ����$�!	���������@��	�&�!	���$�-	��	�(� �'���	����������	$���
�	����,	�����	�$ � ��	��
����� ! �����!@	������'	��	��!� �?�!	�����'��	��	��$��=��	���	�����!�� ������������ ! ���!	���
.� ��%�'���	��	��C!�'���� �����	���	$����	����������?� !	����!�� �������	��	���	�&	����	�
���� B��	� &�! �	�� !���(�@	!!	�� ����� ���! ��	�� ���� !	�� '=��CC	����� ����� !	� $��#!	?� ��� ��
=-���=#�	�������������� �	��'��'	������!	����! � (�	���	�"	�� ����	��'=��CC	����	��'����	�
�	����� ��� �@�&��'	� !���� �	� !@��� &�	� ���� ��� ��$$	��� �	�� '�$����	$	����  �C!�	�'	��� !	�
����!������
7��#�� �&� �� ��C � � !	� ����!#$	?� '	� '=�� ��	� '�$����	� ��� �� ���� 	��� 
�	� $��=��	�
�@�&�!��� ����@��	� ������	� 	�������	���	������ !����	$ #�	����� 	� 	�� 	!!	��	�$	�?���������
����	��	������"	�����!	��'! 	���������?��@���	� ����	�������	�������	��0��������	��	�	���!��
'���' ����@��	���!�� ���%�B��	����! ���!	�$�!"���!	��&�� �� ��������!	��	$����	���������������
�� ! ����� '	��	� $��=��	� �@�&�!��� ��?� ��� ���� 	� !�� ������	��	� �	�� $	 !!	��	�� ��!�� ����
'����	�� ����� !�� ! ��������	� ���� !	�� ����!#$	�� ���	�$ � ��	��� ����� ��	� �	�< #$	� ���� 	?�
��	� �����'=	� �0�� I0#��������
.� ������ $
�
��K� 	��� ��&	!����	� ����� �������	� !	�
����!#$	�	�����	� ���	����!�� ����������	�����C ����	������'=	�$�!� '� �#�	�	����������	�
��������	� �����	��	$�!	��	���!�� ���� �'�$�����!	��'��'	�������	�<�'� �#�	��(� ������!	�
��$��	��	�A !�$#��	��I'�Q�������!	�����!#$	����	�$ � ��	K�	��!��������	��	��

#���� ��
�!�������
�
	����
	�1
�
�
4.1.1.� Les problèmes stochastiques dans la littérature  
�����!��! ��������	?� !��@	< ��	������	�����!#$	��	�����������%�!���	$���	�I�76�K������!	(�	!�
!	�� �	$��� �	� ���,	�� ����� $���! ���� ���� �	�� &�� ��!	�� �!���� �	�� ����� !	�� !� �� ����' �	�� �����
'����	��� ���� '����	�  !� 	< ��	� �	�� ����!#$	�� �	� ������	�� �	� &�= '�!	�� ����� !	�(�	!�� �	��
�&#�	$	�������'=��� (�	��& 	��	����	�����	��!	�� �	$����	����,	����	������!#$	���������������
�	�� ����!#$	�� �-��$ (�	��� ���� 	<	$�!	� ����� !@��� '!	� �	� I�'= !�	� 	�� �!�?� �)�*K?� !	�� ���	����
�� ����	��	��� ��� ����!#$	� ��� ���������� %� !�� �	$���	� I�76�K� �-��$ (�	�  �'!����� �	��
�&#�	$	���� �!���� �	�� ����� !	��  �����'	�� �	����	������ �	�� �'' �	���� ���� !	� ���	���� �	��
�'' �	����$�� C 	���!	��	$����	����,	������!	����'�����'=	���	�!@�&#�	$	�����

0	�� ����!#$	�� ���'=��� (�	�� ����� !�� ! ��������	� �	�&	��� ���� � '��'	��	�� �@����	��
'���'��� �� (�	�������	<	$�!	�I/!	��-�	���!�?��))+K���� �	����@�������!#$	��	�������	��������'��
����� !	(�	!� !	�� �	$���	�� ����� �	����	���	�� ���� �	�� &�� ��!	�� �!���� �	�� ����� !	�� !� �� �����
'����	��� �!��� ��'	$$	��?� I5��& �� 	�� �!�?� �)�*K� '��� �#�	��� ��� ����!#$	� �	� ������	�� �	�
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&�= '�!	���&	'���	�$��=��	��	�[����'=2'��2���2�� '	[������ !�(�	!!	� !	��(���� ����'�!!	'��	��
����!	����$$	����� &	����"�!	$	�����	�!� ��!���� �	�'����	���

0	�����!#$	���� ��������'	�'=�� ��	�	����������!#$	��	�����������%�!���	$���	�I�76�K������
!	(�	!�!	���	$����	����,	��	���	�!	����$$	��������$���! ���������	��&�� ��!	���!���� �	����!!	��
�	�$	��	����	���	���	�	��'�$��	�!	��&�� �� ����(� �	< ��	��������������	������� 	�?�'�$$	�
�
!	�� ���B��� ���� ��<� C	�<� �	� ' �'�!�� ��?� !�� ���&	���	� �	� � �����?� ��� 	�'��	� !	�� � CC '�!����
�� ��	�� ��� ��<� � &	��<� �	��  ��	��	'� ����� ��� & ��	!!	$	��� '	�� �&#�	$	���� ���� ���  $��'��
$ �	�������!	��	$����	����,	��$� ��!	����''�$�!�� ����	������&�(�	���	��&�� �� �����	���	$���
�	� ���������� (� � ����� !� �� �@B��	� ��"! "	��!	��� ���� 	<	$�!	?� ����� ��	���	� 	�� '�$��	� !	��
�=���$#�	���	�' �'�!�� ��?�������	��	���	�������&� !�'	��� ���$�� ��?� !�C�����)�$ ���	��� ������
!	��C	�<��	�' �'�!�� �����������&	���	�����'����� �	� !�C�����)�$ ���	���� !����������"	��������!	�
$��#!	?�!��&�� �� ���	���	�� $�	�%� �����	$����	����,	��$�-	���
1���	�� !	�� �	(�B�	�� ����� '����	�� ��� ������ �	� !@��� $ ��� ��� 	�� ��	� ��!�� ��� �� �� ����	�� !	��
��� �C� �	��0@��,	'� C�	����	���	���	�	��'�$��	�'	��&�� �� �����C ���	�������	����	���!�� ����	�
C� �!	�'�Q��	��(� �����	�C���	������� ! ����	���� �C� �	��!	 �	$	��� !	��'! 	����(�	!��(�	��� 	���
!	���	$����	����,	����	!�������!	����	������� 	���

4.1.2.� L'interprétation des fenêtres de temps dans le problème  
�����!��&	�� ������� (�	��������!#$	?�!������ 	���� $ ��� ����	�!��������	�	������! ��	��&����!	�
�������	��������	����	��	���� $ ��� ����	�$	���@���	� ����	�������	?�'�	��2%2� �	��������	��	�
�����"	����� ����� !	��'! 	����� �� �(�	��	�����	���	������"	����&�= '�!	����� &	����	�'=�(�	�
'! 	�����

��$$	� !@��� $ ��� ���  ��	�& 	��� �&���� !�� ���! ��� ��� �	�� ������	�?�  !� 	< ��	� �	�<�
 ��	������� �������� �!	���	�!��'����� ��	��	�C	�B��	���	��	$��������!	��76����� ��'	������!	��
� ���� � ! ���� ��	!!	�� �	�� '! 	���?� �� �� '	� ����� �	�!	$	��� �	�� �!�"	�� =��� �	�� ����� !	�(�	!!	��
!@	���	�� �	� �	� ���������� �	��� '=� � �� ��	� ���	�� ����� '	� �	�� 	�� '��?� '	��	� ���	� 	��� 	��� �	�
'�$$�� (��	����'! 	���	����	����&	!!	�C	�B��	��	��	$����!������� �	���������	�'	��	����	�	���
�!������C � 	?�'�$$	� !!�����������!��C "��	�*������

�

�K�C	�B��	���	��	$��� � � �!	���	�'=�(�	�'! 	��

�! 	���� �! 	���� �! 	���� �! 	���*

�K����	���	������"	�'=� � 	��%�!��C ���	�!���� $ ��� ��

�! 	���� �! 	���� �! 	���� �! 	���*

'K�C	�B��	���	��	$���C ��!	�

�! 	���� �! 	���� �! 	���� �! 	���*
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����� !!����	��'	���	�<� ��	������� ���?��	�<�	<	$�!	����	!��(� ��	�&	���B��	�$���! �����������
����!#$	��	�&�-�"	����	�'�$$	�'	��&	'��	��C	�B��	���	��	$�������!	��'! 	����I1��1SK������
��&	!�������

�<	$�!	� �� 
� !	� ����!#$	� $���! �	� ��	� ! &�� ���� �	� $�"�8 �	�� ����� � CC��	���� ���	��<� �	�
����'��0	��C	�B��	���	��	$���'���	�����	�����<�=��� �	���@��&	����	���	��� CC��	����$�"�� ����

�	� C� �� !�� ������	� ��� $ ��	?� !	�� ���	�� �	� �����"	� �	� ����� ���� '�$$�� (��	�� ��<� '! 	����
���'������'	���	$ 	��	<	$�!	?�!	�&�= '�!	��	�����	���	��	�!@�&��'	��������	���������!	�����	��
	���	��	'���������	C� ��!	��=��� �	���@��&	����	����$�"�� ����

�<	$�!	���
� !	�����!#$	�$���! �	� !�� ! &�� �����	������ ���������	�����	�$��'=��?��&	'��	��
����� ���&�!�$ �	�<�(� ���'	�� �	�������	<	$�!	��	���'=��"	��!	�'�$ ������� &	����@���(�� �
�&	'� !@� �	� �@��	� �(� �	� ���' �! ��	�� ����� '	��	� � ���� ��?� ��� �	��� ������	�� (�	� !	� '! 	���
C���� ��%�!@	���	�� �	��	�! &�� ������	�C	�B��	��	��	$��� � � �!	��0@	���	�� �	���� $ �	��!�������
������	� �� �� '�$$�� (�	� !	�� ���	�� �	� ! &�� ���� ���' �	�� ��<� '! 	����� 0	� ���	�$��'=�� I!	�
'! 	��K� ���	�&	� �!���� !@�(� �	� ����� ��'=��"	�� !	� '�$ ��� %� !�� ���	� ��!	'� ����	�� ����� '	��	�
� ���� ��?�!	���	������	��!	���&��'	������!	�����	���	�! &�� ������	�&	����&� ���	��'����(�	�'	��
 $�������	������!����!�� ����� �!@=	��	��@��� &�	�	���� CC��	��	��	�!@=��� �	����&�?�!	���(� �	���	�
��'=��"	$	��� �	�&	��� �	� ���� B��	� � ���� �!	�� 	�� !�� '��"� ���� �	��� ���'� B��	� �	���	?� ����
	<	$�!	������!	�'����	������ ���'��"	!�����

����� !�� �=#�	?� �	�!	� !�� &	�� ��� ����� !�(�	!!	� !	�� ���	�� �	� ������ �	� �	�& '	� �	� ����� ����
'�$$�� (��	�� ��<� '! 	���� �� ���� 	�& ��"�	� I	<	$�!	� �K�� 
�	� ������	� 	��� &�! �	� !���� �@��	�
���! ��� ���� �����	��!	�����	���	��������	��	�& '	�I(� ��	�&	���B��	�� CC��	��	���	�����	�����2
'�!'�!�	��%�'���	��	��C!�'���� ���K��	��	'�	���!	��'����� ��	������' �	���������!#$	�����76���
�!� 	��� ���'� ���� �!	� (�	� !	�� ���	�� �@��	� ���! ��� ��� �� 	��� �!� "��	�� �	�� ���	�� ���&�	�� �����
�������������&� ���	��'����(�	�'	������!��������	��

4.1.3.� Le comportement du chauffeur et l'influence sur la solution 

�	� C� �� !@��� $ ��� ��� ���! ��	?� ��	� ��!�� ��� 	��� ���	��	�� �	��	� ��!�� ��� '�$����	� ���
	��	$�!	��	�������	��(� ��	�'�$���	����@��	�! ��	��	�'! 	����%�& � �	��	���	�����	���	������"	��
���& � ���	!!	��� �	�� ���	�� �	�&	��� �@�&��	�� 	<�'�	�� ��� ���� 	�� C��'� ��� �	�� '��� � ���� �	�
' �'�!�� ����(� ��	�������������& � �!	����


�	�������	�	��������$ �	�%����'=��CC	��������!��C��$	��@��	�C	� !!	��	�����	�(� ���C � ��
�

�� ��	��� �	��������	��	�'! 	����%���� �	��I'�$$	�'@	���!	�'��������!	�G6�KE�
�� !	�����	���@��� &�	����&�	�������'=�(�	�'! 	���I'�$$	�'@	���!	�'��������!	�G6�1SK�
�� ��	���! � (�	� �	� "	�� ��� %� ���! (�	�� ����� ��	���	� 	�� '�$��	� !@=	��	� �@��� &�	� ��	!!	�

'=	8�!	�'! 	����
�	��	!!	���! � (�	���C � ������	<	$�!	?�(�@	��'����@�&��'	�������������%�
��	����	����&�	?�!	�'=��CC	����� �����	���	�!@=	��	� � � �!	$	����!�� C �	�'�$$	�'@	���!	�
'��������!	��=��� �	���	������

�����!	�$��#!	?�!	�'=��CC	����@�������@ �C!�	�'	�����!�����! ��� �������	$����	����,	��	���	�!	��
� CC��	���� ��$$	���� ���� 	<	$�!	?�  !� �	� �	��� ���� �''�!��	�� ����� '�$�	��	�� ��� �	������ ����
'����	� ���� '�$����	$	��� ���� ��� ��$$	�� 	�� �	�������� ��� 	�� �&��Y���� !�� ���	� �	� ������ �	�
�	�& '	��	����&� ���	��'����(�	�'	�������!���� �	��	�!��������	��0@	���	�� �	��� �����'�����	��
���'=��CC	����	��'��� "�	��%��	��	'�	��	��C��'� ����	�!@�&��'	��������	�����������!	�$��#!	?�
'	�� '��� "�	�� ����������	�� ��� '=��CC	��� ����������	� !�� ������	������ !�� C	� !!	��	� ����	� 	��
$B$	��	$���(�	�!��! ��	��	����$$	���%�& � �	����!!	���	��	�&	�������B��	�$�� C �	���������!��
������	���
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1�� �� '��� "�	�� � CC��	��	�� ����� ���� �	�� ����� '	� '=�� ��	?� '=�'��	� �	����	������ ��	�
=-���=#�	�������� $�! C 	�� !	��	<	$�!	�?� !	�����	���	��������	��	�& '	� �'���	�����	�����<�
���	���	�������������$$	� ��

a)� Hypothèse 1 : respecter les dates de début de service fixées 
�	��	�=-���=#�	��	�$	���@�����=	��	��!	�C��'� ���	$	����@���"�������$��	��	��-��#$	���	�
����������� 0@	���	�� �	� '�$$�� (�	� ��� '=��CC	��� !	�� ���	�� �	� ������ �	� �	�& '	� ����� !	��
��$$	�����	��	����	��	��������	��	�& '	� ��	���B��	�� CC��	��	��	�!�����	��@��� &�	����&�	�����
�����$$	������	 ��0	�'=��CC	����� ���	��	'�	��!	�����	�� �� ����� �!	���@ !���� &	����#��'	��	�
���	����������$$	�?� !��	����� $$�� ��	$	����0��'��� "�	������	����'=��CC	���	���
�[	��'���
�@��� &�	��&����!@=	��	����&�	��	��������	��	�& '	?�&�����	&	8����	���	�!�����	����&�	?�� ����
�	����	8�!	��!����L������ �!	[��

�	' � '���	������ ���� 	<	$�!	� %� '	� (�@��� �	����&	� '����$$	��� !���� �	�� ! &�� ����� ��� �	��
�����& � ���	$	���� �	�� ���	�$��'=��� ���� �	�� '	����!	�� �@�'=���� � � !	� '�$ ��� �	� ! &�� ����
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b)� Hypothèse 2 : respecter les temps d'attente sur les sommets  
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'�$$	�'	��&���	��	�& '	[��

�	� �-�	��	�C��'� ���	$	���	������ C��'� ���	$	���  �	�� (�	�%�'	�(�@����	��� ����&	��������	�
��$	��	�$������0	���� ! ���	�����	�� ! "�	������$�� ��	���	�$������	�'	��� �	��"����	��& !!	��
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c)� Hypothèse 3 : respecter les temps d'attente en cas d'avance sinon respecter les dates de 
début de service  
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d)� Autres hypothèses : les cas hybrides 
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�@����	�?� 	�� �	&��'=	?� ���	��	��� �	�� ���	�� �	� �����"	� ���� !	�� ��$$	��� �	� !�� ������	� (� �
���	��	���%�!	������������	$����	����,	��	���	��'��� "�	���� & 	������!	�'=��CC	�����!��@�" ���	��
'����� ��	������
�

�� !	��	$����	����,	���	��'! 	����E�
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7���	���!�� ��������76��	������'��CC	'������'�Q��(� ��	����	��	�!��� ����'	����'����	�����!��
C!���	�	�����'� �#�	��	�������	��	�(� �'���	������%�!�������� ! ���(�	�!����!�� ����� �����! ���!	?�
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4.2.2.� Rappel sur les variables pour les tournées du DDARP 
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Axe temporel

sj

ei

ej lj

si

Ai  arrivée du véhicule sur le sommet si 

Bi  début du service 
Di  départ du véhicule du sommet si vers sj   

Aj  arrivée du véhicule 
sur le sommet vj 

Bj début du service 

Dj  départ du véhicule
 du sommet sj 

di durée du service 

Wi  temps d’attente du     
véhicule sur le sommet si 

Li temps de trajet si sj 

Fenêtre de temps
du sommet sj

Fenêtre de temps
du sommet si

Début de la tournée
du véhicule

Milieu de la tournée du 
véhicule

Fin de la tournée 
du véhicule
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4.2.3.� Les variables aléatoires du SDARP et leurs réalisations 
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b)� Hypothèse 2 : respecter les temps d'attente sur les sommets  
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c)� Hypothèse 3 : respecter les temps d'attente en cas d'avance sinon respecter les dates de 
début de service  
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4.2.5.� Conséquence des variations sur le temps de trajet pour le SDARP 
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4.3.1.� Fonction-objectif et critères des solutions 
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4.3.2.� Démarche de résolution pour le SDARP 
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�� ��	���	$ #�	�$��=��	?������!�(�	!!	�!��C��'� �����,	'� C���� �	�'	��'� �#�	���	�$�� #�	�
= ����'= ��	� �&	'� 	����	$ 	�� !�� ������	��	��� ��	�� �	'���� !	� '�Q����	��	�$��=��	�	���
����	�����!	��'=�$���	��	'=	�'=	�!�'�!	��&�!�� ���� �	�I�0�K�'�$$	��������������!	�
'=�� ��	��������!	��76����

�� ��	� �	'���	� $��=��	� �	� ����!�� ��?� '	��	� C� �� $�!� '� �#�	?� 	��� �������	� �����
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4.4.1.� Rappel sur le DDARP 
����� !	� ��76�?� ��	� ��!�� ��� 	��� ���	��	� 	�� �&�!����� ��� ��,	�� �(� � �	� '�$���	� �@���
	��	$�!	����������	�&	'�	��� ��0@�&�!��� ��� '��� ��	����'�%�&�� C 	���!�� 	���� '����� ��	��
����k�� �� �(�	�����!	��&	'�	���� (� �!	�'�$���	�����	��'����� ��	�������!	���� &���	��
�

�� !������! ����	��'! 	����	������ ��	�E�
�� !	���$��	����!�$	���� �����k�	��� �C�� 	�������"�!������$��	��	�&�= '�!	��� ���� �!	��

�����!��C!���	�E�
�� �����!	� ������&�! �	���

�����&�� C 	��!����� � #$	�'����� ��	?�!��C��'� ����@�&�!��� ���[	&�!��� ��s�[��	�!��C "��	�*��)�
C� �� ���	!� %� ��	� ����2C��'� ��� ����� �	��	�� !�� &�! � ��� �	� '=�(�	 �� �	��	� ����2C��'� ��� 	���
���	!�	� [	&�!��� ��s1[�� ����� (�	� {� �� �� &�! �	?�  !� �� �� �	��	'�	�� ��� '	��� �� ��$��	� �	�
'����� ��	�
�

�� !�� '=��"	� ����������	� ���� !	� &�= '�!	� 	���  �C�� 	��	� ��� �"�!	� %� !�� '���' ��� ��� &�= '�!	�
��������!��"��	�!��������	E�

�� !	����$$	����@�� " �	�	���	��	�� ��� ����@���'! 	����� &	���B��	������!��$B$	�������	�	��
!	���$$	���@�� " �	��� ���	�� ��	���&����!	���$$	���	��	�� ��� ���E�

�� {�	������! ���!	��


��&	'�	���{�	������! ���!	��@ !�	������� �!	��	�'�!'�!	���	�����	���	������"	�����!	����$$	����	�
�	!�� (�	� !�� ������	� '���	��������	� �	��	'�	� !@	��	$�!	� �	�� '����� ��	�� ���� !	�� ���	�� �	�

�	�& '	��������!#$	?�(� ������
�

�� !�����	��	�����������	�& '	� ����'=�(�	���$$	��	��� � ���	������ !�� C	�B��	��	� �	$������
��$$	��E�
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�� !	��	$����	����,	�����&�= '�!	� �	��� �C�� 	���%�!������	�$�< $�!	� �E�
�� !	��	$����	������������	��'! 	����	��� �C�� 	���%�!��&�!	���$�< $�!	 ���

����� &�� C 	�� '	�� '����� ��	�?� !�� C��'� ��� C� �� ���	!� %� ��	� ����2C��'� ��� ��$$�	�
�%K'
�%���
K���
�?�� � � �	��� &�! �	?� �!���� ��	� ��!�� ��� 	��� ���	��	�� �!!	� �	� '�$���	� �@���
	��	$�!	� �	� ������	�� 	�� �@��� '�Q�� (� � �	����	��	� !�� � ����'	� ����!	� ���'����	� ���� !�� C!���	��
�	��	�C��'� ���	��� !!�����	������!��C "��	�*��)��
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0�� C��'� ��� ��CC	'�	� �	�� ���	�� �	� ������ �	� �	�& '	� �%� !@	��	$�!	� �	��
��$$	��� �@��	� ������	�� �!� �� ���� $������ ����� !	� '=�� ��	� �� (�@ !� 	< ��	� �!�� 	���� C��'� ����
�@�&�!��� �����=�'��	��	�'	��C��'� �����	�����	��	�����	�� �� CC��	��	����
.B$	� � � 	!!	�� �@ �C!�	�'	��� ���� !	� '�Q�� ����' �� %� !�� ������	?� '	�� ���	�� $�� C 	��� �	��
'���'��� �� (�	��(� ������ $�������	�������!��(��! �������	�& '	�����������<�'! 	��������$ �!	��
'���'��� �� (�	��  �C!�	�'�	�� ���� ?� !	�� ��� �� �� �' ��!	�� ����� !�� ����	� ����!	� �	� !�� �����	?� !��
��$$	��	���	$����	����,	���	��'! 	����	��!����$$	��	���	$����@���	��	���

����� !!����	��'	�� �C!�	�'	�?����	<	$�!	�������$ ��	���!�'	��0	�������	���	�'	��	<	$�!	������
 !!�����	�� ���� !�� C "��	� *����� 0	� &	'�	��� �	��� '�$����� �	� *� ��$$	��� 
� !	� ���L��  � � �!?� !	�
��$$	�� �@�� " �	� �	� 7?� !	� ��$$	�� �	� �	�� ��� ��� �	� 7?� �� �� !	� ���L�� C ��!�� ����� '=�(�	�
��$$	�?��	��C	�B��	���	��	$����������C � 	���
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0	��'���'��� �� (�	���	��������	���	�!��C "��	�*����	���	�!��C "��	�*����������	����	���	��������
!�� ��	$ #�	?� !�� ����	� ����!	� �	� !�� ������	� 	��� �	� ��)� �� ���� �	� �	$��� '����	� +)� ����� !��
�	�< #$	��0	��	$����	����,	�����'! 	��� �	����	��))��� ���������!����	$ #�	�'����	��	�!	$	���
�)������!���	�< #$	��

4.4.2.� Conséquences sur le SDARP 
����� !	���76�?������ ! �	� !	�$B$	�	���'	��	�'���"	�(�	�'	!� ��� ! �������� !	���76���0��
C��'� ����@�&�!��� ����� ��!	�$B$	��'=�$��(�	������!	���76�?�'@	��2%2� �	�(�	�(�	!�(�	��� ��
!@=-���=#�	� ?� !�� C��'� ��� �&�� C 	� !	�� '����� ��	�� ���� !	�� '! 	���� 	�� ���� !	�
��$��	��	�&�= '�!	���	� !�� ��!�� ����� ��	!!	� C� �����	!�%���	� C��'� ��� ������
&�� C 	�� !	�� '����� ��	�� ���� '=�'��	� �	�� ������	��� �	��	� C��'� ��� �&�� C 	� !��
'����� ��	� ���� !�� '=��"	� 	�� !@����	� �	� ��� �	$	��� �	�� '! 	���� �� �� �� ! �	� ��	� ����2C��'� ���

������&�� C 	��!�����! ��� ! ����	��������	����
0	��� CC��	�'	��	���	�!	���76��	��!	���76�������� ��	��������'	��	�����2C��'� ���������!	�
��76�?�!�����! ��� ! ����@��	�������	�	���� $�!	�%���C � ��'����� �� !�	< ��	��	�����	���	!!	��(�	�
����	��!	��'����� ��	�������&�� C �	���� �� !��@	��	< ��	�����������!	�'���	����'=��� (�	?� !�C����
��C � ��!����� ����	����! ��� ! �������� �������� �	$	�������76�?�	�����C�'	��� �	��� ���� ���?�
(�	!!	�� (�	� �� �� !	�� ���	�� �	� ������ �	� �	�& '	� ��CC	'��	�� ��<� ��$$	��� ��� &	'�	�� ?� !��
������	� ����!���������	������� ! ���������!!	��@B��	� ���! ���!	� I'	��	������� ! ������&����B��	�
��#�����'=	��	�)K���

0@�&�!��� ��� '=	�'=	� �!���?� ���$ � ����	�� !	�� ���	�� �	� �����"	� ���� �!	�?� !�� ������	� (� �
$�< $ �	� �����=-���=#�	� ����'� �#�	� � ������ �� ����� !�� �� �	��	� '	��	� �	'� ��������� '	!�?�
	!!	� C� �� ���	!� %� !�� C��'� ��� �(� � 	!!	2$B$	� C� �� ���	!� %� ��	� ����2



Résolution du problème de transport à la demande stochastique  177 

C��'� �� ?� '�$$	�  !!������ ���� !�� C "��	� *��*�� 0	�� C��'� ���� �����
����	���	��	������ !������!���	�� ���*�*����.� ���&���?� !�	��� $���������	�$	���	�	���& �	�'	�
!@ �C!�	�'	��	�����	���	������"	�	���	�!@=-���=#�	��	�"	�� ����	��&�= '�!	������!��������	��	��	�
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a)� Influence des valeurs affectées aux dates de passage 
�� 	����	�<�������	������	���	�������!��C "��	�*��+�
�!��������	� ?�	�����"	�����!��C "��	?�	���
���	��	��&	'�!��$��=��	��	�I����	�������0�����	?��))�K������!	���76���0��������	� ?�	��
&	��?�'���	��������<����	�����'��	��	��$� ���&	'�����	������	��)�$ ���	������'=�(�	���$$	��
���� �������� ��� ���	��  � � �!	$	��� �!�� C �	��� �	�� �	�<� ������	�� �	��	'�	��� ����	�� !	��
'����� ��	��  $����	�� ���� !	� ����!#$	� 	�� �	� �!��� !	� �	$��� �	� ���,	�� ��� '! 	��� �� �� � (�	� !��
����	�����!	������!	��$B$	�������!	���	�<�'�����

���'	������!�����! ��� ! ����	�!��������	?��	��� CC��	�'	�������!	������!����� � ����	�����	���	�
������ ����� !�� C	�B��	� �	� �	$��� &���� �&� �� ���  $��'�� ���� !�� ������ ! ��� (�	� !�� ������	� �� ��
C� ���!	���

���� !	���$$	� ?� !�����	��	��������	��	�& '	��	� �I'	!!	�(� ������������L��%��*)K�	����!���
���'=	��	�!��C ���	�!��C	�B��	��	��	$���(�	�����������!��������	 I'	!!	�(� ������������L��%�
��)K�����'����	��	���������!	��	$����	����,	��	���	�!	����L��	��!	�'! 	��� ?�!��������	� ��	���
& �!	��!��'����� ��	��	�C	�B��	��	��	$���$�< $�!	�����' �	����'! 	��� �!����(�	�!��������	 �
�	��	� &�!��!	� �&	'� !	� $B$	� �	������ ���� '����	?� ���� !	� ��$$	�� ?� !�� ������	� �	��� $� ���
������	�(�	�!��������	� �����'����@�&��'	?�!�����	��	��������	��	�& '	��	�������	� �	����"�!	�%�
!�� C	�B��	� �	� �	$���$ � $�!	� ���� !	� ��$$	� �� �!� 	��� ���'� �& �	��� (�	� !�� ���! ��� ! ��� �	��
�	�<�������	���@	�������!��$B$	��	!���!	�����! ��� �����	��&�� ��!	���!���� �	������!	���	$����	�
���,	��	�����'�!��������	��	��	�'	���	�<�������	��	���� CC��	��	��
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b)� Influence de la politique suivie par le chauffeur 
���������� (�	� !�� ������	� �� �� '������ �	� %� !@� �	� �	�� ���	�� ��� �!��� �L�� ���	��	�� ����� !	�
��76�?� '�$$	�  !!������ ����� !�� C "��	� *���������� '	��	� ������	?� !	�� ���	�� �	� ������ ���� !	��
��$$	�� 	�� �'�n�' �	��� �&	'� !	���� C	�B��	�� �	� �	$��� $ � $�!	��� ���'?� ����� B��	�
���! ���!	?�!	�&�= '�!	��	��� ������'�$$	�'	�������	�& '	�	���&��'	�����'	����$$	����

9�����	�<�=-���=#�	��� CC��	��	��
�

�� ����� !@=-���=#�	 ?� !	�&�= '�!	��� �� �	��	'�	�� !	�����	������!��� �L��  $����	������'�
�@ !� ��� &	� �&���?� !	� '=��CC	��� ���	��� ��&���� �	� '=��"	�� !	� '! 	���� �!� �	��	'�	� !	��
C	�B��	���	��	$���$ � $�!	�����������	��!	�����! ��� �����	���	$����	����,	����<	$�!	�
�
� �!	��	$����	����,	��	���	� �	�� ���� ���+�$ �����! 	���	��)�$ �?�!	�'=��CC	������	���
�+�$ �����! 	���	��)�	��'�$$	�'	������	�& '	�%�+)��

�� ����� !@=-���=#�	 ?� !	� &�= '�!	� �� �� �	��	'�	�� !	�� �	$��� �@���	��	� ���� !	�� ��$$	���
�&�����	� '�$$	�'	�� ���� �	�& '	�����'?� � � !	� �	$����	� ���,	�� 	���	� �	�� �� �� �� �+�
$ �� ��� ! 	�� �	� �)� $ �?� !	� '=��CC	��� ���	��� �)� $ �� '�$$	�  !� !� � �� ���� �	$����� 	��
'�$$	�'	������	�& '	�%�!�����	�*+��9?�� �!	�'! 	����@	�������� ���� �!	��&����!�����	� ?�
!��������	��@	����������! ���!	���

�!�����T���& �	����&	'�'	��	<	$�!	�(�	�'=� � ��!@=-���=#�	����������	�������	��&�!��	��&	'�!	��
���	������!��� �L���@	����������'=� <� ,�� ' 	�<���	��	<	$�!	�  !!����	� !	� C� ��(�	� !	����! � (�	��
�� & 	������!	��'=��CC	����������	� $������'	�'	��� �	�����!�����! ��� ! ����@��	�������	���
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�����!���� �	?�!@�&�!��� ����@���&	'�	��� �	������� !!�	?��&�����	�'=	�'=	��%�	�� $	��!��&�!	����	�
!��������	��	�����' �	�%���	� ������	���	��	�&�!	����	� ������	��	� 	���	�� $�	�	���� ! �������	�
C��'� ������!-� (�	����	��	CC	'�������	�!��� $�!�� ����
��'� �#�	�����' ��%�!��������	��	��@��	�
������	����������� �$ ������� ���������C � �?�!��������	��	��	�!����!�� ���	���������	��
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c)� Les solutions qui peuvent être qualifiées de non pertinentes  
��$$	� 	<�! (��� ����� !	� ��76�?� ����	�� !	�� �CC	'��� ���� �	� �I��� ��	�(�	K� ���� ��	�
������ ! ��� ���� ��!!	� �@B��	� ���! ���!	�� %� '���	� �	�� &�� �� ���� ���� !	�� �	$��� �	� ���,	��� ����
	<	$�!	�!��������	� !!�����	�����!��C "��	�*�����@	���������	���!�� ��������76���� �(�	�!	��
���	�� ��	��	�	���	��	�����"	�����!��C "��	��	��	��	'�	�������!	��C	�B��	���	��	$��������'����	?�
!�������� ! ���(�	� '	��	� ������	� �� �� ���! ���!	��@	��� ������!!	������ !	���76���� � !�����	� !��
���! ��� �� ?� !	� �	$��� �	� ���,	�� �	�� �e� �))� �!���� !�� ��!�� ���
'���	��������%�!����!�� �������!����L�� !!�����	�����!��C "��	�*����	��!��������	�����' �	�%�'	��	�
���! ��� ����	���&�! �	��
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����� ����� $	�� '	�� ��!�� ���� (� � �	�&	��� B��	� (��! C �	�� �	� ���� �	�� �	��	�?� ��	� ��	$ #�	�
! $ ��� ���	��� $����	�����!�����! ��� ! ����@��	�������	�
�
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� ���
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� ���%+B�
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4.4.3.� La validation des contraintes pour le problème stochastique 

a)� Modélisation 
0��C��'� ����@�&�!��� ����� ! ��	������!	�'=�� ��	���������������	������!	���76����!!	��� ! �	�
����	����	����! ��� ! ����	��������	�����������'	!� ������������� I/ ��������S�	" �"	�?��)��K��
0	������� ������ &���	���������'	��� �	��
��

�� �
� �	$������	�$ � ��	��	� ���,	������� !	�&�= '�!	������ !�� ������	�	���	� !	����L��	�� !	�
��$$	� ��&	'� ��	!�(�	� �E�

�� �
�&�� ��!	��	��	$����@���	��	�����!	��	�� ��!	��������	�!��������	�,��(�@������������
�	�& '	�����!	���$$	� ��&	'� ?� �E�

�� �
�&�� ��!	��!���� �	�����' �	�����	$������	�$ � ��	��	����,	�������!	�&�= '�!	�	���	�!	�
��$$	�� �	��!	���$$	� ��&	'� �E�

�� �
�&�!	����@��	����! ��� ����	�!��&�� ��!	��!���� �	 ?��&	'� �

0��&�� ��!	��!���� �	� �	�������' �	�%�!����$$	��	���	$����	����,	��	���	�!	����L��	��!	������	��
��$$	����	�!��������	 ����$$	�'=�(�	��	$����	����,	��	���	��	�<���$$	���

�	� �	��� �	����	���� ���� ��	� !� � ���$�!	 �	�� (�	� !	�� �	$��� �	� ���,	�� �����
 ����	������������!	�$��#!	?�!������� �����@��� � & ����	��!� �����$�!	���	���B��	��� ! ��	���
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0������� �����@��� � & ����	��!� �����$�!	��	���'�$$	��� ��
��� �� �	�� K��	�<�
&�� ��!	���!���� �	�� ����	�����	���	�!� �����$�!	?�!����$$	��	�'	���	�<�!� ��	���	!!	2$B$	�
��	�&�� ��!	��!���� �	�(� ��� ����	�!� ����$�!	��@	������'	� ] �	���	�&�� ��'	 ���

������! (������!�� 	����C� ��!������� �����@��� � & ����	��!� �����$�!	������������!	����'���	�!��
������	�	���	� �	�� ?����	������ ��(�	�!��&�� ��!	��!���� �	� ��� ����	�!� ����$�!	��@	������'	�

�e� �	���	�&�� ��'	� ���

b)� Rappel sur les contraintes d'une tournée du DDARP 
����� !	�'=�� ��	��?��	�� �!"�� �=$	���	�$	�������	� �	��	�� !�� ���! ��� ! ����	�� ������	������ ����
����	����������!	���76���
�	�������	�	���'��� ����	�'�$$	����! ���!	��� !�	< ��	���	�&�!	���

���� '=�(�	� ��$$	�� �	!!	� (�	� ����	�� !	�� '����� ��	�� �	� !�� ������	� �� 	��� ��� �C� �	��� �	��
�!"�� �=$	�� �	�$	��	��� 	�� �!��� �����	� �� !	�� &�!	���� �(� � ��C � ��	��� !�� ������	��
6���	!����(�	?��@���#�� !����C � � ����	� I����	�������0�����	?��))�K?� !	��'����� ��	������ !	��
���	���	��������	��	�& '	�������
�

�� �
�'����� ��	��	�C	�B��	��	��	$���$ � $�!	�����!	� ���$$	���	�!��������	�E�
�� 
�'����� ��	��	�C	�B��	��	��	$���$�< $�!	�����!	� ���$$	���	�!��������	�E�
�� �
�'����� ��	�����!������	�$�< $�!	��	�!��������	�E��
�� �
�'����� ��	�����!	��	$����	�����������$�< $�!������!	�'! 	��?��D� �	�� ������

!	����$$	����	����-���	���	�	
��#

.������'! 	�����
�	' ��	����	�����$	��%����	��	$�!	��	�*�'����� ��	��
��

I�K�

I�K�

� I�K�

I*K�

7�!�� �	������'=��"	$	����	�&�� ��!	��(� ��� ! �	�!	���"�! ��� �	�� ?�
!@�!"�� �=$	������������� I/ ��������S�	" �"	�?��)��K����	�$ �	�!	��&�!	�����	��&�� ��!	�� �
(� � �	��	'�	��� !	�� '����� ��	��� 0	�� '����� ��	�� 	<�� $�	�� 	�� �� ! ����� !	�� &�� ��!	��

�	& 	��	���
��

I�K�

I�K�

I�K�

I*K�

0	��&�� ��!	�� � ?� �	�� ������	��� �	�'�!'�!�	��	�����! (�����!	�'=��"	$	����	�&�� ��!	��
 �&	��	�����!	�� ��

4.4.4.� Les contraintes "valides" dans le SDARP 
����� !	� ��76�?�  !� 	��� � CC ' !	� �	� ��C � �� � � ��	� '����� ��	� 	��� ��� �C� �	� ���� �	�� ���	�� �	�
�����"	�����!	����$$	���'���!	���	$����	����,	��������	�����! ��� �����	�&�� ��!	��!���� �	��0	��
&�!	���� ����' �	�� %� '	�� &�� ��!	�� ���	��	��� �	� !�� ���! ��� ��� �	� !�� &�� ��!	� �!���� �	 �� 0	��
 ��"�! ������ &	���B��	����'� �	��	���� ! ���� ?�'	�(� �'���	������%�
�
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I�K�

I�K�

I�K�

I*K�

��$$	�'	��  ��"�! �������	��	����	� �!��&�! � ����	��'����� ��	���������	�&�!	����	 �
���	����	�����! ��� �����	��&�� ��!	���!���� �	�������!�����! ��� �� ��0	��'����� ��	���������'�
��	�'	��� �	������� ! ����@B��	����! ���!	����	��	������� ! ������	����	�!��&�� ��!	��!���� �	� ?�
�	� !�� &�!	��� �CC	'��	� ��<� &�� ��!	� ?� $� �� ���� � �	� !@=-���=#�	� ���� !	� '�$����	$	��� ���
&�= '�!	?�����	� ��&	'� ��

I�K�

I�K�

I�K�

I*K�

����� !	� $��#!	� ��� ��76�?� ��	� ���&	!!	� ��C � � ��� 	���  ������ �	� ����� '���'��� �	�� '	��
'����� ��	��(� �����#�	�����	�'	��� �	������� ! ����@B��	�&�! �	
�


��C � � ���I'����� ��	������� ! ��	��@����	� K
�������	!!	���	�'����� ��	������� ! ��	��@����	��?�
��	�'����� ��	�(� �	���&�� 	��&	'���	������� ! �� ������ !@=-���=#�	�4����!!	�	�������	� �	��
	!!	�	����	!!	�(�	 ��

���'?�'����� �	$	��������76�?�!	�����!��������	����	����! ��� ! ����	����	��������� (�	$	���
�	� !�� ! ��	� �������	� �	�� ��$$	���� �!� &�� 	� ���� � 	�� C��'� ��� ��� ����$#��	� �'=� � ?� (� �
�	����	��	�!	�'� �#�	�����' ��%�!��'����� ��	������� ! ��	���

�

0@=-���=#�	� �	��� �� ! ��	� '��� 	!!	� '���	������ %� !�� � ���� ��� �D� !	� &�= '�!	� �� �� �	��	'�	��
!@���	��	� �&���� �	� �	���� ��� 0�� &�� ��!	� �	��� !�� ��$$	� �	�� ���	��	��� �!!	� �@	��� ���'� ����
 �C!�	�'�	�����!�����	��@��� &�	?�'	�(� ��@	������� !	�'��������!	������	��=-���=#�	���0��C "��	�
*��X��	����	��	�!���	�� ����	�!��!� � �'	����	�����!��&�!	����	 �(� �'���	������%�!��!� ��� & 	�
��� ������ �� 0�� ������ ! ��� 	��� �!���� �	����	���	� ���� !@� �	� =�'=�	�
�����!��'����	���!!	�'���	������%�!��&�!	�� �

�/��'� ����	�� ����	�
'	����	��������

�

�

�

&�� ��!	�%���C � ��� &�� ��!	��!���� �	��

�
�

�

�
(���

�7� 3����
��������+�B�;��
�����
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�%����%���%'���
�



182 Chapitre 4 

0��&�� ��!	� �!���� �	 ��	����	��	� !�� ��$$	��	�� �	$��� �	� ���,	�����$$	�� � !	� '=��CC	��� � �
!@	���	�� �	� �@�� �@ �C!�	�'	� ���� '	�� �	$��� �	� ���,	�?�  !� �@	��� ���� ���� �!	� �	� $�� C 	�� !��
������ ! ��� �	� �	��	'�	�� !�� '����� ��	�� ���'?� ����� (����	� '����� ��	� ��� �� &�! �	?�  !� C����
��C � ����	�&�!	���%� ��	!!	�(�	� �������!	��'����� ��	���	�!��C��$	 ?�
�!��� !�� &�!	��� �	� �	��� "����	?� �!��� �	� ������'=	� �	� 	�� �!��� !@� �	� �	� !�� C��'� ��� �	�
�	�� ��� � $ ��	�	�����'��!���!�������� ! ���� $ ��	��7��'����� �	?��!���!��&�!	����	�

�	����	� �	�	���!��� !�������� ! �����"$	��	?� ��
�� !@� �	��	� !��'����	��	� ��"$	��	��
��&	��	$	��������!	��'����� ��	���	�!��C��$	 ��
0	��'����� ��	���	& 	��	����!����
�

I�K�

I�K�

I�K�

I*K�

���� �	?� '�$$	� !�� &�� ��!	� �!���� �	� (� � $���! �	� !	� �	$��� �	� ���,	�� �� �� ��	� !� �
���$�!	�
 ?� 	!!	� �	��� B��	� �����< $�	� ���� ��	� !� � ���$�!	� '	����	� Z� ���� �	�

��&	'�!�������C��$�� ����� &���	�
�

�

0�� �����C��$�� ������'��	��	��	���B��	����! (��	������ !	��(����	�'����� ��	�?�	�� �	$��(�����
(�	� ����� !�� '����� ��	 ?� ������ �	�� !� �� ���$�!	�� 	�� (�	� !�� �������'� ��� �	� �	�<� !� ��

���$�!	��	������� ���	�!� ����$�!	?��&	'� ���

0	��(����	�'����� ��	���	����'� &	���� �� �


I�K�

I�K�

I�K�

I*K�

����� !�� !� � ���$�!	� '	����	� ���� �	� ?�  !� 	��� ���� �!	� �@���	� �� !�� &�!	��� �	� ��	!!	� (�	�
?�	���� ! �����!��C��'� ����	������� � ����	�'	��	�!� �
�

�

0@�&����"	��	��	���$	�	��%�!��!� ����$�!	�'	����	����� �	 �	���(�@��	��	�!	�	��$B$	�!� �
	����� ! ��	�(�	!!	�(�	��� ��!��'����� ��	�	��(�	!�(�	��� ��!	���$$	���	�!��������	���!��@	������'�
�!����� !	��	�'����T��	�!	������	��C��'� �����	������� � ����	��!� �� ��7 �� �!	��&�!	�����	� �
�������CC ����	��	���	�&	���B��	������C � 	�������!��!"�� �=$	�������$�! ��	��!	���	�C��$��'	��
�	�!��$��=��	��	�����!�� �����
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��� �� ! ����� ?� !	��  ��"�! ���� �	� !�� C��$	� ��	& 	��	��� �(� &�!	��	�� %� �	��
 ��"�! �����	�!��C��$	 �	��'	!!	���	�!��C��$	� �������(� &�!	��	��%��	��
 ��"�! �����	�!��C��$	 ��
�	��	� �(� &�!	�'	� �	��� B��	� ���! (��	� ���� !	�� (����	� '����� ��	��� 7 �� ?� ����� !�� ��	$ #�	�
'����� ��	�
�

�

�

0	���(� &�!	�'	������	��������!	��(����	�'����� ��	��
�

I�@K�

I�@K�

I�@K�

I*@K�

������� (�	� !	�� '����� ��	�� I�K?� I�K?� I�K� 	�� I*K� �����76�� ����� �(� &�!	��	�� ��<� '����� ��	��
����' �	�� �����76������� !	� '��� �D� �e� )�+� '��� !�� &�!	��� �	� ��	!!	� (�	� 	���
�!����)��

4.4.5.� Test de réalisabilité d'une tournée :  
0�� C��'� ��� ���	�$ �	� � ?� �������	� ������ ! ��� ������	?� ��	� ! ��	�
�	���$$	���'���� ��	���	�������	�&�! �	�������!	����� ��=-���=#�	��'��� ����	�?��	�<��	�����	�
���! ��� ! �����������'	��� �	�?���������!@=-���=#�	 ?�	����������!	��=-���=#�	�� �	�� ��

0��� CC��	�'	�	���	�'	���	�<��	�������& 	������C� ��(�	������!@=-���=#�	���!	��'����� ��	�� �	�
!��C��$	� ����� ���,�����&�! �	��� � !��&�!	��� �	���&�! �	��0�������� ! �������' �	�%�
'	��	�'����� ��	��	����	��������	�!�����! ��� ����	�!��&�� ��!	��!���� �	 ���	���	�������!	�'���
�����!	���	�<�����	��=-���=#�	�����	�������(�� �!	��'����� ��	���	�!��C��$	 ������!	�
�	����	����! ��� ! �������� ��	�'=��"	����������������������76����

0	��� �' �	��	�'	��	� C��'� ����@�&�!��� ��� ��������C � �%� !��� " �	����� I/ ��������S�	" �"	�?�
�)��K� ����� !	� ��76�� 	��  !� �	��	� !�� ���! ��� ! ��� ����� &	'�	��� �� ���� C��'� ���	$	��� �� ����
��'� �� ����� !	� '=�� ��	� �?� !	�� '����� ��	�� ����� ��	$ #�	$	��� $���! ��	�� ����� !�� C��$	� �����
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4.4.6.� Schéma général d'évaluation du vecteur λ : () 
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�
Input parameters:  
   : a node list  
Global parameters:  
   : float  
 delta :  minimal gap to stop dichotomy 
Output parameters:  
   : a boolean of feasibility 
   : float  
   : cost of the trip 
  : a trip which contains all the trip variables like : , s[], B[], A[], D[] 
Begin 
��
��
��
*�
+�
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��
X�
W�
�)�
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End 
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4.4.7.� Définition du critère de robustesse d'une solution 
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4.5.1.� Calcul de la probabilité associée à une contrainte pour les différentes hypothèses 
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!��������	��	�����' �	�%�!����!�� ����
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a)� Calcul de la probabilité d’une contrainte d’être valide sous l’Hypothèse H2 
�����!@=-���=#�	��?�!	���	$����@���	��	� ����� $���������'=��CC	��������'=�(�	���$$	���	�
!�� ������	�	��(�	!!	�(�	��� �� !�� ���! ��� �� �	 �
� ��0��&�!	��� ������ !@=-���=#�	�

�	��� ���� '����(�	��� ��	� '�������	� &�!��� �� 0�� &�� ��!	� �!���� �	�
�� ����	�!� ����$�!	�'	����	����� ������!��&�� ��'	�	���!��$B$	�(�	 ?���
�� ��0��

������ ! �������' �	�%�!��&�� ��!	��!���� �	��	�!��'����� ��	 ?��	�!��C��$	 ?��	���
B��	�'�!'�!�	�	���� ! �������	�!� ����$�!	�'	����	����� �	�������!	�'�!'�!��	�'	��	������� ! ��?�
�	�!	� �	��!��&�� ��'	��	�!��!� ��� & 	����� ��������'	��� �	���
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0	�$B$	�'�!'�!��	���B��	����! ��������!	��'����� ��	���	�!��C��$	�
� �

b)� Calcul de la probabilité d’une contrainte d’être valide sous l’Hypothèse H1 
����� !@=-���=#�	� �?� !	� &�= '�!	� �	��� $�� C 	�� !@���	��	� ���� !	� ��$$	�� �C �� �	� �	��	'�	�� �	��
���	�� �	� ����� �� ������ �	$	��� %� !@=-���=#�	� ���'��	��	? �� �	� C� �?� �@	��� ����
'�������	?����&�!	������	����	 ?�'	�(� ��	����	����	� ��0��!� ��� & 	�����

��@	���������	�!� ����$�!	�'�$$	������ ������'����	�!�������� ! ���(�@��	�'����� ��	���
�� ��&�! �	�	���'�!'�!��!	��

�����!	��'����� ��	���	�!��C��$	� ?�!����! � (�	��	�"	�� ����� & 	������!@=-���=#�	���
 $�! (�	�(�	� �K�e���� �!��&�!	����	� �	���&�! �	�'���!	�&�= '�!	��� �����	���	� �
�����'�$$	�'	�������	�& '	?����' ��

����� !	�� '����� ��	�� �	� !�� C��$	 ?� !	�� '��� "�	��  $����	�� ���� !@=-���=#�	� ��
 $�! (�	��� �������� (�	� �� � �	�� (�	� �� � �� ���� '����(�	���

�	���&�� 	��� (�	$	���� �����'� �

���� �	?� � � !�� !� � �� & 	� ���� �	��� '����	?� �!���� �	��� ��	� '�������	� �� �(�	� !	�� ����	��
'����� ��	�� �	� ����� ���� �� �	�� 	�� '�$��	�� �� �� ���'� ��	� !� � ���$�!	� '	����	� ����

������ !�� &�� ��'	� 	��� !�� $B$	� (�	 ?� ��
�� �� 0�� ������ ! ��� �	���
'����	�	���	������������%���	�!� �'	����	Z���� �	���!!	�	��������	�����
�
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�� �����!	��'����� ��	���	�!��C��$	� ?�'�$$	� ��!����
��

�� ����� !	�� '����� ��	�� �	� !�� C��$	� �'�$$	� ��!����
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c)� Calcul de la probabilité d’une contrainte d’être valide sous l’Hypothèse H3 
����� !@=-���=#�	� �?� !	� '=��CC	��� �� �� '����T��	� %� !�� C� �� 	�� ������ '=�(�	� ��$$	��� 0	��
'��� "�	�������(�	?��@ !���� &	�����!	���$$	���&���� !�����	� ?��!����  !��� ���	��	'�	��!@���	��	�

���@ !���� &	����#�� ?� !��� ���	��	'�	��!�����	��	�����������	�& '	 ��0��� ���� ���	����!����
���	8� � $ !� �	� %� !@=-���=#�	� ��
� !	� �	$��� �����	��	� ���� ���	��� �	� !�� ���! ��� �� ?� �@	���
���'�������	�'�������	?����&�!	���	�������	 �	�����	����	 ��0��!� ��� & 	�
���� ��@	���������	�!� ����$�!	������'����	�!�������� ! ���(����	�'����� ��	����� ��&�! �	�	���
!%2���� �'�!'�!��!	��
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����� !	�� '����� ��	�� �	� !�� C��$	� ���� �� �'��� '	��	�
'����� ��	��	��	���B��	�& �!�	�(�	�� � �����'�!	�&�= '�!	����	�!@�&��'	�	��!��'��� "�	�
(�	� �� �� ���! (�	�� !	� '=��CC	��� 	��� !�� $B$	� (�	� ����� �
�  !� �� �� ���	���	� ��&���� �	�
'�$$	�'	�������	�& '	�	�� ��

����� !	�� '����� ��	�� �	� !�� C��$	 ?� !	�� '��� "�	��  $����	�� ���� !@=-���=#�	� ��
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�

�

�	�� ������ ! ���� �����  !!�����	�� ���� !�� C "��	� *��*� 	�� !�� C "��	� *��+� ����� � CC��	��	�� &�!	����
�	 ��

�

/��'� ����	�� ����	�
'	����	��������

�
�

�

� � �

�
�

�

�

/��'� ����	�� ����	�
'	����	��������

�

�

�

�

�

�

�

�
�

�

�
(���

�7�"7����
��������+�B�;��
�����
����
�%����#���	
�%��%�U"��#
�� �

�

/��'� ����	�� ����	�
'	����	��������

�
�

�
�

�

�

�

�
(���

�7�"9����
��������+�B�;��
�����
����
�%����#���	
�%��%�U"��#
�� �

���'	������!	�C� ��(�	� �	����	��	���	�����	� �C�� 	��	������ �
��

�� ����� !	�� '����� ��	�� �	� !�� C��$	� �'�$$	�
��



192 Chapitre 4 

�� ����� !	�� '����� ��	�� �	� !�� C��$	� �'�$$	 ��!����

�	�����'� ��

�

4.5.2.� Calcul analytique de la probabilité de réalisabilité de la tournée 
0	�'�!'�!����!-� (�	�	���'�$�!	<	������!��$	���	��D���	�������	�	���'�$����	��@���	��	$�!	�
�	���$$	���	��(�	?�����'=�'����	�'	����$$	�� ?�!��&�� ��!	� ��� ���	��	'�	�����	��	$�!	��	�
'����� ��	��(� ���������C � ����'��	$$	�����

����� !	� '�!'�!� �	� !�� ������ ! ��?� ��	� ���&	!!	� &�� ��!	� �!���� �	� ��&	'� � �	���
 ������ �	�� �!!	� '���	������ ��� �	��	'�� ���� ��	� !@	��	$�!	� �	�� '����� ��	�� (� � !� � �����
����' �	��������(�@��	�������	��� �����! ���!	?� !�C����(�	�!@	��	$�!	��	�� ?� � ��� ��
&�! �	��0�������� ! ����	����! ��� ! ����	�!����!�� ���	����!�����"�!	�%�!�������� ! ���
�

�
�	�<� '��� '��'	������ !	� '�!'�!� �	� !�� ������ ! ��� ���!-� (�	� �@��	� ������	� ����� ���� ��� �����
'	��	����� 	�
�

�� �� 	��� !	�� ������ '��� ������  ����	�����	�� 

?�'	�(� �	�����	�� $�! C '�� ������$��#!	�E�

�� �� 	��� !	�� ��	� ����� ���� '��� ������  ����	�����	�� 
�
���

����� ���&� �� '�!'�!	�� !�� ������ ! ��� ����' �	� %� ��	� '����� ��	 ?�  !� C���� B��	� 	�� $	���	� �	�
'����T��	� !�� !� � ����' �	� %� !�� &�� ��!	 ���	�� �	�<� '��� ����� ���� !!��� ����� !	�� ����"���=	��
�� &������

a)� Avec l'hypothèse simplificatrice que les variables  sont indépendantes  
�	��	�=-���=#�	�	������'=	��	�'	!!	�C� �	������!��C��'� ����@�&�!��� ����D�'=�(�	�'����� ��	�	���
��� ��	� ����	���$$	����	������	��������'	��	�=-���=#�	?�'=�(�	���$$	���	�!��������	��	���
B��	� ��� ���  ����	���$$	��� �	�� ����	��� ������ �	$	��� %� !@�&�!��� ��?� ����� '�!'�!	�� !��
������ ! ����	� ?� !	��'����� ��	��(� �'��'	��	��� !	��$B$	����$$	��� ����� ��� ��	��	��$B$	�
�	$����

�����'	��=-���=#�	�?�!��!� ��� & 	�����!��&�� ��!	��!���� �	� �	����!����'����	���!!	�	����"�!	�
%�!����$$	�'�������	��	���	$����@���	��	� $����������!	����$$	������'��	��� �%�!�(�	!!	�
	����,����	�!��&�!	����!���� �	� �����' �	�%�!����$$	��	�����,	���	���	��	����L��	��!	���$$	� ��

�� �����'���	�!� ����$�!	�'	����	����� ������!��&�� ��'	�	���!��$B$	�(�	 ?�
��
�� ���

0	�'�!'�!��	�!�������� ! ����	� ����	�������-�	��	���$$	��
�

�� ����� ���$$	���@�� " �	��@���'! 	���
�
�

�
�� ����� ���$$	���	��	�� ��� ����@���'! 	�������' ��%������$$	���@�� " �	� �
�

�

���'	������ !�� ������ ! �� ?� !�� &�� ��!	� �!���� �	� �	���
'��� ����	�'�$$	�  ����	�����	��	������	��'����� ��	�������$$	�� ,� '��� !�� !� � �� & 	�
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���� ��@	�������!��$B$	�(�	�'	!!	��� & 	���� ���
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�� �����!	����L��C ��!�
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�

�

�

��$$	�	<�! (�������� !������ 	����'��	��	?� !	�'�!'�!��	� !�������� ! ���(�@��	�'����� ��	��� ��
���! ���!	������!	��� CC��	��	��=-���=#�	�� ?� ?� �	������� �!	�I�	�� ���*�+��K�������'	!��!��
C��'� ��� �	������� �	������!	��� CC��	��	��&�!	����(�	��	�����	���	 ��

�!� 	��� ���� �!	� �	� '����T��	� !�� C��'� ��� �	� �	�� ��� ����' �	� %� !�� &�� ��!	� �!���� �	� ������
'=�(�	� ��$$	��� �!� 	��� ���'� ���� � ���� �!	� �	� '�!'�!	�� !�� ������ ! ��� 	�� '�!'�!����
!@ ���"��!	� �	� '	�� !� ��� ����� '	��	� =-���=#�	� �@ ����	����'	?� !�� ������ ! ��� ��	�
���! ��� ! �������' �	�%� �	����"�!	��������� ���	�������� ! �����	� ��

�

�����'	��	�=-���=#�	?� �	���'�!'�!��!	����!-� (�	$	���

b)� Sans hypothèse d'indépendance pour les variables  
�����'	��	�=-���=#�	��@ ����	����'	?�!�������� ! ����	����! ��� ! ����	�!��������	����	��	�����
!@�&�!��� ����	� �	����"�!	�%�!��C��$�!	��� &���	�
�

�

7&	'� �!�� ������ ! ��� '��� � ���	!!	� (� � �	����	��	� !�� ������ ! ��� �	� !@�&#�	$	���
��'=���� (�	� !@�&#�	$	��� ��� ��,%� 	�� ! 	��� ����� '	��	� '��� � ��?�  !� �@	��� �!��� ���� �!	�

�@�� ! �	�� !�� !� � �� & 	� ���� �	�� !�� ��$$	� �	�� �	$��� �@���	��	� ����� ��C � �� !�� !� � �� & 	�
��� �'���!	��'����� ��	������!	����$$	������'��	����� �� �(�	�!	���'� �������'=��CC	�������
��� $��'����� ��

�����$	���	�	���& �	�'	�!��� CC��	�'	����������������'������'��	��?����	<	$�!	�	�������������
!��C "��	�*��W�������!��C "��	?� !	���	$����	�'=��"	$	���������$ �� I���' K�	��������	�

�!��&�� ��!	� �!���� �	� �	!!	�(�	� !	��&�!	�����	� �	��	'�	��� ����	�� !	�� '����� ��	�� ���� !	�
��$$	� ��7�"��'=	?�!	����$$	�������� ����	�������	��!��!� ��� & 	����� �	���'����	������
�����!	����$$	�����	' ��	�$	���	�'����T��	�!��!� ��� & 	����� �	�����'� �(� �'���	������%�

�� � !��&�!	����	��	'�	�!	��'����� ��	��������!��C "��	��	���� �	?� !	�� �	$����	����,	��	���	�!	��
��$$	����	�������!��� ����	�������	�������'����T��	� !��!� ��	� � !�C����'����T��	� !��!� ��	�

�I!	� �	$��� �	� ���,	�� 	���	 �	�� �	��� '����K� 	�� !�� !� � �� & 	� ���� I���� !	� ��$$	��
���'#�	��K�������!��C "��	��	���� �	�!��&�!	����	��������	���C <�	�����!	���$$	�� �	��!��!� �
�� & 	����� �	���'����	���!!	��� ��!��$B$	�!� �(�	� �'	����	�	�� ��
��$$	� ���'��	$$	��� !�� !� � �	� ��	��2B��	� '�!'�!�	� 	�� C��'� ��� ��� '�$����	$	��� �� & �
����!	�'=��CC	��������!	���$$	���� &���?�!��!� ��� & 	����� ��@	����!�����	�!� ����$�!	�	��!��!� �
�� & 	����� ��@	����!���!����$$	��	��	�<�!� ����$�!	��
� !�C�������'�!��'�!'�!	����������&� ��
���	� ��!��!� ��� & 	����� ��
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����� !	� '��� �D� ��� �� ��	� !� � ���$�!	?�  !� 	��� ���� �!	� �@���	� �� !�� &�!	��� �	� !�� ������ ! ���
����' �	�	���� ! ����� !��!� ����$�!	�'	����	����� �	��	!���!	��� �' �	�����	���������!���	'� ���
���'��	��	������� !	� '��� �D� !�� C��'� ����	��	�� ��� �	� �� �� ������	� !� ����$�!	?� !	� '�!'�!� 	���
���� �!	?�$� �� !�	����	��'�����!���'�Q�	�<���!�'��� ��	�	���	�<�����	��
�'�!'�!	��!��C��'� ����	�
�	�� �������' �	�%� ��� �?�	��C��'� ����	�!@=-���=#�	�����!����! � (�	��� & 	�����!	�'=��CC	��?�
'�!'�!	�� !�� C��'� ��� �	� �	�� ��� �����' �	� %� �� ��C �?� '�!'�!	�� !@ ���"��!	� 	���	� !	��
&�!	�����	��'����� ��	����������	� ��!�������� ! ����	� ��
1�� ������	���������'	��� �	��
�

� ��P�'�!'�!	��!���	�� ����	������� ! �������' �	�%�!��!� ��� & 	����� ��

�����'	!�?�!�����	��	���$����"	��	�!��������	�	���'����	�	��!��!� ��� & 	����� 	���'����	�
����������!	����'���	�!��������	��������'���	�'	?�	���� ! �����!��C��$�!	��� &���	?� !�	������� �!	�
�	�'�!'�!	��!���	�� ����	�!��&�� ��!	 ��

�

� ��P�'�$$	�!	�'�$����	$	������'=��CC	���	������� �'����������!	��� CC��	��	��&�!	����
�	 ?� !�	������� �!	��@	������ �	�!��C��'� ����	��	�� ��� �����' �	�%� ��

� � !	� '�$����	$	��� �� & � ���� !	� '=��CC	��� 	��� '����?�  !� 	��� ���� �!	� �	� '������ �	� ��	�
�	����	���� ��� �	� !�� C��'� ��� �	� �	�� ��� �� & 	� ���� !�� &�� ��!	� �!���� �	 �	�� C��'� ��� �	��
� CC��	��	��&�!	�����	� ��G� ' � !	��  !!������ ��������� !	�'����D� !��&�� ��!	� ��� ����	� !� �
���$�!	��	�'���'��� �� (�	�'����	��0��C "��	�*���� !!����	�!��C��'� ����	��	�� �������' �	�%�!��
&�� ��!	��!���� �	 ������!@=-���=#�	����0�������� ! ���(�	� ��� ���"�!	�%� �'���	������%�
!�������� ! ���(�	� ��� ��  �C�� 	��	�%� ?� '	�(� �	��� �	����	���� ���� !�� C "��	����� !@� �	��	� !��
C��'� ��� �	� �	�� ��� �	� ������ �	� !�� C��'� ��� �	� �	�� ��� ����' �	� %� �	��� !��$B$	�(�	�
'	!!	��	� ��
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0�� C "��	� *��X�  !!����	� !�� C��'� ��� �	� �	�� ��� ����' �	� %� !�� &�� ��!	� �!���� �	 ������
!@=-���=#�	���������'	��	�=-���=#�	?� !�� C��'� ����	��	�� �������' �	�%� �	��� !��$B$	�(�	�
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0�� C "��	� *��W�  !!����	� !�� C��'� ��� �	� �	�� ��� ����' �	� %� !�� &�� ��!	� �!���� �	 ������
!@=-���=#�	��������� '	��	�=-���=#�	?� !�������� ! ���(�	� ��� �� �"�!	� %� ��@	��� ������!!	� 	��
	!!	�'���	������%�!�������� ! ���(�	� ��� ��'�$�� �	�	���	� �	�� ?�'	�(� �	����	����	��������
!@� �	� "� ��	� ���� !�� C "��	�� ���� �	?� !�� C��'� ��� �	� �	�� ��� �	� !�� &�� ��!	� �!���� �	� ��	�
'�$����	� '�$$	� '	!!	� �	� ������ !	�� &�!	���� ����� 	��	�� %� �	�� 	!!	� �	� '�$����	� '�$$	�
'	!!	��	� ����#����	������!�� ����	�&�!	�� ������!	��&�!	���� �C�� 	��	��%� ��
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� �� P� 
�	� C� �� !�� �	�� ��� �	� !�� !� � �� & 	� ���� �'����	?�  !� 	��� ���� �!	� �	� '�!'�!	��
!@ ���"��!	��	�'	��	�C��'� ���	���	�!	��� CC��	��	��&�!	��������' �	����<�'����� ��	�?� !!�����	�����
!�� C "��	� *�*)�� �!�� 	���� $��=��	�� �	� '�!'�!� �@ ���"��!	� �	�&	��� B��	� �� ! ��	�� '�$$	� ����
	<	$�!	�'	!!	��	�� $������$�! ���	�����6�$�	�"���	�'�!'�!��	�$	���@���	� � ��
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.�!=	��	��	$	��?���������	� ����	����' � �����CC ����	?�'	��	�$��=��	��	$���	�����	$����	�
'�!'�!������ $�������������B��	��� ! ��������!	��$��=��	���	�����!�� �����!!	��	�$	������$� ���
�@�&�!�	��!��� CC��	�'	�	���	�!@	�� $�� ������	��	�����!	�'�!'�!����!-� (�	�	��!��&�!	������	��	�
����� $�!�� �����

4.5.3.� Déterminer la probabilité de réalisabilité par simulation  
�����!��� $�!�� ��?�����	��!	��=-���=#�	���	�&	���B��	�	�& ��"�	�?�$� ��!���� �' ��!	�� CC '�!���
��� �	������!	���$��	��	����! '�� ����%�	CC	'��	����������	� ���������!����� "� C '�� C�	���	�$	��
�	����' � ����
�	����&	!!	������ ���	��� ������ �	�
�

�� 
�&�!	���$�-	��	��	����! ��� ! ����@��	�������	?����	��	����#�������! '�� �����

�&	'� �� ��$$	� !	�� ������	�� ����� '��� ����	��  ����	�����	�?� !�� &�!	���
$�-	��	��	����! ��� ! ����@��	���!�� ������#�� ����! '�� �����	���B��	�'�!'�!�	�	��	�������	�
��

�

?��&	'� �!@	��	$�!	��	��������	��(� �'�$���	�� ���
0	��'=�$���!"�� �=$ (�	�	��������������!@�!"�� �=$	�����!���� �	�!	�'����@��	�� $�!�� ��������
!@=-���=#�	� �� �&	'� �	�� ��$$	��� (� � �	� ����� ���� '��� ������  ����	�������� 0	�� �	�<� ���� 	��
	�'����	�� '���	��������� ��<� =-���=#�	�� '��� ����	��
� !	� ��	$ 	�� �!�'� '���	������ %�
!@ ����	����'	� 	���	� !	�� ��$$	��� 	�� !	� �	'���� '���	������ %� !�� ��! � (�	� ��� '=��CC	����
�	�
� $�!�� ����	������'�B��	�'������ �	����������	��!	��=-���=#�	��	�& ��"�	���0�����	��	��������
�	����L��	��� � � �! ��	�%� �	��! "�	����0@�!"�� �=$	����! �	�	��! "�	��������'=�(�	���$$	�����
� ��"	��@��	� !� ����$�!	���	' �(� �'���	��������� �	$����	� ���,	��	���	� !	� ��$$	�� �	�� !	�
��$$	�� �� �!� '�!'�!	� �!���� !�����	��@��� &�	� ���� �?� �� &���� !	�'�$����	$	�����C � ������ !	�
'=��CC	��?� !@�!"�� �=$	� ���	�$ �	� !�� ���	� �� �	� !�� ! "�	� ��� %� !�� ! "�	� �+?� !	�� � CC��	��	��
'����� ��	�� ��� ����!#$	� ����� �	���	�� �&	'� !�� &�!	��� �� � � ��	� '����� ��	� 	��� & �!�	?� !	�
���"��$$	��@���B�	��� ���� !�����	������$$	���� &���������!��������	��

.B$	�� ������$��	� $���������@	<�'�� ����	�����'	��� �	?�!��'�$�!	< ����	�!@�!"�� �=$	�	���	��
?��D���	���!	���$��	��	���$$	��������!��������	���	' ��	�$	���	�'���	�&	������	$����	�

'�!'�!��� ������!	���

� $�!�� ��������!@=-���=#�	�4�������!@=-���=#�	��	����$$	��� ����	�������
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�
Input parameters:  
   : a node list  
Global parameters:  
   : starting time on the node  
   : time windows on node  
   : position of the pickup node associated with the delivery node i in  
   : maximal riding time for clients 
  : maximal riding time for the vehicles 
Variables:  
   : simulated arriving time on the node  
  : simulated starting time on the node  
Output parameters:  
   : true | false  
Begin 
��
��
��
*�
+�
��
��
X�
W�
�)�
���
���
���
�*�
�+�
���
���
�X�
�W�
�)�
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���
�*�
�+�
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���

End 

#�*�� 3�����	�������
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	���
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	�
�
4.6.1.� Etude de la robustesse des meilleurs solutions du DDARP 
0	��  �����'	�� �� ! ��	�� ����� !	��  �����'	�� '!��� (�	�� �	� !�� ! ��������	� ���� !	� ���������� %� !��
�	$���	�
�	!!	��������������	���	�������!@��� '!	��	�I����	�������0�����	?��))�K��0	����!�� ����
��� $�!	���	�'	�� �����'	���	����������'����	�������'����	?��	���$��	��	����!�� ������������
���! �	�����'������	�'	���	�� #�	������	������$ �'	�����! '�� ���?�����	���' �	��!	�����&��<��	�
I����	�������0�����	?��))�K?�I�����"=������'=$ �?��)��K�	��IF��	A	���	���!�?��)�*K���
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0	����!	���*�+��	"����	� !	������!����������!	�'�!'�!��	�!��������	��	��	��$	 !!	��	����!�� ����
'����	�� IF:�� P� =
%�� M��/�� $�������K� ����� !�� ! ��������	�� ����� '=�(�	�  �����'	?� !	� ��$�
I��$K?�!	���$��	��	�&�= '�!	�I K?�!	���$��	��	�'! 	����I K�	��!��&�!	����	�!��F:��I K�
�����  �� (����� ����� '=�(�	� =-���=#�	� ?� !	� '� �#�	� �	� ������	��	� ��	� !��
F:�� 	�� !�	�� $�� ��� ���� � $�!�� ��� �	� !�� ���! ��� ! ��� �	� !�� F:�� �&	'� ����! '�� ����

������ ����	������ �' ?� ����! '�� ���� ����� �� ! ��	��� 9�� �	$��(�	� (�	?�
$B$	�� �!	��&�!	�������'� �#�	� �	��!@	�� $�� ����	�!�������� ! �������' �	� ������
� CC��	��	�?� !	�� &�� �� ���� ���� !�� C "��	� *�*�� �	�� '����	�� (�	!!	�� (�	� �� �� !@=-���=#�	� �����
� $ !� �	��� ���� 	<	$�!	� ����� ?� !	��  �����'	�� ��)�?� ��)�?� ����� 	�� ���X� ���� ��� '� �#�	� �
�!	&����	��$B$	�� �����'	��������	������� ! ��� ��0	�� �����'	����)�?���)��
	�����)������	��&�!	�����	� ����'=	���	�)���!!	���������� ���	�&�!	��� ����'=	��	�
�q�� �	�� $B$	�� �	$��(�	�� � 	��	��� ����� !	�� �	�<� ����	�� =-���=#�	��� 7 �� ?� !	� '� �#�	� �
�	$�!	�B��	����'� �#�	��	����	���� C��	�!��������	��	��	�!����!�� ����
����
���7�9��
�+%�����%�	
��;������%������%�
�����
���
�

�%�������������
�	���������

��$� � � � � � � � �

��)�� �� �*� �W)�)�� �*�Xq� X��*q� ���Xq� �+�W)q� +)�))q�
��)�� +� *X� �)���*� ���Xq� X+�*q� *X��q� �X�*)q� ����)q�
��)�� �� ��� +���))� *�Xq� )��q� ���q� )�))q� )�))q�
��)*� W� W�� +�)��+� �*��q� )��q� W�*q� )�))q� )��)q�
��)+� ��� ��)� ����W�� ����q� )��q� +�)q� )�))q� )��)q�
��)�� ��� �**� �X+���� ��Wq� )�)q� ��)q� )�))q� )�))q�
��)�� *� ��� �W����� ���Wq� �*��q� �*��q� )��)q� ��W)q�
��)X� �� ��� *X��X*� X�Wq� )��q� +�Wq� )�))q� )��)q�
��)W� X� �)X� �+X���� W�*q� )�*q� *��q� )�))q� )��)q�
���)� �)� �**� X+��X�� ���q� )�)q� )��q� )�))q� )�))q�
����� �� �*� ��*�*�� ����q� ���)q� +���q� ����)q� �W�))q�
����� +� *X� �W+���� ���)q� +�Xq� �+�)q� )��)q� ���)q�
����� �� ��� *X*�X�� ���+q� ���+q� �W��q� )�X)q� ���)q�
���*� W� W�� +�W���� +W��q� �*��q� �+��q� W��)q� ���X)q�
���+� ��� ��)� +����W� ���Wq� ���)q� ���Wq� ��W)q� �+��)q�
����� ��� �**� ��)���� ����q� ����q� ��+q� )��)q� ��*)q�
����� *� ��� �*X���� ���Xq� ���q� ���Xq� )��)q� )�W)q�
���X� �� ��� *+X���� ����q� ���Wq� *��Xq� ���))q� +*�*)q�
���W� X� �)X� +W��*W� +�Xq� )�)q� ��+q� )�))q� )��)q�
���)� �)� �**� �X+��X� ��Xq� )�)q� ��Xq� )�))q� )��)q�
�&"�� �� �� � � �*��q� � ��)�q� �����q�
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4.6.2.� La méthode de résolution avec hiérarchisation des critères 
0��0���������	������ !	�'=�� ��	�������� �������	� !	��76��������$�� C �	���������	� ���	��
��!�� ���� ������	��� 0�� C��'� ��� '�Q�� �� ���� ��C � 	� �	!��� !�� ������ � ��� �	� I����	��� ����
0�����	?� �))�K?� '�	��2%2� �	 ��	� '�Q�� ��	��� 	�� '�$��	� �	�<�
'� �#�	��
�!	�'�Q�� ��	�!����!�� ��?� �	�� (�	����'�Q���	�!����!�� ��������!	�'������	�$ � ��	�
I� ����'	����'����	�����!��C!���	K�	��!	�'� �#�	��	�������	��	� ���C � ����'��	$$	����

�0��������	��	�	���!	�'� �#�	��� �' ��!��	�!��C��'� ���'�Q����!!	�	����������	������ ��������
'�	CC ' 	��� ���C � � �	� ����	� (�	� � �� 0�� $��=��	� �	� ����!�� ���
	��� ���! (��	� ������$	��� ����� !	�� =-���=#�	� ��� �� ����� !	�� =-���=#�	� 	� �'��� !	��
'� �#�	�� ������ '�!'�!��� � CC��	$$	��� ����� '	�� �	�<� '���� 0�� $��=��	� �	� ����!�� ���
'�$$	�'	�������	��=��	��@��� $ ��� ���(� ��	�����	���	���!�� ����&	'���� �� '	� ��!	&��	��
���'�Q��C� �!	�����������	'�����	$��?�!	��������	������' �	��%�!����!�� ������	��	�������	���	��
%� !@� �	� �	� � $�!�� ���� �C �� �@���	� �� �	��  �C��$�� ���� ����!�$	��� �	�?� ����$$	��� !��
������ ! ����	����! ��� ! ����	�!��������	��0��&�!	��� �����' �	�%�!����!�� ����	����!����
B��	�'�!'�!�	��

��

�

�
Optimization part

1

100%

Simulation partn (ELS iterations) n (replication)

2

�
�

�
(���

�7�7 ���$��+���	
�
+%���������

4.6.3.� Les résultats obtenus avec l'approche ELS 
0	���$��	��	� ���! '�� ������ ! ��	��������&�!�	�� !�� ������	��	��@��	���!�� �������� $�!�� ���
	��� �� 0	�� � $�!�� ���� ����� ���! ��	�� ����� !	� '��� [�����  ����	����'	� 	���	� !	��
��$$	��[��0������!�� ���������	CC	'���	������ !	����� ��=-���=#�	������!����! � (�	��	�"	�� ���
�	��'=��CC	����	��'����	��	���������@�&��'	��0	����!�� �����������	�������!	��=-���=#�	�� �
	�� ������!	��$B$	���� �(�	�!��$��=��	��	�����!�� ����� ! �	�!��$B$	�C��'� ����@�&�!��� ���
	���	�����	�!	��$B$	��&�!	�������'� �#�	��	�������	��	�	�����'�Q����

0	����!�� �������	��	�������'=�(�	� �����'	��&	'�!	��� CC��	��	��=-���=#�	��������	����	���	��
�����!	� ���!	���*���������'=�(�	� �����'	�	�������'=�(�	�=-���=#�	�I ���� �Z� K?� !	�'�Q��

��	� !��$	 !!	��	���!�� ��� ����&�	� �	�� !��'���� �	!�� C� I K����� �����������'�Q���	� !��F:��
����� �� (������� ��!��&�!	������'� �#�	��	�������	��	� �	��!�	�� $�� �������� $�!�� ����	�!��
���! ��� ! ��� ��	� ��&	'� ����! '�� ���� ����� ����	���	��� 0	� �	$��� 	��$ ���	�� �����
���	� �� �	����"�!	$	���C���� ��

1���	��!	����!�� �������	��	�������������	�������=-���=#�	� ��0�����! ��� ! ��������'=�'��	�
	�������� 	��	�%�WW�Wq�������W��	���)� �����'	���	���	������'	������!	��=-���=#�	�� �	�� ?�
!	������!�����������"�!	$	�������� 	����%�!��������	��	����	��	������!	��F:�?��&	'����'� �#�	�
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�	� ������	��	� $�-	�� �	� W��Xq� 	�� ��� 	�� $��	��� �	� !�� ������ ! ��� �@B��	� ���! ���!	� %� W�?*q�
����� �	�� WX?�q� ����� �� ����� !	�� =-���=#�	�� �	�� ?� �	�� ��!�� ���� �	� $� ��� ����	�
(��! ��� ����� ���	��	�� ����� !@ �����'	� ���)� �&	'� ��� �� �!!	� 	��� ����' �	� %� ���
	�� $��	��� �	� ������ ! ��� �@B��	� ���! ���!	� �	� �	�!	$	��� ��?�� q� ����� �	�� W�?�q������ ��
�	' �'���	����������$� ���%���	�"����	��$�! ���� ������� �����������)q�����' �� %� !��F:��
� 	��(�	�'	!�� �	��	�(����2$B$	����	8� C� �!	������ �I�!����@��	�'=��'	�������(�	� !���	� !��
��!�� ����	��� ���������! ���!	�	������ (�	K��

0@��"$	���� ����	�!��������	��	��	�!����!�� ����	�C� ��!�" (�	$	���������� $	������'�Q���0	��
��!�� ���� "�����	�� ���� ��	� ��"$	���� ��� ��� '�Q�� �	� �Xq� 	�� $�-	��	� ���� �������� %� !��
$	 !!	��	� ��!�� ��� '����	� ��� ��76�� ����� !	�� =-���=#�	�� �	�� �	�� �@	�& ���� ��q� �����
!@=-���=#�	� ��0	���	$����	�����!�� ��������!	��$B$	�(�	�'	�<��� ! ����!�����	�!������!�� ���
�����76����

�!�	��� ����	�������	����	��(�	�!	��=-���=#�	�� �	�� ��D�!	�&�= '�!	�	�������� ���%���	���	��	�
!@�&��'	� ���� !	�� ��$$	��� ���� ��� C ��!� �	�� ������ ! ���� �!��� C� �!	�� �@B��	� &�! �	�� (�	� !	��
��!�� �������	��	���&	'�!@=-���=#�	� ���	��	�� CC��	�'	�	���������!	$	�����	���<�'����� ��	��
�	��	$����	����,	���	��'! 	������ �!	�'! 	���	���	$���(����!����L�?��!���� !��� ������ �B��	��������
�!����L����
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��)�� �))�*X� +�+)q� �))�)q� �))�)q� )��+� �)��WX� ��X�q� �))�)q� �))�)q� �))�)q� )��+�
��)�� �)����� ��W�q� �))�)q� �))�)q� ���+� ��*�+W� *�*q� �))�)q� �))�)q� �))�)q� ���+�
��)�� +X��W�� �)�+�q� �))�)q� �))�)q� ���)� �*��+�� �)�W�q� W��Wq� W���q� WW�Wq� ���)�
��)*� �*���+� ���XWq� �))�)q� �))�)q� ����� ��+��+� �����q� WW�+q� WW��q� �))�)q� �����
��)+� �**�W�� �X�X�q� �))�)q� �))�)q� ���)�� ����*+� ���*�q� WX��q� W���q� WW��q� ���)��
��)�� W�W��X� �*���q� �))�)q� �))�)q� ���W�� ��)W�)*� *����q� W*�+q� W���q� WX�Xq� ���W��
��)�� �)���W� +���q� �))�)q� �))�)q� )�*�� ��X�W�� �����q� �))�)q� �))�)q� �))�)q� )�*��
��)X� +����+� ���+Wq� �))�)q� �))�)q� ���X� +W����� ���+q� W+�Wq� W��*q� WW��q� ���X�
��)W� ��*�+�� ����+q� WW��q� �))�)q� ����+� X)���+� �����q� W+�*q� W*�Xq� WW�*q� ����+�
���)� �)*W���� ����Xq� WW�*q� WW�+q� ������ �)X+���� ���*+q� �X��q� ����q� W���q� ������
����� ��X�X�� ���*q� �))�)q� �))�)q� )��X� ����*�� *��*q� �))�)q� �))�)q� �))�)q� )��X�
����� ��)���� +�)�q� �))�)q� �))�)q� ����� ��*��+� W�X*q� �))�)q� �))�)q� �))�)q� �����
����� +����)� X���q� �))�)q� �))�)q� ���)� +**�+*� �����q� �))�)q� �))�)q� �))�)q� ���)�
���*� ��*���� �W�X)q� �))�)q� �))�)q� �)��)� ��)��*� �W��*q� WW�Wq� WW�Wq� �))�)q� �)��)�
���+� ��*�)X� W�X*q� �))�)q� �))�)q� �W�W�� �)���X� �����q� �))�)q� �))�)q� �))�)q� �W�W��
����� XW��X�� ���)�q� �))�)q� �))�)q� ������ XX���X� �)��+q� WW�*q� WW�*q� �))�)q� ������
����� ����X�� ��+)q� �))�)q� �))�)q� )�+X� ����++� W�*q� �))�)q� �))�)q� �))�)q� )�+X�
���X� *W*�+*� ��X�q� �))�)q� �))�)q� *���� +�)�X�� �����q� �))�)q� �))�)q� �))�)q� *����
���W� �WW��)� ���XWq� �))�)q� �))�)q� ���*�� ��X��+� �*�*�q� WX�+q� W��*q� WW��q� ���*��
���)� W�X���� �*�+�q� �))�)q� �))�)q� ���*+� WXW� �+�XXq� W���q� W+�+q� WW�Xq� ���*+�
�2,<
 #?<#A
 #::<:=
 #::<:=
 A<QF
 
 #Q<?:
 AF<Q=
 AB<>=
 AA<F=
 A<QF


#�,�� ���!	���
�	������4��.��	�&�
0�� �	�� #�	� ���� 	� �	� '	� '=�� ��	� '��� ��	� %� $	���	� 	�� �!�'	� ��	� $��=��	� � 2��,	'� C� �	�
����!�� ��� ��� ��76���0	�� �	�<� '� �#�	�� ���� ��� ����� !	��$B$	�� (�	� ���'��	$$	��?� ��
�� !	�
'�Q��	��!��������	��	���!��'���	�����	����	��	'� &	$	���%�!��� ����'	����'����	�����!��C!���	�	��%�
!�������� ! ��� �(�	�!��������	��� �����! ���!	������!@=-���=#�	 ��&	'� �������
!�� ���� 	� ���'��	��	?�  !� �� ���� $������ (�	� (�	!!	� (�	� �� �� !@=-���=#�	� '��� ����	?� '	��	�
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������ ! ��� 	��� � CC ' !	$	��� '�!'�!��!	� ���!-� (�	$	��� 	�� (�@���	� �� ��	� 	�� $�� ��� ����
� $�!�� ���	������� �'�Q�	�<�	���	$����	�'�!'�!���@	�������(�� �!@��� $ ��� ���	������! ��	�	��
�� ! �����!	�'� �#�	 ?�(� �	�����$$�� ������� $�! C 	��!	������� ���������!������ 	�*����$$	�
	<�! (��������!������	���� ����������!#$	?�!	�'� �#�	�|����	����	�!@=-���=#�	�'��� ����	��0	�
'� �#�	�|�'���	������%� ������!@=-���=#�	� ������!	(�	!�!	��&�= '�!	���	��������������� ����
%� ��	���	� �	� !@�&��'	�� ��� |� &���� ?� ����' �� %� !�� C� �� ��<� =-���=#�	�� �	�� ������
!	�(�	!!	��!	�&�= '�!	��	�����	���	��	�!@�&��'	��

0��$��=��	��@��� $ ��� ����� ! ��	�	�������!"�� �=$	�%�����!�� ����0	�����!�����@��	�	<�'�� ���
�	�!��$��=��	�	������C������	����	�������!	���	�<�'� �#�	��I!	�'�Q��	��|K��0@�!"�� �=$	��� ! ���	���
��	�&	�� ���$�� C �	��	���572������� !�(�	!!	� !���=��	��	� �	�����'� ���	��� �	$�!�'�	�����
��	��=��	��	�$���� �����

7�!��C ���	�!��$��=��	?���	�C� ��!	�C������	����	������	��?�!��������	��	��	����!�� �������C�����
	��� &�� C �	� ���� ��	� ����	� �	� � $�!�� ������$$	� 	<�! (��� ����� !	� ����"���=	� ���'��	��?� !��
� $�!�� ����	�$	���@���	� �����	�� $��	��� ��	�!��������	��	?�����' ��%�!@=-���=#�	 �
�&	'� �	���&	'� �� $�!�� ������

4.7.1.� Littérature de l'optimisation multi-objectif 
���'	������!	������!#$	���	�������	���	�&�= '�!	�?�!	��76��	����������!#$	������!	(�	!�!��
(��! ����	��	�& '	�	������'� �#�	� $���������� �(�	�!	���!�$	��������������������������	�!	$	���
�	�� �	�����	�� $� �� 	�� �!��� !	� �!��� ���&	��� !	�� �$	��	���� �	�� �	(�B�	�� �	� ����������� �@	���
����(�� �  !� 	< ��	� (�	!(�	�� ��� '!	�� �	� !�� ! ��������	� (� � ������	��� �	�� ��� $ ��� ���� $�!� 2
��,	'� C���C ���	���	���	�	��'�$��	�%�!��C� ��!	�'�Q��	��!��(��! ����	�!����!�� �����

���� 	<	$�!	?� 	�� �)��?� IH � � 	�� �!�?� �)��K� ������	� ��� �!"�� �=$	� �	� �	'� �� � $�!�� $�!� 2
��,	'� C� I.9�7� 
� .�!� 29�,	'� &	� � $�!��	�� 7��	�! �"K� ���� !	� ����!#$	� ��� �76��� 0	��
'� �#�	�� ���� ��� ����� !	� '�Q�� 	�� !�� (��! ��� �	� �	�& '	?� '�$����	� �	� �	�<� '� �#�	��� �	�� �	�<�
'� �#�	������� 
� !	� �	$����	� ���,	���	��'! 	����	�� !	���$��	��	���$$	���& � �������� !	�&�= '�!	�
�	������!	����,	���@���'! 	�����	��'� �#�	���������� ����������"��"�� ���	���� ! �������	��#"!	��	�
��$ ���'	���

�!�����'	$$	��?�I5�	�� 	���	���!�?��)�*K�������	�����	�$��=��	�� 2��,	'� C������!	��76��(� �
���������,	'� C��@��� $ �	��� $�!����$	���!	��	$����	����,	��$�< $�!�	��!	��	$����@���	��	�����!�
�	�!����!�� ����0	��������'=	��	�'�$���	��	��	�<�����	���0����	$ #�	����	�$ �	����	��	$�!	�
�	� ������	�� ���! ���!	�� �&	'� ��� �!"�� �=$	� "���� (�	�� 0�� �	�< #$	� 	��� ��	� �����'=	� � 2
��,	'� C�(� ���������������!#$	��	����� � ���	$	����&	'���	�$��=��	� 2'����� ��	��

4.7.2.� Choix des critères d'optimisation 
0	���	�<�'� �#�	���������� $ ���������'	��	����� 	������!	�'�Q��	��|��0	���	$ 	��'� �#�	�	������
'� �#�	�(�@ !�C����$ � $ �	��	��!	��	'�������'� �#�	�I'�$�� ��	���	� 	� K�(�@ !�C����$�< $ �	���
0	�C������	����	���'���	���������	������'��� 	����� CC��	$$	����	�'	!� ��� ! ���!	�'=�� ��	���
�����!	�����!#$	����1�G6���0���	����	���� ���"���= (�	����C�����	�����	�'����	�(� �&����	��
����%�"��'=	�&	���!	�=����%���� �	?�'�$$	� !!����������!��C "��	�*�*����!������C������	�������'=	�
�����$$	��(� �'���	������%�!����!�� ����	�'�Q��)�	���	�|���	���!��� !�	���'��� �����'�$$	��	�
����	�(��! �����
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� � � � �
��)�� �W����� �W���*� �W)�)�� �W���W� �W���+� �W)�)��
��)�� �)���X� �)��)�� �)���*� �)*�*�� �)��XX� �)���*�
��)�� +X+���� ++X��*� +���))� ������� ��*��+� +���X��
��)*� �����*� �)���*� +�)��+� �+X��X� ��X�)*� +���*)�
��)+� ��W�*�� ��X��)� ����W�� ��)�))� ��)���� �+)����
��)�� W����W� X�X���� �X+���� ��*+�*�� WWX��*� X+��)��
��)�� �)��*�� �W��+�� �W����� ��)�X)� �)����� �W�����
��)X� +���)�� +���W�� *X��X*� �*��)X� +W+�*�� +*W�X*�
��)W� �����X� ��*�X�� �����*� X*���)� �X����� ��)�)��
���)� �)+����� W++�+*� X+X���� ������X� ��X��XX� �)W���X�
����� ����)�� ��+���� ��*�*�� ����)�� ��+��*� ��*�*��
����� �)+�X�� �))���� �W+���� ��+�**� �)+�++� �W+����
����� +������ *WW��)� *X*�X�� +�+���� +)*�WX� *X*�X��
���*� +���))� ++)���� +�W���� +���W�� ++����� +�)�X)�
���+� ����+�� +W*�W�� +����W� �+*�W�� ������� +����W�
����� X�+��+� �WX���� ��)���� X�*�*�� X)����� ��X��W�
����� ����X*� �++�)�� �*X���� ��+��W� �+���+� �*X����
���X� *������ *�+�+)� *+X���� *W����� *�X�)�� *+X����
���W� �W��+*� �*��+�� +W��*W� �*W��+� �X��X�� ��*�+W�
���)� W����X� X�X�*X� �X+��X� �)�)�+W� W�+��*� X�)�W)�

4.7.3.� La méthode de résolution 

a)� Les algorithmes à population 
0	�� �!"�� �=$	�� %� ����!�� ��� �$�! ��	��� ��''	�� &	$	��� ��� 	��	$�!	� �	� ��!�� �����
������ �	$	�����<�$��=��	�������"��"�� ��?� !���	�$	��	����@���	� �����	�� $��	������C������	�
���	������ $�!�	����	��� (�	�	<�'�� ����

0	���� ����'!����	�'	��-�	��	�$��=��	�������
��

�� !�� ��!	'� ��� �	�� ���	���� �	!��� !�� �#"!	� �� &���	� 
� �!��� !	��  �� & ���� ����� �	� ����	�
(��! ��?��!��� !�������	�'=��'	��@B��	���!	'� ������E�
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0	���76��	����������!#$	���#��'����� ���	����'���������	�����CC ��$$	���	CC '�'	��@�����B��	�
��&	!����� �C �� �@���	� �� �	�� ��!�� ���� &�! �	�� '������ �	�� %� ���� �� �	� �	�<� ��!�� ���� ���	����
�@	��� ����(�� � !	� '=� <� �� ���� C� �� �	� �	$�!�'	�� !�� �=��	� �	� �	�����'� ��� ���� ��	� �=��	� �	�
$���� ���� 0@�!"�� �=$	� �� ! ��� 	��� ����� ���� ��� �!"�� �=$	� �	� �-�	� ��572�� ����� !	(�	!� !��
�=��	� �	� �	�����'� ��� 	��� $�� C �	�� 0	� ��	���2'��	� �	� '	�� �!"�� �=$	� 	��� ����	���� �����
!@�!"�� �=$	�*���!�'��� ��	�%�"����	����	�����!�� ��� � � �!	��	���!�� ���?��&	'� �!	���$��	��	�
��!�� ���� ��� ��	��� ��	��� ��� ����$#��	� �@	����	� �	� !@�!"�� �=$	�� 
�	� C� �� '	��	�  � � �! ��� ���
���! ��	?� !��$��=��	� ���#�	� ��� �� ����	�� ��''	�� &	$	��� ,��(��%� '	� (�	� !	� '� �#�	� �@���B�� �� ��
���	 �����	����� ������	�������
��

�� !@�,���� �	� ���!�� ���� %� !�� ����!�� ��� %� !@� �	� �	� !�� ���'����	 IK?� !	�
��$��	��	���!�� ��������!�%�!��C ���	�'	��	�����	�	������'��	� E�

�� !	��� ��������2��$ ��� ����	�!������!�� ����&	'�!�����'����	� E��
�� !����!	'� ���!	�� $	 !!	��	����!�� �����&	'�!��C��'� �� ���	��

��!�� ����C��$	���!�����&	!!	�����!�� �����
� CC��	����'� �#�	��@���B���	�&	���B��	��� ! ���?�!	���!���� $�!	�������!	���$��	��@ ����� �������!	�
�	$����@	<�'�� ���������!@	<��� $	���� ��?�!	��	$����@	<�'�� ���	����� ! �����

�

Input parameters 
  : nb of solutions in the initial population 

Output parameters 
  : a population of solution 

Begin 
��  
�� repeat  
��  |  
*� |  
+� |  
�� until (!stopping_criterion) 
�� return  
End 

b)� La population initiale 

�	� ����!�� ���  � � �!	� 	��� "�����	� 	�� �� ! ����� !�� C��'� ��� �@ � � �! ��� ��� ����	���	� ����� !	�
'=�� ��	�����	��	�C��'� ���"��#�	��	����!�� ���������!	�����!#$	������76��	���	�<����� 	���

������	�����!	����$$	����@�� " �	��	��'! 	����	�����������"�����?��� ��%�!@� �	��@��	�C��'� ���
�@ ��	�� ��� ����	� �� (�	$	��� ���� !	� '�Q�?� ��	� ��!�� ��� 	��� '������ �	���	� ���'���� 	��� �������
,��(��%�'	�(�	�!	���$��	��	���!�� ���������!������!�� ����� ����CC ������


�� 	<	$�!	� �	� !�� ����!�� ���  � � �!	� 	���  !!������ ���� !�� C "��	� *�*��� �!!	� �	����	��	� ��	�
����!�� ����	��))���!�� �����&	'�	�����"	�!	����!�� �������2��$ ��	���
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c)� Le tri par non domination 
0	��� ��������2��$ ��� ����	�$	���@���	� �����'!���	$	����	����!�� ���������!������!�� �����!�
���� � ���	����	��	$�!	� ��	���!�� ����	���!�� 	����	��	$�!	�� �'�$�������	���!�� �������2
��$ ��	��� 0	� �� �' �	� '��� ��	� %� '�!'�!	�� !	�� ��!�� ���� ���2��$ ��	�� �	� !@	��	$�!	 �� �	��
��!�� ���� ����� �!�'�	�� ���� ��&���� �@B��	� ����� $�	�� �	� �� 0	�� ���&	!!	�� ��!�� ���� ���2
��$ ��	���	� ������	��� �	�'�!'�!�	���� ���!�'�	������ �	������� $�	���	 ���	����'	�����
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d)� Génération de nouvelles solutions 
0��"������ ����	����&	!!	����!�� �����	�'�$���	��	�������	��
��

�� ��	���!�� ����	�!������!�� ��� � � �!	�	�����!	'� ����	?�	!!	��	& 	���!����!�� ���'������	�
E�

�� ��	�$���� ���	������! (��	�%� E�
�� ��	� �	'=	�'=	� !�'�!	� 	��� ���! (��	� %� !�� ��!�� ��� '������	�� 0	�� ��!�� ���� �	�'�����	��

������� '	��	� �=��	�� ����� '��� ����	�� '�$$	� �	�� ��!�� ���� C !!	�?� ����	�� �� 
�	�
���� 	��	�'	����!�� ����	����,����	�%�!������!�� ���	��C��'� ����	�!��&�!	����	��'� �#�	��
	���	�!����� � ����	�!����!�� ��� ������!������!�� �����

0@�!"�� �=$	� +� ��C � �� !�� ���'����	� ��� �!!	� ��	��� 	�� 	����	� ��	� ����!�� ��� �
� �� �(�@�����$��	� ��	���!�� ����%�"����	���

0�� C��'� �� �%� !�� ! "�	� �� ��!	'� ���	� !�� ��!�� ��� � �� ����� !�� ����!�� ���� �	��	�
��!	'� ���	����!���� �	�$� �������� C��$	�	���	�����	��!	����!�� �����0	����!�� �����	����"��!���
�!	&��������	������� ! ����!���"����	��@B��	�'=� � 	���


�	�$���� ���	��� �!���� ���! (��	� !�� ! "�	�*�%�'	��	� ��!�� ��� ������	� !	���	�<�$���� ����
����	��	�������!������!�� ��������76�����'=�� ��	��?� !	�'=� <�������C� ���	��@�� ! �	��(�	�!	�
��	$ 	��$��&	$	���� �!�'��� ��	�%�'=� � ���!���� �	$	������'! 	������$ � ����� !	��'! 	���?�%� !	�
�	� �	���	�!��������	�%�!�(�	!!	� !������� 	��?��&�����	�!	��� ����	���������	�����	�������	?������
�	� ��'�$��	�� ����'�Q��� ��	�!��������	��	��

�	�!��! "�	���%�!��! "�	��+?���	��=��	��	��	'=	�'=	�!�'�!	�	������! (��	�����!����!�� �� ��
0	�� ����$#��	�� �	�� �'���	�����	��� �	��	'� &	$	��� ��� ��$��	� �@ ����� ���� $�< $�!	��
	�� ��� ��$��	� �@ ����� ���� $�< $�!	�� ����� �,���	�� �	� C !��� �!�� ����� ��C � �� '�$$	� �	��
����$#��	��"!����<���

0	��$B$	��$��&	$	����(�	�'	�<��� ! ���������!	���76��������� ! ���������!	���76�?�$� ��
���! 	���	��@ ����	��	���� (�	$	�����<�$��&	$	�����$�! ������!	�'�Q�?�����	���!�� ���(� ��@	���
������$ ��	����� !����!�� ���'������	�	���'��� ����	�'�$$	��$�! �����	�	�����'�"��#�	���	�
���&	!!	���!�� ���C !!	?�(� ��	& 	���!�����&	!!	���!�� ���'������	�%�!@����	��� &���	���
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Algorithme 5�   

Input/output parameters 
   : population of solution  
   :  nb of children needed 

Variable parameters  
  : population of children solutions 
 :  solutions 

Global parameters  
  : max. iterations 
  :  max. iterations without improvement  
Begin 
��  
�� repeat  
�� | := call  ( ) 
*� | := call  ( ) 
+� |  and  
�� | while ((!stopping_criterion) and (i < mi) and (j < miwi)) then 
�� | |  
X� | | := call  ( ) 
W� | | if (criteria are interesting ( )) 
�)� | | | call  ( ) 
��� | | |  
��� | | else 
��� | | |  
�*� | | end if 
�+� | end while 
��� until (!stopping_criterion) and ( )) 
���
�X� return  
End 

�

���$ �'	����!�� ����C !!	�?��	�!	��'	!!	�������!	��'� �#�	�������� 	��	���%�!��8��	��@�''	���� ���
������,����	��%�!������!�� ���C ��!	���	��	�8��	�	�����C � 	������'=�(�	���!�� ��� ?���!!	�	���
���	�$ ��	�	��C��'� ����	��'� �#�	���	�!����!�� ��� �� �� �(�	��	��'� �#�	���	����!�� �����	�
$B$	����"�(� �!�����'��	��	�	��(� �!���� &	��?�'�$$	� !!�����������!��C "��	�*�+)��

��$$	�!	����!�� �����	�!������!�� ���������� �	��!��������� ��������2��$ ��� ���	��(�	�'=�(�	�
���"�	����������?�'	��	�8��	�	������	��	�	�� K����&� ��� � ������� 	���%�!��8��	�	������'�
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4.7.4.� Les résultats 
0	������!�������������	��������!	�� �����'	���������	������I����	�������0�����	?��))�K������
!	�(�	!!	��!	���	$����	����,	���	�������!����������	�����	�$ � ��	���

0	������!�������������	�������#��+�	<�'�� �����0@��� ���	����� ! ���	���!	�$B$	�(�	�'	!� ��� ! ���
�����!	������	��	<�'�� �����0	����'	��	���	���������	!w����	x� �2���)���
�y���*)548��0��
$��=��	�������'���	�	���]]������S ���R�����0	���$��	��	�.C!����	���	�� $��%��+�W�������
�!����	����� !�?� !�	������� �!	��	��	��	����	����<����!	��<��	�!���	�� ����������

���'	������ !	� ����$����"	� �	� !�� $��=��	?� !�� ����!�� ���  � � �!	� 	��� '���� ���	� �	� �))�
��!�� ���� 	�� !�� '�������	� ����' �	� ��� ��$��	� �	� C� �� (�@��	� '!�� �	� =�'=�"	� �	��� B��	�
�	�'�����	�	����	�����

0	� '� �#�	� �@���B�� 	��� !	� �	$��� �@	<�'�� ���� �=�(�	�  �����'	� 	��� 	<�'���	� �	������ ��� �	$���
�(� &�!����%�(�	�'	!� ��� ! ���������������	�!	���76��	�����'� !�	������� � �	�� (�	�����	$���
����� �������	� �	� ��76�� �&	'� !@�����'=	� �0��� 0	�� '� �#�	�� �@���B��� �	� !�� �	'=	�'=	� !�'�!	�
�0�� ����� �� �� ��� ��$��	� �@ ����� ��� ����� 	��� %� �))?� �� �� �)� 	<�'�� ���� ��''	�� &	�� �����
�,���	���	���!�� ����%�!������!�� ����

��$$	�	<�! (������'��	$$	��?��	�<���� $ ��� ����� CC��	��	���������� 	CC	'���	��
�	������
����&	�� !	�� ��!�� ���� !	�� �!��� ������	�� ����� !	�� =-���=#�	�� ����� !	�(�	!!	�� !	�� &�= '�!	�� �	�
�������������� ����%���	���	��	�!@�&��'	�I=-���=#�	� K��
�	�����	������!	��=-���=#�	�� �	��

��0	������!�������������� !!��������!	����!	���*�X������!	���	$ 	��'� �#�	�|�	�������!	����!	���
*�W������!	��	'������

�
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!@ �����'	���� ��	?��� & 	��	�'�!���	���	���� 	��	��*�"����	��
�

�� �'��� 	��� �	��  �C��$�� ���� ���� !	� C����� �	� ���	��� C��$�� ���� !	��
��!�� ����C ��!	���	����"��������!������!�� ���E�

�� �'��� 	��� �	��  �C��$�� ���� ���� !�� ��!�� ��� �	� ���"� �� (� �
$ � $ �	�!	�C�����E

�� �'��� 	����	�� �C��$�� ��������!����!�� ����	����"�
��(� �$�< $ �	�!	�'� �#�	��	�������	��	������!	�C�����E

�� ��	����	��	�!	��	$����@	<�'�� ����	�!��$��=��	��0	��	$���$�< $�!������ ���	���
!	�$B$	�(�	�'	!� ��� ! ���������������	�!	���76���&	'�!��$��=��	�$���'� �#�	���

�

�=�'����	�'	��"����	���	�'�$���	��	��!�� 	����'�!���	���� ����������	�(�	� �	������'� �#�	�
���� �?�!	��'�!���	� ��	����	��	���!	������!�����$�-	�������!	��+�	<�'�� ����	��!	������!����� �
�����!	��&�!	���������!��$	 !!	��	����!�� ������	��	�����!	��+�	<�'�� ������

0	�"����	��	�'�!���	���?���$$��C������	����	��?�'��� 	���!	��'� �#�	���� &�����
� �!	���$��	�
�	���!�� ��������!	�C������	����	���	�� �!��$	���	��	�!@=-�	�&�!�$	�����' ���

0	��"����	���	�'�!���	����	����'��� 	��	���!	��'� �#�	���� &�����
� �!@�'����	���	�!	�'�Q���	�
!����!�� ���'��� ����	������!	�C�����	��!	�'�Q���	�!��F:��I�����!	��&�!	����������	�����	�������
!	� ���!	��� *�+K� E� ��	����	��	� !	� '� �#�	� �	� ������	��	� E� �	��� ��� 	�� $��	��� �	� !��
������	��	� ����� !@=-���=#�	� ����	��	� '�$$	� 	<�! (��� ���'��	$$	��� ���� � $�!�� ���� �!�
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a)� Résultats sous l'hypothèse H1  
0	������!��������	���������!@=-���=#�	� ���������� !!��������!	����!	���*�X���

���'	������ !	�� ����!����� ���� !@=-�	�&�!�$	� ��� C����� �	�� ?�  !�� ����� ����� ���  �� '	� �	�
(��! ��� ����� 	��	� %� )?� (��! ��� ��C � 	� ����� !	� ����"���=	� *������ �	�<� $ �� 	�� "���� ����� !	�
���!	���������	�(��! �����	�� !��@	< ��	������	�C�������	�(��! ����������'	��	�=-���=#�	��

���'	������!����!�� ���(� �$ � $ �	�!	�'�Q���	�!����!�� ��?�!@�'�����&	'�!��F:��	���	��$�-	��	�
�	� +?*�q�� 0	� '� �#�	� �	� ������	��	� 	��� 	�� $�-	��	� �	� *W?)�q?� '	� (� � '���	������ ���#�� !��
�=��	� �	� � $�!�� ��� %� ��	� ������ ! ��� �@B��	� ���! ���!	� �	� *����q�� � ���'� 	�� $�-	��	?� ����
����	�� !	��  �����'	�?� ����� �!��� �@��	� ���! ��� ��� ���� �	�<?� !�� ��!�� ��� �������	� & �!	� ��	�
'����� ��	��.B$	�� �'	��	������� ! ����@	���������#���!	&�	?�!��������	��	����	��	�����!	��F:��
�	� !�� ! ��������	?� �	�����	� ����� !	� ���!	��� *�+?� 	��� �	�!	$	��� �	� �*q� 	�� $�-	��	�� �	� (� �
 �� (�	�(�	�!��$��=��	��@	<�!��	�������!	$	����������	8�!	����!�� ����	<��B$	��	���	�� � "	�
�!��L�� &	��� !	�� ��!�� ���� �	� '�$���$ �� 	���	� !	�� '� �#�	�?� !�� F:�� 	�� !	�� ��!�� ���� ��� C�����
�	������ �'�$�����!	�?�'�$$	� !!�����������!��C "��	�*�+����

���'	������!����!�� ���(� ���!	�'�Q��!	��!���C� �!	����	��������!	��+�	<�'�� ���?�!	� �	����	�
��Wq� 	�� $�-	��	� ���� ����	�� !	��  �����'	�� �&	'� ��	� &�!	��� �	� )q������ ��	� �	�!	�  �����'	?�
��)��(� �	��� ���� � !���!����	� �	������� !	� ���!	��?�  !��	���B��	� �����	������	�'������	��(�	� !	�
'� �#�	��	�������	��	�	��!�������� ! ����@B��	����! ���!	�����' ���%�!����!�� ����	�'�Q��$ � $�!�
����� ����� !	�� �	�<� ����� 	���� %� !	��� &�!	��� $�-	��	� '���	��������	?� �&	'� +����q� '����	�
*W�)�q������|�	��*+��q�'����	�*����q���	������!����� �� (�	���� $�!	$	���(�	�!	����!�� ����
�	�'�Q��$ � $�!��	�'	��� �	��	<�'�� ������$ �	���!	����!�� �����	������	��	<�'�� ������

��C ��'��'	������ !����!�� �������� !	�'� �#�	��	�������	��	�	��� !	��!���  $������������� !	�C�����
C ��!��	�'=�(�	� �����'	?����'������	�(�	�|?�� �� �(�	�!�������� ! ����@B��	����! ���!	?������	��
$�-	��	� ��#�� ���'=	� �	� �))q� �&	'� ��	� &�!	��� $ � $�!	� ����� ���)� �	� W+��q�� �	!�� �	��	�
(����� $B$	� !�"#�	$	���  �C�� 	��� ��<� ��!�� ���� ���	��	�� ���� !�� $��=��	� $���'� �#�	�
�	����	���	������ !	� ���!	���*���(� � 	��� �	��))q��0@�'����$�-	�����	��� 	��� (����� %� !� � � 	��
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b)� Résultats sous les hypothèses H2 et H3  
0	�� ����!����� ���	���� ����� !@=-���=#�	� �	�� ������ ���� !!��� ����� !	� ���!	��� *�W�� ����� '	��
=-���=#�	�?�!	�&�= '�!	��	���"�"�	������	$�������!	�����	���	��������	��	�& '	���@	�������(�� �
����	'����'� �#�	��	� ������	��	� 	����� ! ���� �!� '���	���������'� �#�	 �����	��������� !��
���� 	����'��	��	���

��$$	����'��	$$	��?� ����� !	��  �� '	�� ����C������	����	���������	�(��! ����	����	!��� !��
��C � � ��� �����	� ����� !	� ����"���=	� *����� 	�� ���  �����'	�� ���� ��� �$�-	�� �	� (��! ��� ���
������ �	$	������'��� ?��� �����'	��I��)�?���)�?���)XK�������	�&�!	��� (� �'���	������%�
��	�(��! ����������� !	� ���!	��?� 	!!	�� ����� �	����	���	�������	��&�!	���� 	��"���� ���! "��	�� 	��
'�$$	�	<�! (��?��	��	!!	��&�!	���� $�! (�	���(�	�!	�C�����'�$����	����$� �����	���!�� ���(� �
�����'�Q�� �C�� 	������'�Q���	�!��F:�����(� ������ ������ 	���%�F/��������'	����� �� �����'	��
'@	���!��F/��(� ��������$�! ���	��

���'	������!����!�� ����	�'�Q��$ � $�!������!	��C�����?�!	�"���$�-	����������	��!	�� �����'	��
	��� �	�+�Xq?� '	�(� � 	��� ���	8� �!� "����	� !��F:������� !	�����!#$	�����76�����$$	������
=-���=#�	� ?����'������	�(�	� �� �� �(�	�!�������� ! ����	����! ��� ! ����	����!�� ��������� �
	�� ������ ����� 	���� %� '	!!	� ���	��	� ����� !	�� F:��� ���� 	<	$�!	?� �%� ��	� &�!	���
$�-	��	��	�����q�'����	���)�q������!��F:�?�(� �	����	�����	������!	����!	���*�+��0	�C�����
	��� ���'� ������!	$	��� 	�'��	� ����� ��	� '��C "���� ��� '�$$	� '	!!	�  !!�����	� ����� !�� C "��	�
*�+���

�

���'	������ !	�� ��!�� ���� �	� ������	��	� $�< $�!	?� !	�� ����!����� ���	���� ����� 	�� $�-	��	�
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#�-�� �����

����
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